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B.Com. (CA) DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Commerce with Computer Applications 

CORPORATE ACCOUNTING 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. Define Company. 

 {ÖÁÚzøu Áøμ¯ÖUPÄ®. 

2. What is share? 

 £[S GßÓõÀ GßÚ? 

3. Write short note on ‘Pre incorporation profit’. 

 ‘•ßTmi¯ »õ£®’ SÔzx GÊuÁõ? 

4. What is sales ratio? 

 ÂØ£øÚ ÂQu® GßÓõÀ GßÚ? 

5. What is meant by revenue from profit? 

 »õ£zv¼¸¢x Á¸Áõ´ GßÓõÀ GßÚ? 

6. Give a short note on shareholders’ funds. 

 £[SuõμºPÎß {vPÒ SÔzu ]Ö SÔ¨ø£ öPõk[PÒ. 

Sub. Code 
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7. What is purchase consideration? 

 öPõÒ•uÀ £›^»øÚ GßÓõÀ GßÚ? 

8. What is net payment method? 

 {Pμ Pmhn •øÓ GßÓõÀ GßÚ? 

9. What is unsecured creditors? 

 £õxPõ¨£ØÓ PhÚõÎPÒ GßÓõÀ GßÚ? 

10. Write a note on contributory. 

 £[PÎ¨ø£¨ £ØÔ J¸ SÔ¨ø£ GÊx[PÒ. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Mohith Ltd. which has Rs. 10,00,000 8% debentures 
of Rs. 100 each outstanding on 1.1.96 on which 
interest is payable on 30th June and on  
31st December each year is permitted to purchase its 
own debentures in the open market and cancel them 
or retain them or resell them at its option. The 
company made the following purchase in the open 
market on 1.4.96. 500 Debentures at Rs. 97  
ex-interest. Give journal entries if, (i) Debentures 
were cancelled on the same day; (ii) The debentures 
were retained till 1.7.96 on which date they were 
cancelled. 

  ÷©õîz ¼ªöhm, ¹. 10,00,000 8% PhÜmk¨ 

£zvμ[PÒ JÆöÁõßÖ® ¹. 100 1.1.96 CÀ 

{¾øÁ°À EÒÍÚ, Auß «x 30 B® ÷uv Ámi 

ö\¾zu¨£k®. áüß ©ØÖ® i\®£º 31B® ÷uv 

JÆöÁõ¸ Bsk® vÓ¢u \¢øu°À Auß ö\õ¢u 

Phß £zvμ[PøÍ Áõ[PÄ®, AÁØøÓ μzx 

ö\´¯Ä® AÀ»x uUPøÁUPÄ® AÀ»x Auß 

Â¸¨£¨£i ©ÖÂØ£øÚ ö\´¯Ä® 
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AÝ©vUP¨£kQÓx. {ÖÁÚ® 1.4.96 AßÖ vÓ¢u 

\¢øu°À ¤ßÁ¸® öPõÒ•uÀ ö\´ux. ¹. 97 

•ßÚõÒ Ámi°À 500 Phß £zvμ[PÒ. (i) Phß 

£zvμ[PÒ A÷u |õÎÀ μzx ö\´¯¨£mi¸¢uõÀ, 

£zv›øP EÒÏkPøÍU öPõk[PÒ; (ii) Phß 

£zvμ[PÒ μzx ö\´¯¨£mh ÷uv 1.7.96 Áøμ 

uUPøÁUP¨£mhx. 

Or 

 (b) The following underwriting took place: 

  A – 5,000 shares; B – 3,000 shares; C – 2,000 

shares. In addition there was firm under writing :  

A – 1,000 shares; B – 500 shares; C –1,500 shares; 

The shares issue was for 10,000 shares. Total 

subscription including firm underwriting was 8,500 

shares and the forms included the following marked 

forms : A – 2,000 shares; B – 1,000 shares; C – 1,000 

shares. Show the allocation of liability of the 

underwriters. 

¤ßÁ¸® GÊzxÖv |h¢ux :  

  A – 5,000 £[SPÒ; B – 3,000 £[SPÒ;  

C – 2,000 £[SPÒ. Tku»õP GÊu¨£mh {ÖÁÚ® 

C¸¢ux : A – 1,000 £[SPÒ; B – 500 £[SPÒ;  

C – 1,500 £[SPÒ. £[S öÁÎ±k  10,000 

£[SSPÐUS C¸¢ux. {ÖÁÚzvß Ashºøμmi[ 

Em£h ö©õzu \¢uõ  8,500 £[SPÒ ©ØÖ® 

£iÁ[PÎÀ ¤ßÁ¸® SÔUP¨£mh £iÁ[PÒ 

Ah[S® :  A – 2,000 £[SPÒ; B – 1,000 £[SPÒ;  

C – 1,000 £[SPÒ. J¨£¢uuõμºPÎß ö£õÖ¨¦ 

JxURmøhU Põmk. 
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12. (a) From the following particulars, ascertain profit 
prior to and after the incorporation.  

  (i)  Time ratio – 3 : 5;  

  (ii)  Sales Ratio – 4 : 6;  

  (iii)  Gross Profit – Rs. 10,00,000;  

  (iv)  Expenses debited to Profit and Loss A/c were: 
Salaries – Rs. 96,000; General expense –  
Rs. 12,000; Discount on sales – Rs. 40,000; 
Advertisement – Rs. 50,000; Preliminary 
expenses – Rs. 70,000; Rent and Rates – 
Rs. 15,000; Printing and stationery –  
Rs. 65,000;  

  (v)  Incomes credited to Profit and Loss account 
were: Rent received – Rs. 18,000; Interest 
received – Rs. 50,000. 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, {ÖÁÚzvØS •ßÝ® 
¤ßÝ® »õ£zøuU PshÔ¯Ä® : 

  (i)  ÷|μ ÂQu® – 3 : 5;  

  (ii)  ÂØ£øÚ ÂQu® – 4 : 6;  

  (iii)  ö©õzu »õ£® – ¹. 10,00,000;  

  (iv)  »õ£® ©ØÖ® CÇ¨¦ A/c US £ØÖ øÁUP¨£k® 
ö\»ÄPÒ :  

   \®£Í® – ¹. 96,000; ö£õx ö\»Ä –  
¹.  12,000; ÂØ£øÚ°À uÒÐ£i – ¹. 40,000; 
ÂÍ®£μ® – ¹. 50,000; Bμ®£ ö\»ÄPÒ –  
¹. 70,000; ÁõhøP ©ØÖ® Âø»PÒ – 
¹. 15,000; Aa]kuÀ ©ØÖ® GÊxö£õ¸Ò –  
¹. 65,000;  

  (v)  Á¸©õÚ® »õ£® ©ØÖ® CÇ¨¦U PnUQÀ ÁμÄ 
øÁUP¨£mhx : ÁõhøP ö£Ó¨£mhx –  
¹. 18,000; Ámi ö£Ó¨£mhx – ¹. 50,000. 

Or 
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 (b) Explain in what way acquisition of business differs 
from amalgamation of companies. 

  ÁÍ[PÎß J¸[Qøn¨¤À C¸¢x ÁoPzøu 
øP¯P¨£kzxÁx G¢u ÁøP°À ÷ÁÖ£kÁx 
Gß£øu ÂÍUSP. 

13. (a) You are given the following information from the 
books of Siraj Co. Ltd., as on 31st March 2015.  

Trial Balance Siraj Co. Ltd as on 31st March, 2015 
Particulars  Rs. Particulars Rs. 

Depreciation on premises 8,000 Sales 12,40,000

Materials consumed 8,00,000 Equity Share Capital 8,00,000

Opening Stock 40,000 Outstanding wages 6,000

Salaries 1,14,000  

Bad debts 3,800  

Bonus to employees 20,000  

Interest on loan 16,000  

Dep.on. machinery 18,000  

Conveyance 4,000  

Insurance 16,200  

Loss on sale of   

machinery 20,000  

Sales return 40,000  

Provision on tax 60,000  

Machinery 6,00,000  

P.F Contribution 86,000  

Premises 1,60,000  

Computer 40,000  

 20,46,000  20,46,000

  Additional information: 

  Closing stock was valued at Rs. 1,20,000. 
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  31 ©õºa 2015 Cß £i, ]μõä ÷Põ. ¼ªöhm 
¦zuP[PÎ¼¸¢x ¤ßÁ¸® uPÁÀPÒ E[PÐUS 
ÁÇ[P¨£mkÒÍÚ. 

møμ¯À ÷£»ßì ]μõä ÷Põ. ¼ªöhm ©õºa 31, 2015 AßÖ 
ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

ÁÍõPzvÀ ÷u´©õÚ® 8,000 ÂØ£øÚ 12,40,000
EmöPõsh ö£õ¸mPÒ 8,00,000 \uõμn £[S 

öuõhUP \μUQ¸¨¦ 40,000 ‰»uÚ® 8,00,000
\®£Í® 1,14,000 öPõkUP¨£h 

Áõμõ Phß 3,800 ÷Ási¯ T¼ 6,000
FÈ¯ºPÐUS uμS 20,000  
PhÝUPõÚ Ámi 16,000  
C¯¢vμ[PÒ ÷u´©õÚ® 18,000  
÷£õUSÁμzx 4,000  
Põ¨¥k  16,200  
C¯¢vμ[PÒ ÂØ£øÚ°À  
|èh® 20,000  
ÂØ£øÚ v¸®¦® 40,000  
Á› «uõÚ JxURk 60,000  
C¯¢vμ[PÒ 6,00,000  

P.F £[PÎ¨¦ 86,000  

ÁÍõP® 1,60,000  
PoÛ 40,000  

 20,46,000  20,46,000

  TkuÀ uPÁÀ : 

  CÖva \μUQ¸¨¦ ©v¨¦ ¹. 1,20,000. 

Or 
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 (b) Explain the accounting treatment of interim 
dividend and final dividend. 

  CøhUPõ» DÄzöuõøP ©ØÖ® CÖv DÄzöuõøP°ß 
PnUQ¯À ÂÁμ[PÒ ÂÍUPÄ®. 

14. (a) A Ltd passed resolution and got Court permission 
for the reduction of its share capital by Rs. 5,00,000 
for the purposes mentioned as under: 

  (i)  To write off the debit balance of profit and loss 
a/c of Rs. 2,10,000 

  (ii)  To reduce the value of investments by  
   Rs. 80,000 

  (iii)  To reduce the value of plant by Rs. 90,000 and 
goodwill by Rs. 40,000 

   The reduction was made by converting 50,000 
preference shares of Rs. 20 each fully paid to 
the same no. of preference shares of Rs. 15 
each fully paid and by converting 50,000 
equity shares of 10 each fully paid up to  
Rs. 6.60 each. Pass journal entries. 

  J¸ ¼ªöhm wº©õÚ® {øÓ÷ÁØÔ¯x ©ØÖ® Auß 
£[S ‰»uÚzøu SøÓUP }v©ßÓ AÝ©v  
ö£ØÓx. ¹. 5,00,000. R÷Ç SÔ¨¤h¨£mkÒÍ 
÷|õUP[PÐUPõP :  

  (i)  »õ£® ©ØÖ® |èhzvß £ØÖ C¸¨ø£ 
uÒÐ£i ö\´¯ ¹. 2,10,000 

  (ii)  •u½kPÎß ©v¨ø£ ¹. 80,000 

  (iii)  Bø»°ß ©v¨ø£ ¹. 90,000 ©ØÖ® |Øö£¯º 
‰»® ¹.  40,000.  

   ¹. 50,000 •ßÝ›ø©¨ £[SPøÍ ©õØÖÁuß 
‰»® C¢u SøÓ¨¦ ö\´¯¨£mhx. ¹. 20 
JÆöÁõßÖ® A÷u GsqUS •Êø©¯õP 
ö\¾zu¨£mhx. Â¸¨£©õÚ £[SPÒ ¹. 
JÆöÁõßÖ® •Êø©¯õP ö\¾zu¨£mh ¹. 15 
©ØÖ® 50,000 DUÂmi £[SPøÍ ©õØÖÁuß 
‰»® JÆöÁõßÖ® ¹. u»õ 6.60. £zv›øP 
EÒÏkPøÍ AÝ¨£Ä®. 

Or 
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 (b) Explain different kinds of alteration of share 
capital. 

  £[S ‰»uÚzvß £À÷ÁÖ ÁøP¯õÚ ©õØÓ[PøÍ 

ÂÍUSP. 

15.  (a) A liquidator is entitled to receive remuneration  

@ 2% of the assets realized and 3% on the amount 

distributed among the unsecured creditors. The 

assets realised Rs. 70,00,000 against which payment 

was made as follows: Liquidation expenses Rs. 

50,000. Preferential creditors Rs. 1,50,000 and 

Secured creditors Rs. 40,00,000; Unsecured 

creditors: Rs. 30,00,000. Calculate the total 

remuneration payable to the liquidator. 

  J¸ Pø»¨£õÍº ö£Ó¨£mh ö\õzxPÎÀ @ 2% 
Fv¯® ö£Ó E›ø© Esk ©ØÖ® £õxPõ¨£ØÓ 

PhÚõÍºPÎøh÷¯ Â{÷¯õQUP¨£mh öuõøP°À 

3%. ö\õzxUPÒ ¹. 70,00,000 AuØS GvμõP 

¤ßÁ¸©õÖ ö\¾zu¨£mhx : Pø»¨¦ ö\»ÄPÒ  

¹. 50,000. •ßÝ›ø© Phß ÁÇ[S£ÁºPÒ  

¹. 1,50,000 ©ØÖ® £õxPõ¨£õÚ PhÚõÍºPÒ  

¹. 40,00,000; £õxPõ¨£ØÓ PhÚõÎPÒ :  

¹.  30,00,000. Pø»¨£õÍ¸US ö\¾zu ÷Ási¯ 

ö©õzu Fv¯zøuU PnUQk[PÒ. 

Or 

 (b) Distinguish between statement of affairs and 

balance sheet. 

  {ø» ÂÍUP AÔUøP ©ØÖ® C¸¨¦{ø» 

BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 1st April 1989,ABC Ltd. issued 1,00,000 equity shares 
of Rs. 10 each at Rs. 12 per share payable as to Rs. 5 on 
application, Rs. 4 on allotment and the balance on 1st July 
1989. The lists closed on 12th April 1989 by which data 
application for 1,40,000 shares had been received. Of the 
cash received, Rs. 80,000 was returned and Rs. 1,20,000 
was applied to the amount due on allotment, the balance 
of which was paid on 19th April 1989. All shareholders 
paid the call due on 1st July 1989 with the exception of 
one allottee for 1,000 shares. Theses share were forfeited 
on 30th Nov 1989 and reissued as fully paid at Rs. 8 per 
share on 2nd January 1990. Pass journal entries in the 
books of ABC Ltd. 

 H¨μÀ 1, 1989 AßÖ, H¤] ¼ªöhm 1,00,000 DUÂmi 

£[SPøÍ ¹. 10 Ãu® JÆöÁõμ £[QØS® ¹. 12 Ãu® 

Âsn¨£zvß «x ¹. 5, JxURmiÀ ¹. 4 ©ØÖ® 1 áüø» 

1989 AßÖ «vø¯ öÁÎ°mhx. 1,40,000 £[SPÐUPõÚ 

uμÄ Âsn¨£® ö£Ó¨£mh £mi¯ÀPÒ H¨μÀ 12, 1989 

AßÖ ‰h¨£mhÚ ö£Ó¨£mh £nzvÀ, ¹. 80,000 v¸¨¤ 

AÎUP¨£mhx ©ØÖ® JxUP¨£mh öuõøPUS ¹. 1,20,000 

ö\¾zu¨£mhx, «u•ÒÍ öuõøP H¨μÀ 19, 1989 AßÖ 

ö\¾zu¨£mhx. AøÚzx £[SuõμºPÐ® 1 áüø»  1989 

AßÖ AøÇ¨ø£ ö\¾zvÚº. 1,000 £[SPÐUS 

JxUP¨£mh J¸Áøμ uÂμ. C¢u £[S 30 |Á®£º 1989 

AßÖ £Ô•uÀ ö\´¯¨£mk, 2 áÚÁ› 1990 AßÖ J¸ 

£[SUS ¹. 8 GÚ •Êø©¯õP ö\¾zu¨£mhx. H¤] 
¼ªöhm ¦zuP[PÎÀ SÔ¨÷£k EÒÏkPÒ. 
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17. Amal Ltd. acquired the business of Macmillan agencies, 
whose debtors and creditors were taken over by the 
company for collection and payment for a commission of 
10% on all amount collected and 2% on amount paid. The 
debtors amounted to Rs. 90,000 and creditors Rs. 44,000. 
There was a contingent liability of Rs. 12,000. The 
company collected one-third of debtors in full, 50% of 
debtors at 4% discount. 2/3rd of the balance at 6% discount 
and the remaining proved bad. A debt of  
Rs. 6,000 written off by the vendor in the past was 
collected at 80% but court expenses for that amounted to 
Rs. 1,200 of which Rs. 400 only could be recovered from 
the debtor. Rs. 4,000 of creditors were paid in full and the 
balance was paid at 97%. The contingent liability came 
up for payment at Rs. 8,000.The Company settled its 
account with the vendor in cash. Pass journal entries in 
the books of Amal Ltd. 

 Amal Ltd. Macmillan Höáß]PÎß ÁoPzøu 
øP¯P¨£kzv¯x, Auß PhÚõÎPÒ ©ØÖ® PhÚõÎPÒ 
{ÖÁÚzuõÀ Á`¼UP¨£mhx ©ØÖ® Á`¼UP¨£mh 

AøÚzxz öuõøP°¾® 10% ©ØÖ® ö\¾zu¨£mh 

öuõøP°À 2% PªåÚõP ö\¾zu¨£mhx. PhÚõÎPÒ ¹. 

90,000 ©ØÖ® PhÚõÎPÒ ¹. 44,000. uØö\¯»õÚ 

ö£õÖ¨¦ ¹. 12,000. {ÖÁÚ® PhÚõÎPÒ ‰ßÔÀ J¸ 

£[øP •Êø©¯õP Á`¼zux, 50% PhÚõÎPÒ 4% 
uÒÐ£i°À. «v°À 2/3 £[S 6% uÒÐ£i ©ØÖ® 
«u•ÒÍøÁ ÷©õ\©õP C¸¢ux. Phß Ph¢u Põ»zvÀ 

ÂØ£øÚ¯õÍμõÀ uÒÐ£i ö\´¯¨£mh 6,000 ¹£õ´ 80% 
Á`¼UP¨£mhx, BÚõÀ AuØPõÚ }v©ßÓ ö\»ÄPÒ ¹. 

1,200 CvÀ ¹. 400 ©mk÷© PhÚõÎ°h® C¸¢x 

Á`¼UP •i²®. ¹. 4,000 PhÚõÍºPÐUS •Êø©¯õP 

ö\¾zu¨£mhx ©ØÖ® «v 97% ö\¾zu¨£mhx. 

uØö\¯»õÚ ö£õÖ¨¦ ¹. 8,000. {ÖÁÚ® uÚx PnUøP 
ÂØ£øÚ¯õÍ›h® £n©õP wºzux. A©À ¼ªöhm 
¦zuP[PÎÀ £õì SÔ¨÷£k EÒÏkPÒ.  
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18. From the following ledger balances of Varun Ltd., prepare 

the balance sheet of the company as on  

31st March 2016 as per Schedule III of the Companies 

Act. 

 Rs.  Rs. 

Plant & machinery 6,00,000 Immovable property 10,00,000

8% Debenture 8,00,000 Public deposit 5,00,000

Employee’s provident Provision for taxation 1,80,000

Fund 1,30,000 Drafts on hand 5,00,000

Securities premium 80,000 Bills Receivable 2,40,000

Cash at bank 34,000 Brokerage on issue of

Prepaid insurance 1,00,000 shares 1,10,000

Sundry Creditors 1,16,000 Bank overdraft 1,50,000

Loan to Manager 70,000 Security Deposit 1,24,000

Deposits with ICICI Trade marks 1,80,000

Bank (5 years) 1,98,000  

 24,000 fully paid Equity shares of Rs. 100 each Rs. 50 

called up 12,00,000 

 Á¸s ¼ªöhmiß ¤ßÁ¸® ö»máº {¾øÁPÎÀ 

C¸¢x, {ÖÁÚ[PÒ \mhzvß AmhÁøn III Cß £i 31 

©õºa 2016 AßÖ {ÖÁÚzvß C¸¨¦{ø»U SÔ¨ø£z 

u¯õ›UPÄ®. 

 ¹.  ¹. 

Bø» ©ØÖ® C¯¢vμ[PÒ 6,00,000 Aø\¯õ ö\õzx 10,00,000

8% Phß £zvμ® 8,00,000 ö£õx øÁ¨¦ 5,00,000

£o¯õÍº Á¸[Põ»  Á›Âv¨¦UPõÚ HØ£õk 1,80,000
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 ¹.  ¹. 

øÁ¨¦{v 1,30,000 øP°À ÁøμÄPÒ 5,00,000

£zvμ[PÎß ¤Ÿª¯® 80,000 ¤ÀPÒ ö£ÓzuUPøÁ 2,40,000

Á[Q°À £n® 34,000 £[SPøÍ öÁÎ°kÁvÀ 

¨Ÿö£´k Põ¨¥k 1,00,000 uμS 1,10,000

\sm› Qöμimhºì 1,16,000 Á[Q KÁº iμõL¨m 1,50,000

÷©»õÍ¸US Phß  70,000 £õxPõ¨¦ øÁ¨¦ 1,24,000

I]I]I Á[Q°À ÁºzuP •zvøμPÒ 1,80,000

øÁ¨¦zöuõøP (5 BskPÒ) 1,98,000  

 24,000 •Êø©¯õP ö\¾zu¨£mh DUÂmi £[SPÒ  

¹. 100 JÆöÁõßÖ® ¹. 50 AøÇUP¨£mhx ¹. 12,00,000. 

19. X ltd and Y ltd are two companies carrying on business in 
the same line of activity. Their Balance Sheets as on 
31.12.1995 are given : 

 X Ltd Y Ltd  X Ltd Y Ltd 

Fully paid  
up equity shares of 
Rs. 10 each 6,00,000 2,00,000

Land and 
Buildings 

1,00,000 –

General Reserve 4,00,000 2,00,000 Plant and 
Machinery 

7,00,000 3,00,000

Secured Loan 6,00,000 1,00,000 Investment 1,00,000 –

Current  6,00,000 4,00,000 Stocks 9,00,000 4,00,000

Liabilities Debtor’s 3,00,000 1,00,000

 Cash at bank 1,00,000 1,00,000

 22,00,000 9,00,000  22,00,000 9,00,000

 The two companies decide to amalgamate in the nature of 
purchase into XY Ltd. The foilowing further 

 information is given: 

 (a)  X Ltd. Holds 8,000 shares in Y Ltd. @ Rs. 12.50 
each. 

 (b)  All assets and liabilities of the two companies, 
except investments are taken over by XY Ltd. 
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 (c)  Each share in Y Ltd is valued @ Rs. 25 for the 
purpose of the amalgamation. 

 (d)  Shareholders X Ltd and Y Ltd are paid off by 

issuing to them sufficient number of equity shares 

of Rs.10 each in XY Ltd as fully paid up at par. 

 (e)  Each share in X Ltd is valued @ Rs. 15 for the 

purpose of the amalgamation. Show journal entries 

to close the books of both the companies. 

 X ¼ªöhm ©ØÖ® Y ¼ªöhm BQ¯ Cμsk {ÖÁÚ[PÒ 

J÷μ ©õv›¯õÚ ö\¯À£õmiÀ ÁoPzøu 

÷©ØöPõÒQßÓÚ. 31.12.1995 CÀ EÒÍ AÁºPÎß 

C¸¨¦{ø»U SÔ¨¦PÒ öPõkUP¨£mkÒÍÚ : 
 X 

¼ªöhm
Y 

¼ªöhm
 X 

¼ªöhm
Y 

¼ªöhm

•Êø©¯õP 

ö\¾zu¨£mh  

{»® ©ØÖ® 

Pmih[PÒ 
1,00,000 –

DUÂmi £[SPÒ  

JÆöÁõßÖ® ¹. 10 6,00,000 2,00,000

Bø» ©ØÖ® 

C¯¢vμ[PÒ 
7,00,000 3,00,000

ö£õx C¸¨¦ 4,00,000 2,00,000 •u½kPÒ 1,00,000 –

£õxPõ¨£õÚ Phß 6,00,000 1,00,000 £[S 9,00,000 4,00,000

uØ÷£õøu¯ PhÚõÎPÒ 3,00,000 1,00,000

ö£õÖ¨¦PÒ 6,00,000 4,00,000 Á[Q 1,00,000 1,00,000

 22,00,000 9,00,000  22,00,000 9,00,000

 Cμsk {ÖÁÚ[PÐ® XY Ltd CÀ Áõ[S® ußø©°À 

JßÔønUP •iÄ ö\´QßÓÚ. 

 (A)  X Ltd. Y Ltd. CÀ 8,000  £[SPøÍ øÁzxÒÍx  @ 

¹. JÆöÁõßÖ® 12.50. 

 (B)  •u½kPøÍz uÂμ C¸ {ÖÁÚ[PÎß AøÚzx 

ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PÒ XY LtdBÀ 

GkUP¨£kQßÓÚ. 
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 (C)  Y Ltd Cß JÆöÁõ¸ £[Qß ©v¨¦ ¹. 25 P»Â°ß 

÷|õUPzvØPõP. 

 (D)  £[SuõμºPÒ X Ltd ©ØÖ® Y Ltd ¹. ÷£õx©õÚ 
AÍÄ DUÂmi £[SPøÍ AÁºPÐUS ÁÇ[SÁuß 
‰»® ö\¾zu¨£kQÓx. XY Ltd À u»õ 10 ¹£õ´ 
•Êø©¯õP \© AÍÂÀ ö\¾zu¨£mhx. 

 (E)  X LtdCß JÆöÁõ¸ £[Qß ©v¨¦ @ ¹. 15 
P»Â°ß ÷|õUPzvØPõP. 

C¸ {ÖÁÚ[PÎß ¦zuP[PøÍ²® ‰kÁuØS 
áºÚÀ EÒÏkPøÍU Põmk. 

20. Elaborate the various methods of winding up a company.  

 J¸ {ÖÁÚzøu Pø»¨¦UPõÚ £À÷ÁÖ •øÓPøÍ 
ÂÁ›UPÄ®. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is E-commerce? 

 ªßÚq ÁoP® GßÚ? 

2. What is information superhighway? 

 uPÁÀ Av÷ÁP ö|kg\õø» GßÓõÀ GßÚ? 

3. What is secure messaging? 

 £õxPõ¨£õÚ ö\´v°hÀ GßÚ? 

4. Short notes on Hyper Text. 

 øí£ºöhUìm SÔ¨¦ u¸P. 

5. Define EDI. 

 EDI Áøμ¯Ö. 

6. What is a Digital signature? 

 iâmhÀ øPö¯õ¨£® GßÚ? 
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7. What is Internet? 

 Cøn¯® GßÓõÀ GßÚ? 

8. Short notes on Hardware. 

 Áßö£õ¸Ò SÔ¨¦ u¸P. 

9. What is E-mail? 

 C&ö©°À GßÓõÀ GßÚ? 

10. Give notes on search Engine. 

 ÷uk ö£õÔø¯ £ØÔ SÔ¨¦ GÊx. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) State the advantages of E-commerce. 

  ªßÚq ÁoPzvß |ßø©PÒ {ø» £ØÔ GÊx. 

Or 

 (b) What are the various components of I-way? 

  I ÁÈ°ß £À÷ÁÖ TÖPÒ £ØÔ GÊx. 

12. (a) What are the various types of electronic payment 
system? 

  öÁÆ÷ÁÖ ÁøP¯õÚ ªßÚq Pmhn •øÓ £ØÔ 
GÊx. 

Or 

 (b) Explain the consumer oriented applications of  
E-commerce. 

  ªßÚq ÁoPzvÀ ~Pº÷Áõº \õº¢u £¯ß£õkPÒ 
£ØÔ ÂÁ›. 



S–7069 

  

   3

13. (a) Explain the uses of EDI. 

  EDI ß £¯ß£õkPÒ ÂÁ›. 

Or 

 (b) What are the advantages of a data warehouse? 

  uμÄU Qh[Qß |ßø©PÒ GßÚ? 

14. (a) State the functions of Telephone companies. 

  öuõø»÷£] {ÖÁÚ[PÎß ö\¯À£õkPÒ GßÚ? 

Or 

 (b) Explain the Internet service provider. 

  Cøn¯ ÷\øÁ ÁÇ[S|ºPÎß {ø»ø¯ ÂÁ›. 

15.  (a) Write the meaning of WWW, FTP, Telnet, News, 
URL. 

  WWW, FTP, Telnet, News, URL £ØÔ SÔ¨¦ GÊx. 

Or 

 (b) How to adding website to favorites? 

  ¤izuÁØÔÀ Cøn¯uÍzøua ÷\º¨£x G¨£i? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the Anatomy of E-commerce Applications. 

 ªß ÁoP £¯ß£õkPÎß EhØTÔ¯À £ØÔ ÂÁ›. 

17. Explain the architectural frame work of electronic 
commerce. 

 ªß ÁoPzvß PmhhUPø» Pmhø©¨¦ £ØÔ ÂÁ›. 

18. Explain the EDI applications in business. 

 ÁoPzvÀ EDI £¯ß£õkPÒ £ØÔ ÂÁ›. 
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19. Explain the Internet applications. 

 Cøn¯ £¯ß£õkPÒ £ØÔ ÂÁ›. 

20. Describe the concept of web pages protocol? 

 Áø»¨£UP ö|Ô•øÓ°ß P¸zx ÂÁ›. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How do you create a ledger in Tally?  

 Tally °À ÷£÷μk G¨£i E¸ÁõUSÁx? 

2. What is Double Entry Accounting? 

 Cμmøh¨£vÂ¯À •øÓ PnUQ¯À GßÓõÀ GßÚ? 

3. How do you create groups using the single mode in Tally? 

 Tally°À JØøÓ¨ £¯ß•øÓø¯¨ £¯ß£kzv SÊUPøÍ 
GÆÁõÖ E¸ÁõUSÁx? 

4. What  is the purpose of the ‘Restart Numbering’ option in 
Tally? 

 Tally °À ‘©ÖöuõhUP® GsquÀ’ Â¸¨£zvß ÷|õUP® 
GßÚ? 

5. What are inventory allocations in Tally? 

 Tally°À C¸¨¦ JxURk GßÚ? 

Sub. Code 
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6. How do you enter a purchase order voucher in Tally? 

 Tally°À öPõÒ•uÀ Bºhº ÁÄa\øμ GÆÁõÖ 
EÒÎkÁx? 

7. How can you view the Trial Balance in Tally? 

 Tally°À ÷\õuøÚ C¸¨ø£ G¨£i¨ £õºUP»õ®? 

8. What is the role of Multi Accounting Printing in Tally? 

 Tally°À ©Ài AUPÄsm ¤›si[Qß £[S GßÚ? 

9. How do you import and export data in Tally? 

 Tally°À uμøÁ GÆÁõÖ CÓUS©v ö\´Áx ©ØÖ® 
HØÖ©v ö\´Áx? 

10. What are the types of security in Tally? 

 Tally°À EÒÍ £õxPõ¨¦ ÁøPPÒ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Examine the concept of predefined groups of 
accounts in Tally. 

  Tally CÀ PnUSPÎß •ß Áøμ¯ÖUP¨£mh 
SÊUPÎß P¸zøu Bμõ¯Ä®.   

Or 

 (b) Describe the process of ledger creation in Tally. 

  Tally CÀ ÷£÷μk E¸ÁõUS® ö\¯À•øÓø¯ ÂÁ›.  

12. (a) Explain the process of creating multiple stock 
groups in Tally.   

  Tally CÀ £» \μUS SÊUPøÍ E¸ÁõUS® 
ö\¯À•øÓø¯ ÂÍUSP. 

Or 
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 (b) What are the configuration settings for inventory 
costing methods like FIFO and LIFO in Tally? 

  Tally CÀ FIFO ©ØÖ® LIFO ÷£õßÓ \μUS ö\»Ä 
•øÓPÐUPõÚ EÒÍø©Ä Aø©¨¦PÒ GßÚ? 

13. (a) Explain the different types of vouchers available in 
Tally. 

  Tally°À QøhUS® £À÷ÁÖ ÁøP¯õÚ ÁÄa\ºPøÍ 
ÂÍUSP. 

Or 

 (b) What information is displayed in the Profit and Loss 
Account in Tally? 

  Tally CÀ EÒÍ »õ£® ©ØÖ® |mhU PnUQÀ GßÚ 
uPÁÀPÒ Põmh¨£k®? 

14. (a) Analyze the different accounting books and 
statements available in Tally and their role in 
financial record-keeping. 

  Tally °À QøhUS® £À÷ÁÖ PnUS¨ ¦zuP[PÒ 
©ØÖ® AÔUøPPÒ ©ØÖ® {v¨ £v÷ÁmiÀ 
AÁØÔß £[S BQ¯ÁØøÓ £S¨£õ´Ä ö\´¯Ä®.  

Or 

 (b) Discuss the various display options available in the 
Gateway of Tally and their significance in managing 
financial data. 

  ÷Pm÷Á BL¨ ÷h¼°À QøhUS® £À÷ÁÖ Põm] 
Â¸¨£[PÒ ©ØÖ® {vz uμøÁ {ºÁQ¨£vÀ 
AÁØÔß •UQ¯zxÁzøu¨ £ØÔ ÂÁõv.  

15. (a) What is a Webpage URL, and how is it relevant to 
Tally? 

  Áø»¨£UP URL GßÓõÀ GßÚ, Ax TallyUS 
GÆÁõÖ ö£õ¸zu©õÚx? 

Or 

 (b) How is E-mail integrated with Tally? 

  Tally Ehß ªßÚg\À GÆÁõÖ 
J¸[QønUP¨£kQÓx? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the accounting and inventory control features of 
Tally. 

 Tally Cß PnUQ¯À ©ØÖ® \μUS Pmk¨£õmk 
A®\[PøÍ ÂÁ›.  

17. Explain the functions and significance of the Gateway of 
Tally in managing accounting and inventory information. 

 ÷©»õsø© PnUQ¯À ©ØÖ® \μUS uPÁÀPÎÀ ÷Pm÷Á 
BL¨ ÷h¼°ß ö\¯À£õkPÒ ©ØÖ® •UQ¯zxÁzøu 
ÂÍUSP. 

18. Discuss the role of the Gateway of Tally in facilitating 
efficient business management. 

 vÓø©¯õÚ ÁoP {ºÁõPzøu GÎuõUSÁvÀ ÷Pm÷Á 
BL¨ ÷h¼°ß £[øP¨ £ØÔ ÂÁõvUP.  

19. Describe the Cash Flow and Funds Flow statements in 
Tally and their significance for business financial 
analysis. 

 £n¨¦ÇUP® ©ØÖ® {v¨ £õ´Ä AÔUøPPÒ ©ØÖ® 
ÁoP {v¨ £S¨£õ´ÂØPõÚ AÁØÔß •UQ¯zxÁzøu 
ÂÁ›.  

20. Explain the significance of email, ASCII, HTML, XML, 
and internet publishing features in Tally. How do these 
formats contribute to data management and 
communication? 

 ªßÚg\À, ASCII, HTML, XML ©ØÖ® Cøn¯ 
öÁÎ±mk A®\[PÎß •UQ¯zxÁzøu Tally CÀ 
ÂÍUPÄ®. uμÄ ÷©»õsø© ©ØÖ® uPÁÀöuõhº¦US 
C¢u ÁiÁ[PÒ GÆÁõÖ £[PÎUQßÓÚ? 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Give any two objectives of cost accounting. 

 AhUPÂø» PnURmiß Cμsk ÷|õUP[PøÍ SÔ¨¤kP. 

2. What is a cost sheet? 

 AhUPÂø»¨ £mi¯À GßÓõÀ GßÚ? 

3. What is ABC analysis? 

 ABC £S¨£õ´Ä GßÓõÀ GßÚ? 

4. List out the advantages of perpetual inventory system. 

 {μ¢uμ \μUS PnURmk •øÓ°ß |ßø©PøÍ 
£mi¯¼kP. 

5. State the causes of idle time. 

 idle time Põμn[PøÍ SÔ¨¤kP. 

6. What do you understand by labour turnover? 

 öuõÈ»õÍº _ÇØ] GßÓõÀ GßÚ? 
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7. What is an overhead? 

 ÷©»vP ö\»Ä GßÓõÀ GßÚ? 

8. What is administrative overhead? Give examples. 

 {ºÁõP ÷©»vPö\»Ä GßÓõÀ GßÚ? Euõμn[PøÍ 
öPõkUPÄ®. 

9. What is job costing? 

 ÷Áø»UPõÚ ö\»Ãk GßÓõÀ GßÚ? 

10. What is process costing? 

 ö\¯À•øÓ ö\»Ãk GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) What are the advantages of cost accounting? 

  AhUPÂø»U PnURmiß ÷|õUP[PÒ GßÚ? 

Or 

 (b) Distinguish between financial accounting and cost 
accounting. 

  {v PnURmkUS® AhUPÂø»U PnURmkUS® 
Cøh°»õÚ ÷ÁÖ£õmøhU SÔ¨¤kP. 

12. (a) From the following particulars, calculate re-order 
level, minimum stock level and average stock level. 

  Maximum usage in a month 300 Kgs. 

  Minimum usage in a month 200 Kgs. 

  Average usage in a month 225 Kgs. 

  Time-lag procurement of material: Maximum  
6 months; Minimum 2 months; Reordering quantity 
: 750 Kgs. 
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  R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x ©ÖÁ›ø\ 
{ø», SøÓ¢u£m\ \μUS {ø» ©ØÖ® \μõ\› \μUS 
{ø»ø¯ PnUQkP. 

  ©õuzvÀ AvP£m\ £¯ß£õk 300 Kgs 

  ©õuzvÀ SøÓ¢u£m\ £¯ß£õk 200 Kgs 

  ©õuzvÀ \μõ\› £¯ß£õk 225 kgs 

  ö£õ¸mPÒ Áõ[SÁuØPõÚ Põ»uõ©u® : AvP£m\®  
6 ©õu[PÒ : SøÓ¢u£m\® 2 ©õu[PÒ, ©ÖÁ›ø\ 

AÍÄ, 750 Kgs. 

Or 

 (b) The average Consumption o materials per annum 
20,000 kg. at a price of Rs. 2 per kg. The Storage 
cost is 16% on average inventory. The cost of placing 
one order is Rs. 50. Calculate Economic Order 
Quantity. 

  BskUS \μõ\› ö£õ¸mPÎß £¯ß£õk  
20,000 Q÷»õ. J¸ Q÷»õÂß Âø» ¹. 2 \μõ\› 
\μUS ö\»Ä 16% J¸ Bºhøμ CkÁuØPõÚ ö\»Ä 
¹. 50 ]UPÚ öPõÒ•uÀ AÍøÁ PnUQkP. 

13. (a) Explain the causes leading to idle time. 

  idle time–ØS ÁÈÁSUS® Põμn[PøÍ ÂÍUSP. 

Or 

 (b) The personal department of a concern gives you the 
following information in respect of labour. 

  Number of employees on 1st  January 1,800 

  Number of employees on 31st January 2,200 

  During the month 20 persons quit and 80 persons 
are terminated. 50 workers are recruited. Calculate 
Labour Turnover Rate. 
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  J¸ {ÖÁÚzvß £o¯õÍºxøÓ E[PÐUS 
öuõÈ»õÍºPøÍ¨ £ØÔ¯ ¤ßÁ¸® uPÁÀPøÍ 
ÁÇ[SQÓx. 

  áÚÁ› 1 AßÖ £o¯õÍºPÎß GsoUøP 1,800 

  áÚÁ› 31 AßÖ £o¯õÍºPÎß GsoUøP 2,200 

  áÚÁ› ©õuzvß ÷£õx 20 ÷£º Â»QÚº ©ØÓ® 80 

÷£º }UP¨£mhÚº. 50 öuõÈ»õÍºPÒ {¯ªUP¨£mhÚº.  

  öuõÈ»õÍº _ÇØ]ø¯ PnUQkP. 

14. (a) A company has three production departments  

(P1, P2, P3) and two service departments (S1, S2). 

Following information related to the month of 

January 2022.  

 Rs. 

Rent 30,000 

Depreciation of Machine 15,000 

Motive power 3,000 

Indirect wages 20,000 

Lighting 1,800 

  Additional Information : 

 P1 P2 P3 S1 S2 

Area occupied (Sq. Ft) 2,000 2,500 3,000 2,000 500 

Light points 10 15 20 10 5 

Direct wages (Rs.) 3,000 2,000 3,000 1,000 1,000

Horse power 60 30 50 10 – 

Value of machine (Rs.) 60,000 80,000 1,00,000 5,000 5,000

  Prepare overheads distribution statement.  
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  A Ltd ‰ßÖ EØ£zv xøÓPÒ (P1,P2,P3) ©ØÖ® 

Cμsk ÷\øÁ xøÓPÒ (S1,S2) öPõshx. 2022 

áÚÁ› ©õu® öuõhº£õÚ R÷Ç EÒÍ uPÁÀ. 

 ¹. 

ÁõhøP 30,000 
C¯¢vμzvß ÷u´©õÚ® 15,000 
÷©õmiÆ£Áº 3,000 
©øÓ•P Fv¯® 20,000 
ÂÍUS 1,800 

  TkuÀ uPÁÀ. 
 P1 P2 P3 S1 S2 

£μ¨£ÍÄ (\xμ Ai) 2,000 2,500 3,000 2,000 500 
ÂÍUS ¦ÒÎPÒ 10 15 20 10 5 
÷|μ Fv¯® (¹) 3,000 2,000 3,000 1,500 1,500
Svøμ\Uv 60 30 50 10 – 
C¯¢vμzvß (©v¨¦ )¹) 60,000 80,000 1,00,000 5,000 5,000

  ÷©À ö\»Âß £QºÄ AÔUøPø¯ u¯õ›UPÄ®. 

Or 

 (b) Explain the various bases of apportionment of 
overheads to departments. 

  xøÓPÐUS ÷©À ö\»ÄPøÍ¨ £QºÁuØPõÚ 
£À÷ÁÖ Ai¨£øhPøÍ ÂÍUS[PÒ. 

15.  (a) Explain briefly how normal loss, abnormal loss and 
abnormal gains should be treated in cost accounts. 

  \õuõμn CÇ¨¦, A\õuõμn CÇ¨¦ ©ØÖ® A\õuõμn 
»õ£[PøÍ AhUPÂø»U PnUSPÎÀ 
GÆÁõÖ øP¯õÍ ÷Ásk® Gß£øu _¸UP©õP 
ÂÍUSP. 

Or 

 (b) A factory follows job costing. The following cost data 
are obtained from its books for the year ending  
31st  December, 2001. 
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 Rs. 
Direct materials 90,000 
Direct wages 75,000 
Profit 60,900 
Selling and distribution overheads 52,500 
Administration overheads 42,000 
Factory overheads 45,000 

  Prepare a job cost sheet and find out overhead 
recovery rates and percentage of profit on sales. 

  J¸ öuõÈØ\õø» ÷Áø» ö\»ÃÚ •øÓø¯¨ 
¤ß£ØÖQÓx. 31 i\®£º 2001, Av¼¸¢x 
ö£Ó¨£mh ö\»Äz uμÄPÒ ¤ßÁ¸©õÖ. 

 ¹. 

÷|μi ö£õ¸mPÒ 90,000 
÷|μi Fv¯[PÒ 75,000 
»õ£® 60,900 
ÂØ£øÚ ©ØÖ® Â{÷¯õP ÷©»vP ö\»ÄPÒ 52,500 
{ºÁõP ÷©»vP ö\»ÄPÒ 42,000 
öuõÈØ\õø» ÷©»vP ö\»ÄPÒ 45,000 

  J¸ ÷Áø» ö\»ÄzuõøÍ u¯õ›zx, ÷©»vP 
ö\»ÄPøÍ «mS® ÂQu[PÒ ©ØÖ® ÂØ£øÚ°À 
»õ£zvß \uÃuzøu PshÔ¯Ä®.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. From the following particulars prepare a cost sheet: 
 Rs. 

Purchase of Raw materials 31,900 
Carriage on purchases 1,100 
Direct wages 15,000 
Direct expenses 2,000 
Sales 1,60,000 
Factory expenses 30,000 
Administrative expenses 10,000 
Selling and Distribution expenses 20,000 



S–7071 

  

  7

 R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎß Ai¨£øh°À J¸ 
AhUPÂø»¨ £mi¯À u¯õ›UPÄ®. 

 ¹. 
‰»¨ö£õ¸mPÎß öPõÒ•uÀ 31,900 
öPõÒ•uÀ Ásiaö\»Ä 1,100 
÷|μi Fv¯® 15,000 
÷|μi ö\»ÄPÒ 2,000 
ÂØ£øÚ 1,60,000 
öuõÈØ\õø» ö\»ÄPÒ 30,000 
{ºÁõP ö\»ÄPÒ 10,000 
ÂØ£øÚ ©ØÖ® Â{÷¯õP ö\»ÄPÒ 20,000 

17. From the following particulars have been extracted in 
respect of Material X. Prepare Stores Ledger Account 
showing the receipts and issues, pricing the materials 
issued on the basis of Simple Average Method: 

 Receipts: 

 3rd October Purchased 500 units at Rs. 4.00 per unit 

 13th October Purchased 900 units at Rs. 4.30 per unit 

 23rd October Purchased 600 units at Rs. 3.80 per unit 

 Issues: 

 5th  October issued 400 units 

 15th October issued 600 units 

 25th October issued 600 units. 

 ö£õ¸Ò X öuõhº£õP  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x 
¤›zöukUP¨£mkÒÍx. μ^xPÒ ©ØÖ® öÁÎ±kPøÍU 
Põmk® ì÷hõºì ö»máº PnUøPz u¯õ›UPÄ®. GÎ¯ 
\μõ\› •øÓ°ß Ai¨£øh°À ÁÇ[P¨£m ö£õ¸mPÐUS 
Âø» {ºn¯® ö\´uÀ  

 μ^xPÒ : 

 AU÷hõ£º 3 ÷uv ³ÛmkUS ¹. 4.00 Âø»°À  
500 ³ÛmPøÍ Áõ[P¨£mhx 

 AU÷hõ£º 13 ÷uv ³ÛmkUS ¹. 4.30 Âø»°À  
500 ³ÛmPøÍ Áõ[P¨£mhx 
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 AU÷hõ£º 23 ÷uv ³ÛmkUS ¹. 3.80 Âø»°À  
600 ³ÛmPøÍ Áõ[P¨£mhx 

 öÁÎ±kPÒ : 

 AU÷hõ£º 5 ÷uv 400 ³ÛmPÒ öÁÎ°h¨£mhÚ 

 AU÷hõ£º 15 ÷uv 600 ³ÛmPÒ öÁÎ°h¨£mhÚ 

 AU÷hõ£º 25 ÷uv 600 ³ÛmPÒ öÁÎ°h¨£mhÚ. 

18. Calculate the earnings of a worker under Halsey 
Premium Plan and Rowan Scheme. 

Time allowed 40 hours 

Time taken 32 

Rate per hour Rs. 20 

 íõÀê ¤Ÿª¯® vmh®  ©ØÖ® ÷μõÁß vmhzvß RÌ J¸ 
öuõÈ»õÎ°ß Á¸©õÚzøu PnUQhÄ®. 

AÝ©vUP¨£mh ÷|μ® 40 ©o 

Gkzu ÷|μ® 32 ©o 

©oUS  ÂQu® ¹.  20 

19. A company has three production departments and two 
service departments, and for a period the departmental 
distribution summary has the following totals: 

 Production Departments: 

 A – Rs. 80,000; B – Rs. 70,000; and C – Rs. 50,000 

 Service Departments: 

 X – Rs. 23,400; and Y – Rs. 30,000 

 The expenses of the service departments are charged out 
on a percentage basis as follows. 

 A B C X Y 

S1 20% 40% 30% – 10%

S2 40% 20% 20% 20% – 
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 Prepare a statement showing the apportionment of two 
service departments’ expenses to Production departments 
by Repeated Distribution Method. 

 J¸ {ÖÁÚ® ‰ßÖ EØ£zv xøÓPÒ ©ØÖ® Cμsk 
÷\øÁ xøÓPÒ öPõskÒÍx. ©ØÖ® J¸ Põ»zvØS xøÓ 
Â{÷¯õP _¸UP® ¤ßÁ¸® ö©õzu[PøÍ öPõskÒÍx. 

 EØ£zv xøÓPÒ 

 A – ¹. 80,000; B –  ¹. 70,000; and C –  ¹. 50,000 

 ÷\øÁzxøÓPÒ 

 X – ¹. 23,400; ©ØÖ® Y – ¹. 30,000 

 ÷\øÁzxøÓPÎß ö\»ÄPÒ ¤ßÁ¸® \uÃu 
Ai¨£øh°À ÂvUP¨£kQßÓÚ. 

 A B C X Y 

S1 20% 40% 30% – 10%

S2 40% 20% 20% 20% – 

 «sk® Â{÷¯õP •øÓ ‰»® Cμsk ÷\øÁ xøÓPÎß 
ö\»ÄPøÍ EØ£zv xøÓPÐUS £Qº¢xPõmk® 
AÔUøPø¯ u¯õ›UPÄ®. 

20. A product passes through three distinct processes to 
completion. These processes are numbered respectively  
A, B and C. During the week ended 15th January 2021. 
500 units are produced. The following information is 
obtained. 

 Process A Process B Process C
Direct Materials 7,000 3,200 3,000 
Direct Labour 5,000 4,000 5,000 

 The overhead expenses for the period were Rs. 2,800 
apportioned to the processes on the basis of wages. No 
work-in-progress or process stocks existed at the 
beginning or at the end of the week. Prepare Process 
account. 
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 J¸ u¯õ›¨¦ ‰ßÖ uÛzxÁ©õÚ ö\¯À•øÓPÒ ‰»® 
{øÓÄ ö£ÖQÓx. C¢u ö\¯À•øÓPÒ •øÓ÷¯ A, B, 
©ØÖ® C GÚ Gs öPõkUP¨£mkÒÍÚ. 2021 áÚÁ› 15 
B® ÷uv •iÁøh¢u ÁõμzvÀ 500 A»SPÒ 
u¯õ›UP¨£kQßÓÚ. ¤ßÁ¸® uPÁÀ ö£Ó¨£mkÒÍx. 

 ö\¯À•øÓ A ö\¯À•øÓ B ö\¯À•øÓ C
÷|μi ö£õ¸mPÒ 7,000 3,200 3,000 
÷|μi öuõÈ»õÍº 5,000 4,000 5,000 

 Põ»zvØS ÷©»vP ö\»ÄPÒ ¹. 2,800 Fv¯ 
Ai¨£øh°À ö\¯À•øÓPÐUS £Qμ¨£mkÒÍx. 
Áõμzvß öuõhUPzvÀ AÀ»x •iÂÀ G¢u ÷Áø» {ø» 
AÀ»x ö\¯À•øÓ £[SPÐ® CÀø» ö\¯À•øÓ 
PnUøP u¯õ›UPÄ®. 

  
———————— 
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B.Com. (CA) DEGREE EXAMINATION, APRIL 2025 

Fifth Semester 

Commerce with Computer Applications 

GOODS AND SERVICE TAX (GST) 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. How does an indirect tax differ from a direct tax? 

 ÷|μi Á›°¼¸¢x ©øÓ•P Á› GÆÁõÖ ÷ÁÖ£kQÓx? 

2. What role do indirect taxes play in government revenue 
generation? 

 Aμ]ß Á¸Áõ´ DmkÁvÀ ©øÓ•P Á›PÒ GßÚ £[S 
ÁQUQÓx? 

3. What is the meaning of GST? 

 GST Gß£uß ö£õ¸Ò GßÚ? 

4. What is the GST Council and its primary function? 

 GST PÄß]À ©ØÖ® Auß •ußø© ö\¯À£õk GßÚ? 

5. What is the process for the levy and collection of CGST 
and SGST? 

 CGST ©ØÖ® SGST BQ¯ÁØÔß Á› ©ØÖ® Á`¾UPõÚ 
ö\¯À•øÓ GßÚ? 

Sub. Code 
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6. What are credit and debit notes in the context of GST? 

 GST °ß ¤ßÚo°À Qöμim ©ØÖ® öh¤m ÷|õmkPÒ 
GßÓõÀ GßÚ? 

7. What is the purpose of filing returns under GST? 

 GST RÌ Á¸©õÚzøu uõUPÀ ö\´Áuß ÷|õUP® GßÚ? 

8. What does the term “anti-profiteering” mean in the 
context of GST? 

 GST °ß `Ç¼À “Bßi&¤μõ¤j›[” GßÓ Áõºzøu°ß 
ö£õ¸Ò GßÚ? 

9. What is the primary purpose of the Integrated GST 
(IGST) Act, 2017? 

 J¸[Qøn¢u âGìi (IGST) \mh®, 2017 Cß •ußø© 
÷|õUP® GßÚ? 

10. What is GST Cess? 

 GST ö\ì GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b). 

11. (a) Explain the differences between direct and indirect 
taxes, with examples. 

  ÷|μi ©ØÖ® ©øÓ•P Á›PÐUS Cøh°»õÚ 
÷ÁÖ£õkPøÍ GkzxUPõmkPÐhß ÂÍUPÄ®. 

Or 

 (b) Discuss the contributions of indirect taxes to 
government revenues. 

  Aμ\õ[P Á¸Áõ´PÐUS ©øÓ•P Á›PÎß 
£[PÎ¨¦PøÍ¨ £ØÔ ÂÁõvUPÄ®. 
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12. (a) Explain the silent features of the dual GST model in 
India. 

  C¢v¯õÂÀ Cμmøh GST ©õv›°ß Aø©v¯õÚ 
A®\[PøÍ ÂÍUPÄ®. 

Or 

 (b) Discuss the taxes subsumed under the CGST Act, 
2017. 

  CGST \mh®, 2017ß RÌ EÒÍ Á›PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

13. (a) Explain the time and valuation of taxable supply 
under GST. 

  GST °ß RÌ Á›US Em£mh Â{÷¯õPzvß ÷|μ® 
©ØÖ® ©v¨¥møh ÂÍUSP. 

Or 

 (b) Explain the role of the Input Service Distributor 
(ISD) under GST. 

  GST °ß RÌ EÒÏmk ÷\øÁ Â{÷¯õPìu›ß (ISD) 
£[øP ÂÍUSP. 

14. (a) Explain the payment process and refund mechanism 
under GST. 

  GST °ß RÌ £n® ö\¾zx® ö\¯À•øÓ ©ØÖ® 
£nzøuz v¸®£¨ö£Ö® ÁÈ•øÓø¯ ÂÍUSP. 

Or 

 (b) What are the procedures for inspection, search, and 
seizure under GST law? 

  GST \mhzvß RÌ B´Ä, ÷ukuÀ ©ØÖ® £Ô•uÀ 
ö\´ÁuØPõÚ |øh•øÓPÒ GßÚ? 
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15.  (a) Explain the special features of the Integrated GST 
(IGST) Act, 2017. 

  J¸[Qøn¢u GST (IGST) \mh®, 2017 Cß ]Ó¨¦ 
A®\[PøÍ ÂÍUPÄ®. 

Or 

 (b) What is the difference between cess and tax? 

  ö\ì ©ØÖ® Á› Cøh÷¯ EÒÍ ÷ÁÖ£õk GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the constitutional provisions that authorize the 
levy and collection of GST in India. 

 C¢v¯õÂÀ GST Á›Âv¨¦ ©ØÖ® Á`À BQ¯ÁØøÓ 
A[RP›US® Aμ]¯»ø©¨¦ ÂvPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

17. Explain the Structure and functions of GST Council. 

 GST PÄß]¼ß Aø©¨¦ ©ØÖ® ö\¯À£õkPøÍ 
ÂÍUPÄ®. 

18. Discuss the composition schemes and exemptions under 
GST. 

 GST °ß RÌ P»øÁ vmh[PÒ ©ØÖ® Â»USPÒ £ØÔ 
ÂÁõvUPÄ®. 

19. State the demand and recovery procedures under GST in 
India. 

 C¢v¯õÂÀ GST °ß RÌ ÷uøÁ ©ØÖ® «m¦ 
|øh•øÓPøÍU SÔ¨¤hÄ®. 

20. Discuss the process of Levy and collection of UTGST, 
including the key exemptions. 

 •UQ¯ ÂvÂ»USPÒ Em£h, UTGST Á› ©ØÖ® Á`À 
ö\¯À•øÓ £ØÔ ÂÁõ›UPÄ®. 

———————— 
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Elective: JAVA PROGRAMMING 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the principles of Object Oriented Programming 
(OOP) in Java? 

 Java ÂÀ ö£õ¸Ò \õº¢u {μ»õUPzvß (OOP) öPõÒøPPÒ 
GßÚ? 

2. What are the features of C++ and Java?  

 C++ ©ØÖ® Java Cß A®\[PÒ GßÚ? 

3. What is a variable in Java? 

 Java ÂÀ J¸ ©õÔ GßÓõÀ GßÚ? 

4. What is conditional statement in Java? 

  Java ÂÀ {£¢uøÚ ì÷hmö©sm GßÓõÀ GßÚ? 

5. What is class in Java? 

 Java ÂÀ QÍõì GßÓõÀ GßÚ? 

Sub. Code 
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6. What is the method overloading in Java? 

 Java ÂÀ KÁº÷»õi[ •øÓ GßÓõÀ GßÚ? 

7. How do you import a system Package in Java? 

 Java ÂÀ ]ìh® ÷£U÷Pøá G¨£i CÓUS©v ö\´Áx? 

8. What is extend thread in Java? 

 Java ÂÀ }miUP¨£mh ¡À GßÓõÀ GßÚ? 

9. What are the methods of applet? 

 Applet •øÓPÒ ¯õøÁ?  

10. What is the purpose of the <applet> tag in HTML?  

 HTML CÀ <applet> SÔaö\õÀ¼ß ÷|õUP® GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions choosing either (a) or (b) 

11. (a) Explain role of the Java Virtual Machine (JVM) in 
the Java environment? 

  Java `Ç¼À Java Âºa_ÁÀ ö©æß (JVM) £[øP 
ÂÍUSP? 

Or 

 (b) What are the key features of Java? 

  Java Âß •UQ¯ A®\[PÒ GßÚ? 

12. (a) Explain the precedence of arithmetic operators in 
Java. 

  Java  ÂÀ GsPou B£÷μmhºPÎß 
•ßÝ›ø©ø¯ ÂÍUSP. 

Or 
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 (b) Explain the difference between the if statement and 
the switch statement in Java. 

  Java ÂÀ if ì÷hmö©ßmkUS® _Âma 
ì÷hmö©ßmkUS® EÒÍ Âzv¯õ\zøu ÂÍUSP. 

13. (a) Describe the concept of inheritance in Java. 

  Java ÂÀ EÒÍ £μ®£øμ P¸zøu ÂÁ›UPÄ®. 

Or 

 (b) Explain how to define class in Java and add 
methods and variables. 

  Java ÂÀ ÁS¨ø£ GÆÁõÖ Áøμ¯Ö¨£x ©ØÖ® 
•øÓPÒ ©ØÖ® ©õÔPøÍ GÆÁõÖ ÷\º¨£x Gß£øu 
ÂÍUPÄ®. 

14. (a) Explain how to create and use a package in Java. 

  Java ÂÀ J¸ öuõS¨ø£ GÆÁõÖ E¸ÁõUSÁx 
©ØÖ® £¯ß£kzxÁx Gß£øu ÂÍUPÄ®. 

Or 

 (b) Describe the life cycle of a thread in Java. 

  Java ÂÀ J¸ ¡¼ß ÁõÌUøPa _ÇØ]ø¯ 
ÂÁ›UPÄ®. 

15.  (a) What are the key steps involved in embedding an 
applet into an HTML file? 

  HTML ÷Põ¨¤À B¨ö»møh Emö£õv¨£vÀ EÒÍ 
•UQ¯ £iPÒ GßÚ? 

Or 

 (b) Explain how to use the Graphics class to draw 
shapes in an applet. 

  B¨ö»miÀ ÁiÁ[PøÍ ÁøμÁuØS Qμõ¤Uì 
ÁS¨ø£ GÆÁõÖ £¯ß£kzxÁx Gß£øu 
ÂÍUPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the Difference between C,C++ and Java. 

 C,C++ ©ØÖ® Java BQ¯ÁØÖUS Cøh÷¯ EÒÍ 
÷ÁÖ£õmøh¨ £ØÔ ÂÁõvUPÄ®. 

17. Describe the basic structure of a Java program, including 
the roles of data types, variables, and operators. 

 uμÄ ÁøPPÒ, ©õÔPÒ ©ØÖ® B£÷μmhºPÎß £õzvμ[PÒ 
Em£h Java {μ¼ß Ai¨£øh Pmhø©¨ø£ ÂÁ›UPÄ®. 

18. Discuss the key concepts of classes and objects in Java. 

 Java ÂÀ ÁS¨¦PÒ ©ØÓ® ö£õ¸ÒPÎß •UQ¯ 
P¸zxPøÍ¨ £ØÔ ÂÁõvUPÄ®. 

19. Explain multi-threading in Java, including the creation 
and management of threads. 

 ¡ÀPøÍ E¸ÁõUSuÀ ©ØÖ® {ºÁQ¨£x Em£h Java ÂÀ 
©Ài zöμi[øP ÂÍUPÄ®. 

20. Describe methods for drawing lines, rectangles, circles,  
ellipses, arcs, and polygons. 

 ÷PõkPÒ, ö\ÆÁP[PÒ, Ámh[PÒ, }ÒÁmh[PÒ, 
ÁøÍÄPÒ ©ØÖ® £»÷Põn[PÒ ÁøμÁuØPõÚ 
ÁÈ•øÓPøÍ ÂÁ›UPÄ®. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What are the main features of banking? 

 Á[Q°ß •UQ¯ A®\[PÒ GßÚ? 

2. Write the name of schedule number 13, 14, 15 and 16 
(Banking New forms). 

 AmhÁøn Gs 13, 14, 15 ©ØÖ® 16 (Á[Q ¦v¯ 
£iÁ[PÒ) ö£¯øμ GÊuÄ®.  

3. What is a policyholder surplus? 

 £õ¼]uõμº E£› GßÓõÀ GßÚ? 

4. State the premium in insurance. 

 Põ¨¥miÀ ¤Ÿª¯zøuU SÔ¨¤hÄ®.  

5. What is the purpose of a capital account in the double 
account system? 

 CμmøhU PnUS Aø©¨¤À ‰»uÚU PnUQß ÷|õUP® 
GßÚ? 
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6. State the difference between Revenue account and Net 
Revenue account. 

 Á¸Áõ´U PnUSUS® {Pμ Á¸Áõ´U PnUQØS® EÒÍ 
Âzv¯õ\zøuU TÖP.  

7. Write a short note on “Holding Companies”. 

 ‘‘÷íõÀi[ P®ö£ÛPÒ’’ £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®.  

8. What is Capital Reserve? 
 ‰»uÚ C¸¨¦ GßÓõÀ GßÚ? 

9. What do you mean by Abnormal loss? 
 A\õuõμn CÇ¨¦ GßÓõÀ GßÚ? 

10. What is Recurring Income? 
 öuõhº Á¸©õÚ® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) While closing its books of accounts, a commercial 
bank has as advances classified its follows : 

Assets Rs. in 
lakhs 

Standard assets 20,000

Sub-standard assets 1,500

Doubtful assets :  

  Up to one year 1,000

  One to three year 4,500

  More than three year 2,500

Loss assets 5,000

  You are required to calculate the amount of 
provision to be made by the bank, assuming that all 
the doubtful assets are not secured. 
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  J¸ ÁoP Á[Q Auß PnUS ¦zuP[PøÍ ‰k® 
÷£õx, Auß •ß £nzøu ¤ßÁ¸©õÖ 
ÁøP¨£kzxQÓx.  

ö\õzxUPÒ ¹. 
»m\[PÎÀ

{ø»¯õÚ ö\õzxUPÒ 20,000

uμUSøÓÁõÚ ö\õzxUPÒ 1,500

\¢÷uPzvØS›¯ ö\õzxUPÒ :  

  J¸ Á¸h® Áøμ 1,000

  JßÖ •uÀ ‰ßÖ Á¸h® 4,500

  ‰ßÖ Á¸h[PÐUS ÷©À  2,500

CÇ¨¦ ö\õzxUPÒ 5,000

  \¢÷uPzvØQh©õÚ AøÚzx ö\õzxUPÐ® 
£õxPõUP¨£hÂÀø» GßÖ P¸v, Á[Q¯õÀ 
ÁÇ[P¨£k® JxURmiß AÍøÁ }[PÒ PnUQh 
÷Ásk®.  

Or 

 (b) Calculate Rebate on bills discounted as on 31st Dec, 
2016. 

Discounted Amount of bill Due date 

@%p.a. Rs.  

5% 8,30,000 31.01.17 

5% 15,60,000 30.04.17 

5% 4,64,000 03.03.17 

  You are required to calculate the rebate on bills 
discounted. 
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  31 i\®£º, 2016 AßÖ uÒÐ£i ö\´¯¨£mh 
¤ÀPÎÀ uÒÐ£iø¯U PnUQk[PÒ.  

uÒÐ£i ¤À öuõøP {¾øÁz ÷uv

@%Bsk÷uõÖ® ¹.  

5% 8,30,000 31.01.17 

5% 15,60,000 30.04.17 

5% 4,64,000 03.03.17 

  uÒÐ£i ö\´¯¨£mh ¤ÀPÒ «uõÚ uÒÐ£iø¯ 
}[PÒ PnUQh ÷Ásk®.  

12. (a) The life fund of a LIC on 31-03-17 showed a balance 
of Rs.54,00,000. However, the following items were 
not taken into account while preparing the Revenue 
A/c for 2016-2017. 

  (i)  Interest and dividends on accrued on 
investment Rs.20,000. 

  (ii)  Income tax deducted at source on the above – 
Rs.6,000. 

  (iii)  Reinsurance claims recoverable – Rs.7,000. 

  (iv)  Commission due on reinsurance premium paid 
– Rs.10,000. 

  (v)  Bonus in reduction of premiums – Rs.3,000. 

  31.3.17 AßÖ GÀI]°ß B²Ò {v ¹. 54,00,000 
C¸¨ø£U Põmi¯x. GÆÁõÓõ°Ý® 
2016&2017UPõÚ Á¸Áõ´ P/S ø¯z u¯õ›US® 
÷£õx ¤ßÁ¸® E¸¨£iPÒ PnUQÀ 
GkzxUöPõÒÍ¨£hÂÀø».  

  (i) •u½miß «uõÚ Ámi ©ØÖ® DÄzöuõøP & 
¹. 20,000 

  (ii) ÷©ØTÔ¯ÁØÔß ‰»zvÀ PÈUP¨£mh 
Á¸©õÚ Á› & ¹. 6,000 
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  (iii) ©ÖPõ¨¥mk E›ø©÷PõμÀPøÍ «möhkUP»õ® 

& ¹. 7,000 

  (iv) ©ÖPõ¨¥mk ¤Ÿª¯zvØS ö\¾zu ÷Ási¯ 

Pªåß & ¹. 10,000 

  (v) ¤Ÿª¯[PøÍU SøÓ¨£vÀ ÷£õÚì & ¹. 3,000 

Or 

 (b) From the following particulars, calculate the 

premiums earned(net) to he derived in schedule 1 of 

a life insurance company. 

  Premium less reinsurance – Rs. 1,61,500. 

  Accrued premium – Rs.5,000. 

  Bonus in reduction of premium – Rs.5,000. 

  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x B²Ò Põ¨¥mk 

{ÖÁÚzvß AmhÁøn 1 CÀ ö£Ó ÷Ási¯ 

¤Ÿª¯[PøÍ ({Pμ©õP) PnUQk[PÒ.  

  ¤Ÿª¯® SøÓÁõÚ ©ÖPõ¨¥k & ¹. 1,61,500. 

  vμmh¨£mh ¤Ÿª¯® & ¹. 5,000. 

  ¤Ÿª¯® SøÓ¨¤À ÷£õÚì & ¹. 5,000. 

13. (a) Explain the main features of Double Account 

System. 

  CμmøhU PnUS •øÓ°ß •UQ¯ A®\[PøÍ 

ÂÍUSP. 

Or 
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 (b) Government new building for an Electric Supply 
Power House has been constructed at a cost of 
Rs.3,80,000 to replace an old Building, the original 
cost of which was Rs. 1,50,000. This expenditure 
was distributed between Overheads, Labours and 
Materials in the ratio of 2:4:9. The cost of Overheads 
Labours and Materials are respectively 25,000. 
20,000 and 45,000 higher now than when the old 
works were built. In working the new work, old 
materials Rs.60,000 was utilized and Rs.50,000 
worth materials was sold away. You are required to 
make necessary calculations and give journal 
entries. 

  £øÇ¯ PmihzvØS¨ £v»õP ¹. 3,80,000 ö\»ÂÀ 
ªß\õμ® ÁÇ[S® £Áº íÄêØPõÚ Aμ_ ¦v¯ 
Pmih® Pmh¨£mkÒÍx. Cuß A\À Âø» ¹. 

1,50,000 BS®. C¢u ö\»ÂÚ® 2:4:9 GßÓ 
ÂQuzvÀ ÷©À{ø»PÒ, EøÇ¨¦PÒ ©ØÖ® 
ö£õ¸mPÒ Cøh÷¯ £Qº¢uÎUP¨£mhx. £øÇ¯ 
÷Áø»PÒ Pmh¨£mhøu Âh C¨÷£õx 
÷©À{ø»PÒ, ÷Áø»PÒ ©ØÖ® ö£õ¸mPÒ 
BQ¯ÁØÔß Âø» •øÓ÷¯ 25,000, 20,000 ©ØÖ® 
45,000 AvP©õP EÒÍx. ¦v¯ ÷Áø»°À £øÇ¯ 
ö£õ¸mPÒ ¹. 60,000 £¯ß£kzu¨£mk ¹. 50,000 
©v¨¤»õÚ ö£õ¸mPÒ ÂØ£øÚ¯õÚx }[PÒ 
÷uøÁ¯õÚ PnURkPøÍ ö\´¯ ÷Ásk® ©ØÖ® 
£zv›øP EÒÏkPøÍ öPõkUP ÷Ásk®.  

14. (a) ABC Ltd. Purchased 70% shares of Jio Ltd. on  
01-10-18. P and L account in the books of XYZ Ltd. 
showed a debit balance of Rs.50,000 on 01-04-19. On 
31-03-19, the balance sheet of XYZ Ltd. Showed P & 
L a/c balance of Rs. 1,50,000. Calculate Capital 
profits and Revenue profits. 
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  ABC ¼ªöhm 01.10.18 AßÖ â÷¯õ ¼ªöhmiß 

70% £[SPøÍ Áõ[Q¯x XYZ Ltd. Cß ¦zuP[PÎÀ 

EÒÍ P & L PnUS ¹. 50,000 01.04.19 AßÖ 

öh¤m C¸¨ø£U Põmi¯x 31.3.19 AßÖ XYZ Ltd. 
Cß C¸¨¦{ø»U SÔ¨¤À P & L a/c C¸¨¦ ¹. 
1,50,000 GÚU Põmi¯x ‰»uÚ »õ£® ©ØÖ® 
Á¸Áõ´ »õ£zøu PnUQk[PÒ.  

Or 

 (b) Rio Ltd. Purchased 85% shares of Kio Ltd. on  
01-10-22. P and L account in the books of Kio Ltd. 
showed a debit balance of Rs.40,000 On 01-04-19. 
On 31-03-23, the balance sheet of Kio Ltd. Showed  
P and L a/c balance of Rs.1,40,000. Calculate the 
value of goodwill or Capital reserve. 

›÷¯õ ¼ªöhm Q÷¯õ ¼ªöhmiß 85% £[SPøÍ 
01.10.22 AßÖ Áõ[Q¯x. Q÷¯õ ¼ªöhm 

¦zuP[PÎÀ EÒÍ P & L PnUQÀ 01.04.19 AßÖ 
¹. 40,000 öh¤m C¸¨¦ C¸¢ux. 31.3.23 AßÖ 

Kio Ltd. Cß C¸¨¦{ø»U SÔ¨¤À P & L a/c 
C¸¨¦ ¹. 1,40,000 GÚU Põmi¯x. |Àö»sn® 
AÀ»x ‰»uÚ C¸¨¦ ©v¨ø£U PnUQk[PÒ.  

15. (a) List out the methods of valuation of shares. 

  £[SPøÍ ©v¨¤k® •øÓPøÍ £mi¯¼k[PÒ.  

Or 

 (b) A firm, earned net profit during the last 4 years as 
follows: I – Rs.5,000; II – Rs.5,000; III – Rs.4,000; IV 
– Rs.6,000(loss). Calculate the value of Goodwill on 
the basis of 3 years’ purchase year of Average profit. 

J¸ {ÖÁÚ® Ph¢u 4 BskPÎÀ {Pμ »õ£zøu 

Dmi¯x I – ¹.5,000; II – ¹.5,000; III – ¹.4,000;  
IV – ¹.6,000 (|mh®) \μõ\› »õ£zvß 3 Á¸h 
öPõÒ•uÀ Bsiß Ai¨£øh°À \μõ\› »õ£ 
©v¨ø£U PnUQk[PÒ.  
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. On 31-12-2022, the following balance stood in the books of 
Asian Bank Ltd. Prepare the Balance sheet in revised 
format. 

Particulars Rs. in 
‘000 

Particulars Rs. in 
‘000 

Paid-up Capital 4,000 Reserve fund 6,200 

Fixed deposits 42,600 Current account 23,200 

Saving account 19,000 Short notice 1,800 

Govt. securities 9,000 Other investment 16,000 

P & L account (Cr)   Dividend for 2021 400 

  on 01-01-2022   1,350 Depreciation on premises 2,050 

Premises 5,000 Cash with RBI 10,000 

Cash in hand 380 Bills discounted 51,000 

Cash with other banks 6,000 Draft payable 70 

Loans 4,136 Rebate on bills discounted 50 

Unclaimed dividends 60 Furniture 3,000 

Depreciation on furniture 1,836 Net profit for 2022 1,550 

Short loans (Cr) 4,750   

  31.12.2022 AßÖ B]¯ß Á[Q ¼ªöhm 
¦zuP[PÎÀ ¤ßÁ¸® C¸¨¦ C¸¢ux v¸zu¨£mh 
ÁiÁzvÀ C¸¨¦{ø»z uõøÍz u¯õ›UPÄ®.  

ÂÁμ[PÒ ¹. 

‘000 
ÂÁμ[PÒ ¹. 

‘000 

ö\¾zu¨£mh ‰»uÚ® 4,000 C¸¨¦{v 6,200 

{ø»¯õÚ øÁ¨¦ 42,600 |h¨¦U PnUS 23,200 

÷\ª¨¦ PnUS 19,000 åõºm ÷|õmjì 1,800 

Aμ_ £zvμ[PÒ 9,000 ©ØÓ •u½k 16,000 

01-01-2022  AßÖ C»õ£®  2021UPõÚ DÄzöuõøP 400 

©ØÖ® |mh PnUS (Cr) 1,350 ÁÍõPzvÀ ÷u´©õÚ® 2,050 

ÁÍõP® 5,000 ›\ºÆ Á[Q°h® £n® 10,000 
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ÂÁμ[PÒ ¹. 

‘000 
ÂÁμ[PÒ ¹. 

‘000 

øP°À Põ_ 380 ¤ÀPÒ uÒÐ£i  51,000 
¤Ó Á[QPÎÀ £n® 6,000 Áøμ÷Áõø» ö\¾zu ÷Ásk® 70 
PhßPÒ 4,136 ¤ÀPÎÀ uÒÐ£i  50 
÷Põμ¨£hõu DÄzöuõøP 60 ©μa\õßPÒ  3,000 
©μa\©õßPÒ ÷u´©õÚ® 1,836 2022UPõÚ {Pμ »õ£® 1,550 

SÖQ¯ PhßPÒ (Cr) 4,750   

17. Explain the different types of Insurance. 
 £À÷ÁÖ ÁøP¯õÚ Põ¨¥kPøÍ ÂÍUS[PÒ.  

18. Difference between Single account system and Double 
account system. Discuss. 

 JØøÓU PnUS •øÓUS® CμmøhU PnUS •øÓUS® 
EÒÍ ÷ÁÖ£õk ÂÁõvUPÄ®.  

19. From the Balance sheet given below, prepare consolidated 
balance sheet. 

Liabilities H Ltd. S Ltd. Assets H Ltd. S Ltd. 

Share Capital @  Machinery 2,50,000 35,000

 Rs. 10 each 5,00,000 1,00,000 Land and Building 1,50,000 25,000

Profit and  Debtors 75,000 85,000

  Loss a/c 2,00,000 60,000 Bills Receivable 20,000 -

General Reserves 60,000 30,000 Investment as shares

Bills payable  - 15,000 in S Ltd. 75,000 -

Creditors 1,10,000 60,000 Stock 3,00,000 1,20,000

 8,70,000 2,65,000  8,70,000 2,65,000

 Additional information: 

 (a) H Ltd. Acquired 75% of shares in S Ltd. on  
01-01-2022. On that date S Ltd. already had the 
General Reserve of Rs.30,000. 

 (b) The bills accepted by S Ltd. are all in favour of  
H Ltd. 

 (c) The Stock of H Ltd. includes Rs.25,000 purchased 
from S Ltd. The profit added was 20% on sales. 
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 R÷Ç öPõkUP¨£mkÒÍ C¸¨¦{ø»U SÔ¨¤¼¸¢x 
J¸[Qøn¢u C¸¨¦{ø»U SÔ¨ø£z u¯õ›UPÄ®. 
    

ö£õÖ¨¦PÒ H Ltd. S Ltd. ö\õzxUPÒ H Ltd. S Ltd. 
£[S ‰»uÚ® C¯¢vμ[PÒ 2,50,000 35,000
 JÆöÁõßÖ® ¹. 10 5,00,000 1,00,000 {»® ©ØÖ®  

»õ£® ©ØÖ®   Pmih® 1,50,000 25,000
 CÇ¨¦ P/S 2,00,000 60,000 PhÚõÎPÒ 75,000 85,000
ö£õx C¸¨¦PÒ 60,000 30,000 ¤ÀPÒ ö£ÓzuUPøÁ 20,000 -
ö\¾zu ÷Ási¯ S Ltd.CÀ £[SPÍõP

¤ÀPÒ - 15,000  •u½k 75,000 -
Phß öPõkzuÁºPÒ 1,10,000 60,000 \μUQ¸¨¦ 3,00,000 1,20,000

 8,70,000 2,65,000  8,70,000 2,65,000

 TkuÀ uPÁÀ.  

 (A) H Ltd. S Ltd CÀ 75% £[SPøÍ 01.01.2022 AßÖ 
Áõ[Q¯x. A¢uz ÷uv°À S ¼ªöhm HØPÚ÷Á  
¹. 30,000 ö£õx øP°¸¨¦ øÁzv¸¢ux.  

 (B) S ¼ªöhm HØÖUöPõsh ¤ÀPÒ AøÚzx®  
H ¼ªöhm {ÖÁÚzvØS BuμÁõP EÒÍÚ.  

 (C) H Ltd. £[SPÎÀ S Ltd C¼¸¢x Áõ[P¨£mh  
¹. 25,000 Ah[S® ÂØ£øÚ°À ÷\ºUP¨£mh »õ£® 
20% BS®.  

20. A firm earned net profit during the last three years as 
follows: I – Rs.36,000; II – Rs.40,000; III – Rs.44,000. 

 The capital investment of the firm is Rs. 1,00,000 and the 
normal rate of return is 10%. Calculate the value of 
Goodwill on the basis of 3 years’ purchase year of super 
profit. 

 J¸ {ÖÁÚ® Ph¢u ‰ßÖ BskPÎÀ {Pμ »õ£zøu 
Dmi¯x I – ¹.36,000; II – ¹.40,000; III – ¹.44,000. 

 {ÖÁÚzvß ‰»uÚ •u½k ¹. 1,00,000 ©ØÖ® \õuõμn 
Á¸Áõ´ ÂQu® 10% BS®. `¨£º »õ£zvß 3 Á¸h 
öPõÒ•uÀ Bsiß Ai¨£øh°À E¯º »õ£zøu 
PnUQk[PÒ.  

———————— 
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Sixth Semester 

Commerce with Computer Applications 

Elective – INCOME TAX LAW AND PRACTICE 

(CBCS – 2022 onwards) 

Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is direct tax? 

 ÷|μi Á› SÔ±k GßÓõÀ GßÚ? 

2. Write a short note on CBDT. 

 CBDT £ØÔ J¸ ]Ö SÔ¨ø£ GÊuÄ®. 

3. Who is called Representative Assesses? 

 ©v¨¥mhõÍº GßÖ AøÇUP¨£k£Áº ¯õº? 

4. Define the term Previous Year. 

 •¢øu¯ Bsk GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

5. What is tax free income? 

 Á›°À»õ Á¸©õÚ® GßÓõÀ GßÚ? 

6. What is depreciation? 

 ÷u´©õÚ® GßÓõÀ GßÚ? 

Sub. Code 
22BCC6E3 
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7. Define the term salary. 

 \®£Í® GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

8. Define the annual value. 
 Bsk ©v¨ø£ Áøμ¯ÖUPÄ®. 

9. What do you mean by self generated assets? 
 _¯©õP E¸ÁõUP¨£mh ö\õzxUPÒ GßÓõÀ GßÚ? 

10. Write the meaning of causal income. 
 Põμn Á¸Áõ°ß ÷|õUP[PøÍU GÊx[PÒ. 

 Part B  (5 × 5 = 25) 

Answer all questions. Choosing either (a) or (b). 

11. (a) State the objectives of taxation. 
  Á› Âv¨¤ß ÷|õUP[PøÍU SÔ¨¤hÄ®.  

Or 

 (b) Distinguish between direct and indirect tax. 
  ÷|μi ©ØÖ® ©øÓ•P Á›PøÍ ÷ÁÖ£kzx[PÒ. 

12. (a) On 1-6-2021 ‘B’ a Malaysian citizen left India after a 
continuous stay of 10 years. During the financial 
year 2022-23, he came back to India and stayed for 
a period of 46 days and left. In the previous year 
2023-24, he came back to India on 10-10-2023 and 
stayed here thereafter for one year. Determine ‘B’s 
residential status for the assessment year 2024-25. 

  1-.6.-2021 ‘B’ AßÖ ©÷»]¯U Si©Pß J¸Áº 
öuõhº¢x 10 BskPÒ u[Q°¸¢x C¢v¯õøÁ 
Âmk öÁÎ÷¯ÔÚõº. 2022&2023 {v¯õsiÀ, AÁº 
C¢v¯õÄUSz v¸®¤ Á¢x 46 |õmPÒ u[Q°¸¢x 
öÁÎ÷¯ÔÚõº. •¢øu¯ Bsk 2023&24 CÀ, AÁº 
10.10.2023 AßÖ C¢v¯õÄUSz v¸®¤Úõº, Auß 
¤ÓS J¸ Á¸h® C[S u[QÚõº. 2024&25 
©v¨¥mk BsiØPõÚ ‘B’ Cß Si°¸¨¦ {ø»ø¯z 
wº©õÛUPÄ®. 

Or 
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 (b) Explain capital losses and revenue losses with 
suitable examples. 

  ‰»uÚ CÇ¨¦PÒ ©ØÖ® Á¸Áõ´ CÇ¨¦PøÍ 
ö£õ¸zu©õÚ GkzxUPõmkPÐhß ÂÍUS[PÒ. 

13. (a) Explain the incomes exempted from Income tax  
u/s 10. 

  Á¸©õÚ Á› u/s 10 À C¸¢x Â»US AÎUP¨£mh 
Á¸©õÚ[PøÍ ÂÍUPÄ®. 

Or 

 (b) Distinguish between tax exempted and tax free 
income. 

  Á› Â»US ©ØÖ® Á› CÀ»õu Á¸©õÚ® 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 

14. (a) Mr. Xavier is employed as a manager in the state 
bank of India at Mumbai. Following are the 
particulars of his salary for the financial year  
2023-24. 

  Basic pay – Rs. 2,500 pm; Dearness Allowances 
(forming part of super annuation benefits) – Rs. 400 
p.m. Dearness allowance – Rs. 600 p.m; Bonus –  
Rs. 3,000 p.a. He has been provided furnished 
house, the cost of furniture and household 
appliances being Rs. 10,000. The bank pays  
Rs. 2,000 p.m. for the said accommodation but 
deducts only Rs. 250 p.m. determine the value of 
house accommodation. 

  v¸. ÷\Â¯º •®ø£°À EÒÍ £õμu ì÷hm 
Á[Q°À ÷©»õÍμõP¨ £o¦›QÓõº. 2023&24 
{v¯õsiØPõÚ AÁμx \®£Í ÂÁμ[PÒ 
¤ßÁ¸©õÖ. 

Ai¨£øh Fv¯® – ¹. 2,500 pm; APÂø»¨£iPÒ 
(`¨£º Á¸hõ¢vμ £»ßPÎß J¸ £Sv¯õS®) &  
¹. 400 pm; APÂø»¨£i ¹. 600 pm; ÷£õÚì &  
¹. 3,000 p.a. AÁ¸US uÍ£õh[PÒ ©ØÖ® Ãmk 
E£÷¯õP¨ ö£õ¸ÒPÎß Âø» ¹. 10,000 BS®. 
C¢u u[SªhzvØS Á[Q ¹. 2,000 ö\¾zxQÓx 
BÚõÀ ¹. 250 PÈ¨£x ©mk÷© Ãmiß 
u[Sªhzvß ©v¨ø£ wº©õÛUP. 

Or 
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 (b) Compute annual value from the following: 

  Rent Rs. 7,000 pm; Municipal Rental Value –  
Rs. 80,000 pa; Fair Rental Value – Rs. 70,000 pa; 
Standard Rent – Rs. 69,000 pa; Rent is not 
receivable for two months during the year. 

  ¤ßÁ¸ÁÚÁØÔ¼¸¢x Á¸hõ¢vμ ©v¨ø£U 
PnUQhÄ®. 

ÁõhøP ¹. 7,000 ©õø»; |Pμõm] ÁõhøP ©v¨¦ & 

¹. 80,000 p.a.; {¯õ¯©õÚ ÁõhøP ©v¨¦ &  

¹. 70,000 p.a.; {ø»¯õÚ ÁõhøP ¹. 69,000 p.a.; 
Á¸hzvÀ Cμsk ©õu[PÐUS ÁõhøP 
ö£Ó¨£hõx. 

15.  (a) Mr. Sachin purchased 1,000 equity shares (unlisted) 
of P Ltd. in 1980 at Rs. 50 per share. In February 
2010 he was offered 500 bonus shares. In January 
2011 he was again offered 500 bonus shares. In 
March 2024, he sold the entire shareholding at  
Rs. 500 per share. He has paid 5% brokerage. 
Compute Capital gains taxable for the assessment 
year 2024-25. The FMV as on  1.4.2001 was Rs. 75 
per share. CII for 2010-11 is 167, for 2023-24 is 348. 

  v¸. \a]ß 1980 CÀ P Ltd. Cß 1,000 DUÂmi 
£[SPøÍ (£mi¯¼h¨£hõux) ¹. J¸ £[SUS 50. 
¤¨μÁ› 2010 CÀ AÁ¸US 500 ÷£õÚì £[SPÒ 
ÁÇ[P¨£mhÚ. áÚÁ› 2011 CÀ AÁ¸US «sk® 
500 ÷£õÚì £[SPÒ ÁÇ[P¨£mhÚ. ©õºa 2024 
CÀ, AÁº £[SPøÍ²® ¹. J¸ £[SUS 500. AÁº 
5% uμS ö\¾zv²ÒÍõº. 2024&25 ©v¨¥mk 
BsiØPõÚ Á›US Em£mh ‰»uÚ Buõ¯[PøÍU 

PnUQk[PÒ. 1.4.2001 AßÖ FMV ¹. J¸ £[SUS 
75. 2010&11 UPõÚ ]II 167, 2023&24 US 348. 

Or 
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 (b) Ganesan furnishes the following particulars of his 
income for the previous year 2023-24. Compute his 
Income From Other Sources for the assessment year 
2024-25. 

  (i) Dividend (Gross) from Ashok Leyland Ltd- 
Rs. 25,000; 

  (ii)  Dividend from a co-operative society –  
Rs. 5,000; 

  (iii) Interim dividend from Rane (Madras) Ltd. —
Rs. 6,000; 

  (iv)  Dividend from a foreign company – Rs. 26,000; 

  (v)  Dividend from Mutual fund –Rs. 3,000. 

  P÷n\ß •¢øu¯ 2023&24 BskUPõÚ uÚx 
Á¸©õÚzvß ¤ßÁ¸® ÂÁμ[PøÍ AÎUQÓõº. 
2024&25 ©v¨¥mk BsiØPõÚ ¤Ó Buõμ[PÎÀ 
C¸¢x AÁμx Á¸©õÚzøuU PnUQk[PÒ. 

  (i) A÷\õU ÷»»sm ¼ªöhm ÁÇ[S® 
DÄzöuõøP (ö©õzu®) ¹. 25,000; 

  (ii)  J¸ TmkÓÄ \[Pzvß DÄzöuõøP ¹. 5,000; 

  (iii) μõ÷Ú (ö©mμõì) ¼ªöhm ÁÇ[S® CøhUPõ» 
DÄzöuõøP ¹. 6,000; 

  (iv)  öÁÎ|õmk {ÖÁÚzvhª¸¢x DÄzöuõøP  
¹. 26,000; 

  (v)  ª³a_ÁÀ L£si¼¸¢x DÄzöuõøP ¹. 3,000.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the historical background of Income Tax Act. 

 Á¸©õÚ Á›a \mhzvß Áμ»õØÖ¨ ¤snÛø¯ 
ÂÍUPÄ®. 
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17. From the accounting year ended 31st  March 2024 Mr. S 
furnishes the following particulars of his income. 

 (a) Salary received in India – Rs.60,000. 

 (b) Profit from business in Germany but received in 
India – Rs. 15,000 

 (c) Income from house property in Pakistan deposited 
in a bank there –Rs. 12,000. 

 (d) Profit from business established in Bangladesh but 
business is controlled from India – Rs. 46,000. 

 (e) Income accrued in India but received in Sweden – 
Rs. 25,000. 

 (f) In this accounting year Mr. S has brought into India 
foreign income of earlier year – Rs. 42,700. 

 (g) Profit from sale of plant at Mumbai (50% received in 
Bangkok) – Rs. 1,60,000. 

 (h) Interest on Japan development bonds (60% received 
in India) –Rs. 1,00,000. 

 Compute his total income if (1) he is resident (2) he is not 
ordinarily resident or (3) He is non-resident. 

 ©õºa 31, 2024 CÀ •iÁøh¢u PnUQ¯À Bsi¼¸¢x, 
v¸. Gì uÚx Á¸©õÚzvß ¤ßÁ¸® ÂÁμ[PøÍ 
AÎUQÓõº. 

 (A) C¢v¯õÂÀ ö£ØÓ \®£Í® ¹. 60,000. 

 (B) öáº©Û°À ÁoPzvß »õ£® BÚõÀ C¢v¯õÂÀ 
ö£Ó¨£mhx ¹. 15,000 

 (C) £õQìuõÛÀ EÒÍ J¸ Á[Q°À öh£õ]m 
ö\´¯¨£mh Ãmka ö\õzvß Á¸©õÚ® ¹. 12,000. 

 (D) £[PÍõ÷uæÀ {ÖÁ¨£mh ÁoPzvß »õ£® 
BÚõÀ ÁoP® C¢v¯õÂÀ C¸¢x 
Pmk¨£kzu¨£kQÓx ¹. 46,000. 
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 (E) C¢v¯õÂÀ vμmh¨£mh Á¸©õÚ® BÚõÀ 
ìÃhÛÀ ö£Ó¨£mhx ¹. 25,000. 

 (F) C¢u PnUQÀ BsiÀ v¸. Gì •¢øu¯ Bsiß 
öÁÎ|õmk Á¸©õÚzøu C¢v¯õÂØS öPõsk 
Á¢xÒÍõº ¹. 42,700. 

 (G) •®ø£°À Bø» ÂØ£øÚ°ß »õ£® (50% 
£õ[PõUQÀ ö£Ó¨£mhx) – ¹. 1,60,000. 

 (H) á¨£õß ÁÍºa]¨ £zvμ[PÒ «uõÚ Ámi (60% 
C¢v¯õÂÀ ö£Ó¨£mhx) –¹. 1,00,000. 

 (1) AÁº Á]¨£ÁμõP C¸¢uõÀ (2) AÁº \õuõμn©õP 
Á]¨£ÁμõP CÀø» AÀ»x (3) AÁº Si²›ø© 
CÀ»õuÁμõP C¸¢uõÀ AÁ¸øh¯ ö©õzu Á¸©õÚzøuU 
PnUQk[PÒ. 

18. Explain Incomes which do not form part of Total income. 

 ö©õzu Á¸©õÚzvß J¸ £Sv¯õP CÀ»õu 
Á¸©õÚ[PøÍ ÂÍUS[PÒ. 

19. Mr. R, the director of G Ltd, retired on 31st December 
2023, after 30 years of service. The particulars of his 
income are as follows: 

 (a) Salary: Rs. 8,000 p.m from 1-1-2023; HRA Rs. 3,000 
p.m. from 1-1-2023. D.A. Rs. 10,000 p.m. 

 (b)  Medical expenses reimbursed by employer  
Rs. 21,000 which includes Rs. 5,000 paid to 
government hospital. 

 (c)  The employer provides him a Car of more than 1.6 
liters engine capacity for official and personal use 
along with a driver. Expenses are met by employer. 

 (d) Mr. R. contributes 22% (12% regular and 10% 
additional voluntary contribution) to be a RPF and 
the company matches his regular contribution of 
12%. 
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 (e) Mr. R. has invested Rs. 20,000 in ULIP schemes of 
UTI and Rs. 10,000 in PPF. He paid Rs. 8,000 
towards LIC on policy for a sum assured Rs. 60,000. 

 (f)  He lives in a rented house at Delhi and pays  
Rs. 4,000 p.m. as rent. Employer has paid Rs.3,000 
p.m. as HRA. 

 (g) Mr. R, received Rs. 1,50,000 as gratuity. He is not 
covered by Gratuity act. 

 (h) He received Rs. 1,60,000 for encashment of leave, 
being 16 months leave not availed of.  

 Compute R’s income for AY: 2024-25. 

 G Ltd Cß C¯US|º v¸. R 30, Á¸h ÷\øÁUS¨ ¤ÓS, 
31 i\®£º 2023 AßÖ K´Ä ö£ØÓõº. AÁμx Á¸©õÚ 
ÂÁμ® ¤ßÁ¸©õÖ:  

 (A) \®£Í® : ¹. 8,000 1-1-2023 •uÀ ©õø»; 1.1.2023 
•uÀ HRA ¹. 3,000 iH ¹. 10,000 CμÄ. 

 (B)  Aμ_ ©¸zxÁ©øÚUS ö\¾zv¯ ¹. 5,000 Em£h  
¹. 21,000 ©¸zxÁa ö\»ÄPÒ •u»õÎ¯õÀ v¸¨¤ 
AÎUP¨£k®. 

 (C)  J¸ KmkÚ¸hß ÷\º¢x Ezv÷¯õP §ºÁ ©ØÖ® 
uÛ¨£mh £¯ß£õmiØPõP 1.6 ¼mh¸US® 
AvP©õÚ Gg]ß vÓß öPõsh Põøμ •u»õÎ 
AÁ¸US ÁÇ[SQÓõº. ö\»ÄPÒ •u»õÎ¯õÀ 
\¢vUP¨£k®. 

 (D) v¸. Bº. RPF BP 22% (12% ÁÇUP©õÚ ©ØÖ® 10% 
TkuÀ ußÚõºÁ £[PÎ¨¦) £[PÎUQÓx ©ØÖ® 
{ÖÁÚ® AÁμx ÁÇUP©õÚ £[PÎ¨£õÚ 12% Ehß 
ö£õ¸¢xQÓx. 

 (E) Mr. R, UTI Cß ULIP vmh[PÎÀ ¹. 20,000 ©ØÖ® 
PPF CÀ ¹. 10,000 •u½k ö\´xÒÍõº. Põ¨¥mkz 
öuõøP¯õÚ ¹. 60,000 UPõÚ £õ¼]°À GÀI]US 
¹. 8,000 ö\¾zvÚõº. 
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 (F)  öhÀ¼°À ÁõhøP ÃmiÀ Á]US® AÁº, ©õø» 
4,000 ¹£õ´ ÁõhøP ö\¾zxQÓõº. Ga.Bº.H.¯õP ¹. 
3,000 ¤Ø£PÀ ö\¾zv°¸UQÓõº.  

 (G) v¸. Bº, ¹. 1,50,000 EuÂz öuõøP¯õP¨ ö£ØÓõº.  

 (H) AÁº £oUöPõøha \mhzvß RÌ ÁμÂÀø», 16 
©õu Âk¨¦ QøhUPõuuõÀ, Âk¨ø£ 
£n©õUSÁuØPõP ¹. 1,60,000 ö£ØÓõº.  

 AY : 2024&25 UPõÚ R Cß Á¸©õÚzøuU PnUQh[PÒ.  

20. From the following particulars of P & La/c of Mr. Kesav 
find income from business. 

Profit and loss a/c 

Particulars Rs. Particulars Rs. 

Salaries 35,000 Gross profit 1,05,000

Rent 10,000 Interest on F.D 5,000

Postage 2,000 Discount 2,000

Discount 5,000 Profit on sales of car 20,000

Purchase of  
furniture 15,000

 

Depreciation 5,000  

General reserves 10,000  

Wealth tax 2,000  

Net profit 48,000  

 1,32,000  1,32,000

 Add. Information: 

 (a) Closing stock was undervalued by Rs. 10,000. 

 (b) Expenses not debited in the P & L a/c Rs. 3,000. 

 (c) Salaries induce Rs. 5,000 paid outside India without 
deduction of tax. 
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 v¸. ÷P\Æ AÁºPÎß ¤ßÁ¸® P & L a/c 
ÂÁμ[PÎ¼¸¢x ÁoPzv¼¸¢x Á¸©õÚzøuU 
PshÔ¯Ä®. 

»õ£ |èh PnUS 

ÂÁμ[PÒ ¹. ÂÁμ[PÒ ¹. 

\®£Í® 35,000 ö©õzu »õ£® 1,05,000

ÁõhøP 10,000 F.D «uõÚ Ámi 5,000

u£õÀ Pmhn® 2,000 uÒÐ£i 2,000

uÒÐ£i 5,000 Põº ÂØ£øÚ°À 
»õ£® 

20,000

uÍ£õh[PÒ 
Áõ[SuÀ 15,000

 

÷u´©õÚ® 5,000  

ö£õx C¸¨¦PÒ 10,000  

ö\ÀÁ Á› 2,000  

{Pμ »õ£® 48,000  

 1,32,000  1,32,000

 uPÁÀ ÷\ºUPÄ® : 

 (A) CÖv¨ £[S ¹. 10,000 SøÓzx ©v¨¤h¨£mhx. 

 (B) »õ£zvÀ £ØÖ øÁUP¨£hõu ö\»ÄPÒ ¹. 3,000 . 

 (C) \®£Í® ¹. 5,000 Á› Â»US CÀ»õ©À 
C¢v¯õÂØS öÁÎ÷¯ ö\¾zu¨£kÁøuz 
yskQÓx. 

 
———————— 
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 Section A  (10 × 2 = 20) 

Answer all questions. 

1. Define Management accounting. 

 ÷©»õsø© PnUQ¯ø» Áøμ¯ÖUPÄ®. 

2. What do you mean by financial accounting? 

 {vU PnUS GßÓõÀ GßÚ? 

3. Current assets Rs. 1,00,000 and Current liabilities  
Rs. 60,000. Calculate working capital and Current ratio. 

 uØ÷£õøu¯ ö\õzxUPÒ ¹. 1,00,000 ©ØÖ® uØ÷£õøu¯ 
ö£õÖ¨¦PÒ  ¹. 60,000. ö\¯À£õmk ‰»uÚ® ©ØÖ® 
uØ÷£õøu¯ ÂQuzøuU PnUQk[PÒ. 

4. List out the significance of financial statement analysis. 

 {v{ø» AÔUøP £S¨£õ´Âß •UQ¯zxÁzøu 
£mi¯¼k[PÒ. 

5. Define fund flow statement. 

 {v Kmh AÔUøPø¯ Áøμ¯ÖUPÄ®. 
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6. What do you mean by cash flow statement? 

 £n¨¦ÇUP AÔUøP GßÓõÀ GßÚ? 

7. Differentiate Budget and Budgetary control. 

 £möám ©ØÖ® £möám Pmk¨£õmøh ÷ÁÖ£kzx[PÒ. 

8. Define Cash Budget. 

 £n £möámøh Áøμ¯ÖUPÄ®. 

9. Sales Rs. 2,00,000, variable cost Rs. 40,000. Calculate 
contribution and profit it fixed cost Rs. 20,000. 

 ÂØ£øÚ ¹. 2,00,000, ©õÔ ö\»Ä ¹. 40,000, £[PÎ¨¦ 
©ØÖ® »õ£zøu PnUQk[PÒ Auß {ø»¯õÚ ö\»Ä  
¹. 20,000. 

10. Define Break-Even point. 

 ¤÷μU&DÁß ¦ÒÎø¯ Áøμ¯ÖUPÄ®. 

 Section B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Differentiate cost accounting and management 
accounting. 

  ö\»Ä PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯ø» 
÷ÁÖ£kzx[PÒ. 

Or 

 (b) What are the objectives of management accounting? 

  ÷©»õsø© PnUQ¯¼ß ÷|õUP[PÒ GßÚ? 

12. (a) Briefly explain the financial statement analysis. 

  {v AÔUøP £S¨£õ´øÁ _¸UP©õP ÂÍUS[PÒ. 

Or 
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 (b) From the following particulars calculate  

  (i) Current ratio  

  (ii) Liquid Ratio  

  (iii) Absolute liquidity ratio. 

   Land and Building  6,00,000 

   Plant and Machinery  5,00,000 

   Stock    2,40,000 

   Debtors    2,00,000 

   Creditors    1,50,000 

   Cash and Bank   55,000 

   Bank Overdraft   50,000 

   Pre-paid Expenses  5,000 

  ¤ßÁ¸® ÂÁμ[PÎÀ C¸¢x 

  (i) uØ÷£õøu¯ ÂQu®  

  (ii) vμÁ ÂQu® 

  (iii) •Êø©¯õÚ £n¨¦ÇUP ÂQu® 

   PnUQk :   

   {»® ©ØÖ® Pmih® 6,00,000 

   Bø» ©ØÖ® C¯¢vμ[PÒ  5,00,000 

   £[S    2,40,000 

   PhÚõÎPÒ   2,00,000 

   Phß öPõkzuÁºPÒ 1,50,000 

   öμõUP® ©ØÖ® Á[Q 55,000 

   Á[Q KÁº iμõL¨m 50,000 

   •ß ö\¾zv¯ ö\»ÄPÒ 5,000 
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13. (a) Differentiate fund flow statement and cash flow 
statement. 

  {v Kmh AÔUøP ©ØÖ® £n¨¦ÇUP AÔUøPø¯ 
÷ÁÖ£kzx[PÒ.  

Or 

 (b) From the following Balance sheet prepare a 
statement showing changes in working capital 
during 2020  

 Balance Sheet of Sree Ganesh Limited as on  
31st  December 

Liabilities 2019 2020 Assets 2019 2020 

Share capital 6,50,000 7,80,000 Fixed assets 6,30,000 6,60,000 

Profit and   Stock 2,40,000 3,70,000 

Loss Account  40,000  65,000 Debtors 2,50,000 2,30,000 

Debentures 3,00,000 2,50,000 Cash in hand 80,000 60,000 

Creditors 1,70,000 1,60,000 Preliminary   

Provision  Expenses 20,000 15,000 

for tax  60,000  80,000    

 12,20,000 13,35,000  12,20,000 13,35,000 

  ¤ßÁ¸® C¸¨¦{ø»U SÔ¨¤¼¸¢x 2020 CÀ 
ö\¯À£õmk ‰»uÚzvÀ HØ£k® ©õØÓ[PøÍU 
Põmk® AÔUøPø¯z u¯õ›UPÄ®. 

i\®£º 31 AßÖ ÿ P÷nè ¼ªöhmiß C¸¨¦{ø» 

ö£õÖ¨¦PÒ 2019 2020 ö\õzxUPÒ 2019 2020 
£[S ‰»uÚ® 6,50,000 7,80,000 {ø»¯õÚ  

»õ£ |èh ö\õzxUPÒ 6,30,000 6,60,000
PnUS  40,000  65,000 \μUQ¸¨¦ 2,40,000 3,70,000
Phß £zvμ[PÒ 3,00,000 2,50,000 PhÚõÎPÒ 2,50,000 2,30,000
Phß øP°¸¨¦ 

öPõkzuÁºPÒ 1,70,000 1,60,000 öμõUP® 80,000 60,000

Á›UPõÚ  Bμ®£  

JxURk  60,000  80,000 ö\»ÄPÒ 20,000 15,000

 12,20,000 13,35,000  12,20,000 13,35,000
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14. (a) Briefly explain the steps in budgetary control. 

  £möám Pmk¨£õmiß £iPøÍ _¸UP©õP 
ÂÍUS[PÒ. 

Or 

 (b) Using the following information, prepare a flexible 
budget for the production of 80% and 100% activity. 

  Production at 50% Capacity 5,000 Units 

  Raw Materials   $80 per unit 

  Direct Labor   $50 per unit 

  Direct Expenses   $15 per unit 

  Factory Expenses   $50,000 (50) (Fixed) 

  Administration Expenses $60,000 (Variable) 

  ¤ßÁ¸® uPÁø»¨ £¯ß£kzv, 80% ©ØÖ® 100% 
ö\¯À£õmiØPõÚ J¸ ö|QÌÁõÚ £möámøhz 
u¯õ›UPÄ®. 

  50% vÓÛß EØ£zv 5,000 A»SPÒ 

  ‰»¨ö£õ¸mPÒ  $80 J¸ A»SPÒ 

  ÷|μi EøÇ¨¦  $50 J¸ A»SPÒ 

  ÷|μi ö\»ÄPÒ  $15 J¸ A»SPÒ 

  öuõÈØ\õø» ö\»ÄPÒ $50,000 (50) (Fixed) 

  {ºÁõP ö\»ÄPÒ  $60,000 (Variable) 

15.  (a) Write down the assumptions of break-even analysis. 

  ¤÷μU&DÁß £S¨£õ´Âß AÝ©õÚ[PøÍ 
GÊx[PÒ.  

Or 
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 (b) Determine the amount of fixed expenses from the 
following information. 

  Sales    Rs. 2,50,000 

  Direct material  Rs. 80,000 

  Direct Labour  Rs. 50,000 

  Variable overhead  Rs. 20,000 

  Profit   Rs. 60,000 

  ¤ßÁ¸® uPÁ¼¼¸¢x {ø»¯õÚ ö\»ÄPÒ 
AÍøÁz wº©õÛUPÄ®. 

  ÂØ£øÚ   ¹. 2,50,000 

  ÷|μi ö£õ¸Ò  ¹. 80,000 

  ÷|μi öuõÈ»õÍº  ¹. 50,000 

  ©õÔ ÷©À{ø»  ¹. 20,000 

  »õ£®   ¹. 60,000 

 Section C  (3 × 10 = 30) 

Answer any three questions. 

16. Differentiate financial accounting and management 
accounting. 

 {v PnUQ¯À ©ØÖ® ÷©»õsø© PnUQ¯ø» 
÷ÁÖ£kzx[PÒ. 

17. From the following profit and loss account of Jeyaprakash 
Industries Ltd. Prepare a comparative Income statement. 

 Profit and Loss account for the year ended 30th June  

  2006 2007  2006 2007 

  Rs. Rs.  Rs. Rs. 

To cost of goods sold 500 640 By sales 700 900

To operating expenses     

     administrative expenses 20 20   
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Selling expenses 30 40   

To Net profit 150 200   

 700 900   700 900

 öá¯¨¤μPõè CshìmŸì ¼ªöhmiß ¤ßÁ¸® »õ£ 
|èhU PnUQ¼¸¢x J¨¥mk Á¸©õÚ AÔUøPø¯z 
u¯õ›UPÄ®. 

 áüß 30 B® ÷uv²hß •iÁøh¢u BsiØPõÚ »õ£ 
|èhU PnUS. 

  2006 2007  2006 2007 

  ¹. ¹.   ¹. ¹. 

ÂØP¨£mh 
ö£õ¸mPÎß Âø»US

500 640 ÂØ£øÚ 700 900

C¯UP ö\»ÄPÐUS  20 20      

{ºÁõP ö\»ÄPÒ 30 40      

ÂØ£øÚ ö\»ÄPÒ       

{Pμ »õ£zvØS 150 200      

 700 900   700 900

18. From the following/balance Sheet of A Ltd. Prepare a 
cash flow statement. 

Liabilities 2021 2022 Assets 2021 2022 

 Rs. Rs.  Rs. Rs. 

Share capital 8,000 8,500 Land 5,000 5,000

Profit and loss Plant  2,400 3,400

account 1,450 2,450 Debtors 1,650 1,950

Creditors 900 500 Stock 900 700

Mortgage loan – 500 Cash 400 900

 10,350 11,950  10,350 11,950
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 A Ltd. Cß ¤ßÁ¸® / C¸¨¦{ø»U SÔ¨¤¼¸¢x 
£n¨¦ÇUP AÔUøPø¯z u¯õ›UPÄ®. 

ö£õÖ¨¦PÒ 2021 2022 ö\õzxUPÒ 2021 2022 

  ¹. ¹.   ¹. ¹. 

£[S ‰»uÚ® 8,000 8,500 {»® 5,000 5,000

»õ£ |èh PnUS 1,450 2,450 Bø»  2,400 3,400

Phß PhÚõÎPÒ 1,650 1,950

öPõkzuÁºPÒ 900 500 \μUS 900 700

Ah©õÚU Phß – 500 £n® 400 900

 10,350 11,950  10,350 11,950

19.  From the information below, prepare a cash budget for a 
company for April, May and June 2024 in a columnar 
form. 

Month Sales Purchases Wages Expenses

 Rs. Rs. Rs. Rs. 

Jan. (Actual) 80,000 45,000 20,000 5,000

Feb. (Actual) 80,000 40,000 18,000 6,000

March (Actual) 75,000 42,000 22,000 6,000

April (Budget) 90,000 50,000 24,000 6,000

May (Budget) 85,000 45,000 20,000 6,000

June (Budget) 80,000 35,000 18,000 5,000

 You are further informed that : 

 (a) 10% of sales and 20% of purchases are for cash. 

 (b) The average collection period of the company is one  
month and credit purchases are paid off regularly 
after one month. 

 (c) Wages are paid monthly  

 (d) Cash and bank balance on April 1 was $ 15,000 and 
the company aims to keep it below this figure at the 
end of every month. The excess cash is placed in 
fixed deposits. 
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 R÷Ç EÒÍ uPÁ¼¼¸¢x, J¸ {ÖÁÚzvØPõÚ H¨μÀ, ÷© 
©ØÖ® áüß 2024UPõÚ £n ÁμÄ ö\»Äz vmhzøu 
ö|kÁ›ø\ ÁiÁzvÀ u¯õº ö\´¯Ä®.  

©õu ÂØ£øÚ öPõÒ•uÀ Fv¯[PÒ ö\»ÄPÒ

 ¹. ¹. ¹. ¹. 

áÚ. (Actual) 80,000 45,000 20,000 5,000 

¤¨. (Actual) 80,000 40,000 18,000 6,000 

©õºa (Actual) 75,000 42,000 22,000 6,000 

H¨. (£möám) 90,000 50,000 24,000 6,000 

÷© (£möám) 85,000 45,000 20,000 6,000 

áüß (£möám) 80,000 35,000 18,000 5,000 

 ÷©¾® öu›ÂUP¨£mkÒÍuõÁx : 

 (A) 10% öPõÒ•uÀ ©ØÖ® 20% ÂØ£øÚ £nzvØPõP  

 (B) {ÖÁÚzvß \μõ\› Á`À Põ»® J¸ ©õu® ©ØÖ® 
Phß Áõ[SÁuÀPÒ J¸ ©õuzvØS¨ ¤ÓS öuõhº¢x 
ö\¾zu¨£k®.  

 (C)  Fv¯® ©õu¢÷uõÖ® ÁÇ[P¨£kQÓx. 

 (D) H¨μÀ 1 AßÖ öμõUP® ©ØÖ® Á[Q C¸¨¦  
$ 15,000 BP C¸¢ux, ÷©¾® JÆöÁõ¸ ©õuzvß 
•iÂ¾® Cøu C¢u GsoUøPUSU R÷Ç 
øÁzv¸¨£øu {ÖÁÚ® ÷|õUP©õPU öPõskÒÍx. 
AvP¨£i¯õÚ £n® {ø»¯õÚ øÁ¨¦PÎÀ 
øÁUP¨£kQÓx. 

20. Raj company Limited has prepared the following 
statement for the year ended 2013. 

 Sales (units)   15,000 

 Fixed expenses   Rs. 34,000 

 Sales    Rs. 1,50,000 

 Variable costs   Rs. 6 per unit 

 You are required to find the PV ratio, Break even point 
and margin of safety. 
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 μõä {ÖÁÚ® ¼ªöhm 2013 B® Bsk •iÁøh¢u 
BsiØPõÚ ¤ßÁ¸® AÔUøPø¯z u¯õ›zxÒÍx. 

 ÂØ£øÚ (A»SPÒ) 15,000 

 {ø»¯õÚ ö\»ÄPÒ  ¹. 34,000 

 ÂØ£øÚ   ¹. 1,50,000 

 ©õÔ ö\»ÄPÒ   ¹. 6 ³ÛmkUS 

 }[PÒ PV ÂQu®, •ÔÄ ¦ÒÎ ©ØÖ® £õxPõ¨¦ ÂÎ®¦ 
BQ¯ÁØøÓU PshÔ¯ ÷Ásk®. 

    
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. List the role of Common Language Runtime (CLR) in the 

.NET Framework. 

 .NET  Pmhø©¨¤À ö£õx ö©õÈ C¯UP ÷|μzvß (CLR) 

£[øP £mi¯¼hÄ®. 

2. What is a namespace in .NET? Give an example. 

 .NET CÀ ö£¯ºöÁÎ GßÓõÀ GßÚ? J¸ Euõμn® 

öPõk[PÒ. 

3. Differentiate between static and dynamic arrays in Visual 

Basic.NET. 

 Visual Basic.NET CÀ {ø»¯õÚ ©ØÖ® ©õÖ® 

Á›ø\PøÍ ÷ÁÖ£kzx[PÒ. 
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4. Write a simple VB.NET code snippet to check if a given 
number is even or odd using an if statement. 

 J¸ GÎ¯ VB.NET SÔ±k xqUøP GÊuÄ®,  
öPõkUP¨mh Gs Cμmøh¯õ AÀ»x JØøÓ¨£øh 

EÒÍuõ GÚ if AÔUøPø¯¨ £¯ß£kzv \›£õºUPÄ®. 

5. What is the purpose of using a Panel control in Windows 
Forms development. 

 Âs÷hõì £iÁ ÷©®£õmiÀ ÷£ÚÀ Pmk¨£õmøh¨ 
£¯ß£kzxÁuß ÷|õUP® GßÚ? 

6. List the difference between a List Box and a Combo Box 
control. 

 J¸ £mi¯À ö£mi ©ØÖ® J¸ Tmk ö£mi Pmk¨£õk 
Cøh÷¯ EÒÍ Âzv¯õ\zøu £mi¯¼k[PÒ. 

7. What is the purpose of the Global.asax file in ASP.NET 
applications?  

 ASP.NET £¯ß£õkPÎÀ Global.asax ÷Põ¨¤ß ÷|õUP® 
GßÚ? 

8. Quote the concept of State Management in ASP.NET. 

 ASP.NET CÀ ©õ{» {ºÁõPzvß P¸zøu ÷©Ø÷PõÒ 
PõmhÄ®. 

9. What are the advantages of using ADO.NET for data 
access in web applications? 

 CøÚ¯ £¯ß£õkPÎÀ uμÄ AqP¾US ADO.NET I¨ 
£¯ß£kzxÁuß |ßø©PÒ GßÚ? 
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10. Differentiate between a Data Table and a Data Row in 
ADO.NET.  

 ADO.NET CÀ uμÄ AmhÁøn ©ØÖ® uμÄ Á›ø\ø¯ 
÷ÁÖ£kzuÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b)  

11. (a) Write a note on Assemblies in the .NET Framework. 
Discuss the benefits of using assemblies. 

  .NET Pmhø©¨¤À Aö\®¤ÎPÒ £ØÔ¯ SÔ¨ø£ 
GÊuÄ®. Aö\®¤ÎPøÍ¨ £¯ß£kzxÁuß 
|ßø©PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Compare and contrast managed code and 
unmanaged code in .NET. 

  .NET CÀ {ºÁQUP¨£mh SÔ±k ©ØÖ® 
{ºÁQUP¨£hõu SÔ±møh J¨¤mk¨ £õºUPÄ®. 

12. (a) Write a VB.NET function that takes two numbers 
as input and returns their sum. 

  Cμsk GsPøÍ EÒÏhõP Gkzx AÁØÔß 

TmkzöuõøPø¯ ÁÇ[S® VB.NET ö\¯À£õmøh 
GÊuÄ®. 

Or 

 (b) Discuss the various ways to handle exceptions in 
VB.NET. 

  VB.NET. CÀ ÂvÂ»USPøÍU øP¯õÐ® £À÷ÁÖ 
ÁÈPøÍ¨ £ØÔ ÂÁõvUPÄ®. 
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13. (a) Describe various event handling techniques in 
Windows Forms applications. 

  Windows Forms £¯ß£õkPÎÀ £À÷ÁÖ {PÌÄ 
øP¯õÐuÀ ~m£[PøÍ ÂÁ›UPÄ®. 

Or 

 (b) Enumerate the advantages of using menus in 
Windows Forms applications. 

  Âs÷hõì £iÁ[PÒ £¯ß£õkPÎÀ ö©ÝøÁ¨ 
£¯ß£kzxÁuß |ßø©PøÍU PnUQk[PÒ. 

14. (a) Explain any three types of the web controls 
available in ASP.NET and provide an example of 
each. 

  ASP.NET CÀ QøhUS® H÷uÝ® ‰ßÖ ÁøP¯õÚ 
Cøn¯U Pmk¨£õkPøÍ ÂÍUPÄ®. 
JÆöÁõßÔØS® J¸ Euõμnzøu ÁÇ[PÄ®. 

Or 

 (b) Discuss the security consideration for web 
applications developed Using ASP.NET 

  ASP.NET. I¨ £¯ß£kzv E¸ÁõUP¨£mh Áø»¨ 
£¯ß£õkPÐUPõÚ £õxPõ¨¦U P¸zxPøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

15.  (a) Write a note on the concept of Data Binding in 
ADO.NET and its benefits. 

  ADO.NET CÀ ÷hmhõ ø£si[ P¸zx ©ØÖ® Auß 
£»ßPÒ SÔzx J¸ SÔ¨ø£ GÊuÄ®. 

Or 

 (b) Discuss the purpose of different data controls 
available in ADO.NET. 

  ADO.NET. CÀ QøhUS® £À÷ÁÖ uμÄU 
Pmk¨£õkPÎß ÷|õUPzøu¨ £ØÔ ÂÁõvUPÄ®. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the different components of the .NET Framework 

and their functionalities. 

 .NET Pmhø©¨¤ß £À÷ÁÖ TÖPÒ ©ØÖ® AÁØÔß 

ö\¯À£õkPøÍ ÂÍUS[PÒ. 

17. (a) Explain the looping statement in VB.NET. 

  VB.NET. CÀ ¿¨¤[ AÔUøPø¯ ÂÍUPÄ®. 

 (b) Write a comprehensive VB.NET program to 

calculate the factorial of a given number using a 

loop. 

 J¸ ¿¨ø£¨ £¯ß£kzx öPõkUP¨£mh Gsoß 

Põμo¯õUPzøuU PnUQh Â›ÁõÚ VB.NET {μø» 

GÊuÄ®. 

18. Describe various types of Windows controls with their 

properties and functionalities. 

 £À÷ÁÖ ÁøP¯õÚ Âs÷hõì Pmk¨£õkPøÍ AÁØÔß 
£s¦PÒ ©ØÖ® ö\¯À£õkPÐhß ÂÁ›UPÄ®. 

19. Explain the development process for creating a simple 

ASP.NET web page with user input and display 

functionalities. 

 £¯Úº EÒÏk ©ØÖ® Põm] ö\¯À£õkPÐhß 

GÎø©¯õÚ ASP.NET Áø»¨£UPzøu 

E¸ÁPõUSÁuØPõÚ ÷©®£õmk ö\¯À•øÓø¯ 
ÂÍUS[PÒ. 
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20. Write ADO.NET code to connect to a database, retrieve 
data from a specific table, and display it in a user 
interface. 

 J¸ uμÄzuÍzxhß CønUP ADO.NET SÔ±møh 
GÊuÄ®, J¸ SÔ¨¤mh AmhÁøn°À C¸¢x uμøÁ 
«möhkUPÄ®, Aøu J¸ £¯Úº Cøh•PzvÀ 
Põs¤UPÄ®.  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is the objective of the Factories Act, 1948? 
 öuõÈØ\õø»PÒ \mh®, 1948 Cß ÷|õUP® GßÚ? 

2. Define a “child” under the Factories Act, 1948. 

 öuõÈØ\õø»PÒ \mh®, 1948ß RÌ “SÇ¢øuø¯” 
Áøμ¯ÖUPÄ®. 

3. What is the definition of a Trade Union under the Trade 
Unions Act, 1926? 

 öuõÈØ\[P \mh®, 1926 Cß RÌ öuõÈØ\[Pzvß 
Áøμ¯øÓ GßÚ? 

4. What is the purpose of the general fund of a Trade 
Union? 

 öuõÈØ\[Pzvß ö£õx {v°ß ÷|õUP® GßÚ? 

5. Mention any two powers of a conciliation officer. 
 \©μ\ AvPõ›°ß H÷uÝ® Cμsk AvPõμ[PøÍU 

SÔ¨¤hÄ®. 

6. What is a strike as per the Industrial Disputes Act, 1947? 

 öuõÈÀ uPμõÖ \mh®, 1947ß £i ÷Áø»{Özu® GßÓõÀ 
GßÚ? 
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7. Explain the term ‘accident” as per the Workmen’s 
Compensation Act, 1923. 

 öuõÈ»õÍº CÇ¨¥mka \mh®, 1923ß £i “Â£zx” GßÓ 
ö\õÀø» ÂÍUSP. 

8. What is “employer’s liability” under the Workmen’s 
Compensation Act, 1923? 

 öuõÈ»õÍºPÎß CÇ¨¥mka \mh®, 1923 Cß RÌ 
“•u»õÎ°ß ö£õÖ¨¦” GßÓõÀ GßÚ? 

9. Define permanent disablement under the Employee’s 
Compensation Act. 

 £o¯õÍº CÇ¨¥mka \mhzvß RÌ {μ¢uμ FÚzøu 
Áøμ¯ÖUÄ®. 

10. What is partial disablement and how is it categorized? 
 £Sv FÚ® GßÓõÀ GßÚ? Ax GÆÁõÖ 

ÁøP¨£kzu¨£kQÓx. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Describe the provisions regarding the employment 
of young persons under the Factories Act, 1948. 

  öuõÈØ\õø»PÒ \mh®, 1948ß RÌ CøÍbºPÎß 
÷Áø» Áõ´¨¦ öuõhº£õÚ ÂvPøÍ ÂÁ›UPÄ®. 

Or 

 (b) What are the main provisions for the safety of 
workers under the Factories Act, 1948? 

  öuõÈØ\õø»PÒ \mh®, 1948ß RÌ öuõÈ»õÍºPÎß 
£õxPõ¨¤ØPõÚ •UQ¯ ÂvPÒ GßÚ? 

12. (a) What are the criteria for fixing minimum wages 
under the Minimum Wages Act, 1948? 

  SøÓ¢u£m\ Fv¯a \mh®, 1948ß RÌ SøÓ¢u£m\ 
Fv¯zøu {ºn°US® AÍÄ÷PõÀPÒ GßÚ? 

Or 

 (b) Describe the role and functions of advisory boards 
under the Minimum Wages Act, 1948. 

  SøÓ¢u£m\ Fv¯a \mh®, 1948ß RÌ B÷»õ\øÚ 
Áõ›¯[PÎß £[S ©ØÖ® ö\¯À£õkPøÍ 
ÂÁ›UPÄ®. 
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13. (a) Explain the composition and functions of the 
authorities under the Industrial Disputes Act,1947. 

  öuõÈÀ uPμõÖ \mh® 1947ß RÌ AvPõ›PÎß 
Aø©¨¦ ©ØÖ® ö\¯À£õkPøÍ ÂÍUSP. 

Or 

 (b) Describe the procedure for the reference of 
industrial disputes to arbitration. 

  öuõÈÀxøÓ uPμõÖPøÍ |kÁº ©ßÓzvÀ 
SÔ¨¤kÁuØPõÚ |øh•øÓø¯ ÂÁ›UPÄ®. 

14. (a) What are the conditions under which an employer is 
liable to pay compensation under the Workmen's 
Compensation Act, 1923? 

  öuõÈ»õÍº CÇ¨¥ka \mh®, 1923ß RÌ CÇ¨¥k 
ÁÇ[P ÷Ási¯ {£¢uøÚPÒ GßöÚßÚ? 

Or 

 (b) Differentiate between “temporary disablement” and 
“permanent disablement” under the Workmen’s 
Compensation Act, 1923. 

  öuõÈ»õÍºPÎß CÇ¨¥ka \mh®, 1923 Cß RÌ 
“uØPõ¼P FÚ®” ©ØÖ® “{μ¢uμ FÚ®” 
BQ¯ÁØÖUS® Cøh÷¯ EÒÍ ÷ÁÖ£õk. 

15.  (a) Discuss the compensation process for partial 
disablement and how the half-monthly payments 
are calculated. 

  £Sv FÚzvØPõÚ CÇ¨¥mk ö\¯À•øÓ ©ØÖ® 
Aøμ ©õu öPõk¨£ÚÄPÒ GÆÁõÖ 
PnUQh¨£kQßÓÚ Gß£øu¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Explain the provisions of the Provident Fund 
Scheme under the Employee’s Provident Fund  
Act, 1952. 

  £o¯õÍº Á¸[Põ» øÁ¨¦ {va \mh®, 1952ß RÌ 
Á¸[Põ» øÁ¨¦ {vz vmhzvß ÂvPøÍ ÂÍUSP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the various welfare measures provided for 
workers under the Factories Act, 1948. 

 öuõÈØ\õø»a \mh®, 1948ß RÌ öuõÈ»õÍºPÐUS 
ÁÇ[P¨£k® £À÷ÁÖ |»zvmh[PøÍ¨ £ØÔ 
ÂÁõvUPÄ®. 

17. Examine the process of fixing minimum wages under the 
Minimum Wages Act, 1948 and analyze its impact on the 
workforce. 

 SøÓ¢u£m\ Fv¯a \mh®, 1948ß RÌ SøÓ¢u£m\ 
Fv¯zøu {ºn°US® ö\¯À•øÓø¯ B´Ä ö\´x, 
öuõÈ»õÍºPÎß «x Auß uõUPzøu £S¨£õ´Ä 
ö\´²[PÒ. 

18. Discuss in detail the conditions precedent to 
retrenchment and the procedure for retrenchment under 
the Industrial Disputes Act, 1947. 

 BmSøÓ¨¦US •ß÷Úõi¯õÚ {£¢uøÚPÒ ©ØÖ® 
öuõÈÀ uPμõÖPÒ \mh®, 1947ß RÌ BmSøÓ¨¦ 
|øh•øÓPÒ £ØÔ Â›ÁõP ÂÁõvUPÄ®. 

19. Analyze the employer’s liability and the calculation of 
compensation for different types of disablement under the 
Workmen's Compensation Act, 1923. 

 öuõÈ»õÍºPÎß CÇ¨¥mka \mh®, 1923ß RÌ £À÷ÁÖ 
ÁøP¯õÚ FÚ•Ø÷Óõ¸UPõÚ CÇ¨¥miß PnURk ©ØÖ® 
•u»õÎ°ß ö£õÖ¨¦PøÍ £S¨£õ´Ä ö\´uÀ. 

20. Discuss the contribution scheme of the Provident Fund as 
per the Employee’s Provident Fund Act, 1952, including 
the employer’s and employee’s roles. 

 £o¯õÍº Á¸[Põ» øÁ¨¦ {va \mh®, 1952 Cß £i 
Á¸[Põ» øÁ¨¦ {v°ß £[PÎ¨¦z vmhzøu¨ £ØÔ 
ÂÁõvUPÄ®, AvÀ •u»õÎ ©ØÖ® £o¯õÍºPÎß 
£[SPÒ Ah[S®. 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is convention? 

 ©μ¦PÒ GßÓõÀ GßÚ? 

2. Define Trial balance. 

 C¸¨£õ´Ä–I Áøμ¯Ö. 

3. Write short note on double sided error? 

 C¸£UP ¤øÇPÒ–I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

4. What is suspense account? 

 AÚõ©zx PnUS GßÓõÀ GßÚ? 

5. State the any two causes of depreciation. 

 ÷u´©õÚzvØPõÚ C¸ Põμn[PøÍ TÖP. 

6. Define Depreciation. 

 ÷u´©õÚ®–I Áøμ¯Ö. 
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7. What is prepaid expense? 

 •ß Tmi÷¯ ö\¾zv¯ ö\»Ä GßÓõÀ GßÚ? 

8. Who is a drawer of a bill? 

 ©õØÖa^møh GÊx£Áº ¯õº? 

9. Write short note on average clause. 

 \μõ\› \μzx –I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

10. What is gross profit ratio? 

 ö©õzu C»õ£ ÂQu® GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Illustrate the features of double entry system. 

  Cμmøh¨ £vÄ •øÓ°ß ]Ó¨¤¯À¦PøÍ ÂÍUSP. 

Or 

 (b) Describe the need for journal and ledger. 

  SÔ¨÷£k, ÷£÷μkPÎß AÁ]¯zvøÚ ÂÍUSP. 

12. (a) List out the benefits of bank reconciliation 
statement. 

  Á[Q \›UPmk¨£mi¯¼ß |ßø©PøÍ £mi¯¼kP. 

Or 

 (b) Rectify the following errors : 

   (i) Purchase book overcast by Rs. 1,300 

  (ii) Sales book undercast by Rs. 2,500 

  (iii) Purchases return book overcast by Rs. 750 

  (iv) Sales return book undercast by Rs. 600 
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  RÌUPõq® ¤øÇPøÍz v¸zxP. 

   (i) öPõÒ•uÀ Hk ¹. 1,300 AvP©õPU 
Tmh¨£mkÒÍx. 

  (ii) ÂØ£øÚ Hk ¹. 2,500 SøÓÁõPU 
Tmh¨£mkÒÍx. 

  (iii) öPõÒ•uÀ v¸®£ Hk ¹. 750 AvP©õPU 
Tmh¨£mkÒÍx. 

  (iv) ÂØ£øÚ v¸¨£ Hk ¹. 600 SøÓÁõPU 
Tmh¨£mkÒÍx. 

13. (a) Identify the methods of providing depreciation. 

  ÷u´©õÚzøu ÁÇ[S® •øÓPøÍ Aøh¯õÍ® 
PõsP. 

Or 

 (b) A company purchased a machine for Rs. 50,000. The 
Useful life of the machine is 10 years and residual 
value is Rs. 10,000. Find out the rate of depreciation 
under straight line method. 

  J¸ {ÖÁÚ® J¸ C¯¢vμzøu ¹. 50,000–US 
Áõ[Q¯x. Auß E£÷¯õP•ÒÍ B²mPõ»® 10 
Á¸h[PÒ ©ØÖ® Auß «v ©v¨¦ ¹. 10,000. 
÷|º÷Põmk •øÓ°À ÷u´©õÚ ÂQuzøuU 
Psk¤iUPÄ®. 

14. (a) Prepare trading account of Archana for the year 
ending 31.12.96 from the following information : 
 Rs.  Rs. 

Opening stock 80,000 Purchase Returns 10,000

Purchases 8,60,000 Sales Returns 3,16,000

Freight Inward 52,000 Closing stock 1,00,000

Wages 24,000 Import duty 30,000

Sales 14,40,000
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x Aºa\Úõ Gß£Á¸US 
31.12.96 BP Â¯õ£õμ PnUøP u¯õº ö\´P. 

 ¹.  ¹. 

öuõhUP \μUQ¸¨¦ 80,000 öPõÒ•uÀ v¸¨£® 10,000
öPõÒ•uÀPÒ 8,60,000 ÂØ£øÚ v¸¨£®  3,16,000
EÒ \zu® 52,000 CÖv \μUQ¸¨¦ 1,00,000
T¼ 24,000 CÓUS©v Á› 30,000
ÂØ£øÚ 14,40,000

Or 

 (b) Distinguish between  trade bill and accommodation 
bill. 

  ÁõoP ©õØÖa^mkUS® ©ØÖ® £nÁ\v 
©õØÖa^mkUS® EÒÍ ÷ÁÖ£õkPøÍ TÖP. 

15.  (a) A trader has his stock insured against fire 
subsequently a fire destroys a part of the stock 
which was value on the date of the Rs. 60,000. The 
stock was insured subject to average clause stock 
salvages Rs. 12,000; stock was insured for  
Rs. 36,000. Calculate the claim. 

  J¸ Â¯õ£õ› uß \μUSPÐUS wUPõ¨¥k 
ö\´v¸¢uõº. ¤ß J¸ |õÒ w Â£zvÀ 

÷\u¨£kzu¨£mh \μUSPÒ ¹. 60,000 GÚ 
©v¨¤h¨£mhx. \μõ\› ÂQuõ\õμzvØS Em£mh 

Ca\μUQß J¸ £Sv Põ¨£õØÔ¯x. ¹. 12,000 \μUS 

Põ¨¥mkz öuõøP ¹. 36,000 wUPõ¨¥mk 
÷Põ›UøPø¯ PnUQkP. 

Or 

 (b) Summarize the purpose of Insurance. 

  Põ¨¥miß ÷|õUPzøu _¸UP©õP TÖP. 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Pass journal entries for the following transactions in the 

books of Kannan. 

2007  Rs. 

January 1 Kannan started business with 50,000

5 Bought goods for cash 30,000

7 Sold good for cash 25,000

10 Bought goods from Kalaimathi 20,000

12 Sold goods to Ravi 10,000

15 Paid salary 1,000

18 Dividend received 5,000

25 Paid rent  2,000

 RÌUPsh |hÁiUøPPÐUS Psnß Gß£Áº HmiÀ 
SÔ¨÷£mk¨ £vÄPøÍz u¸P. 

2007  ¹. 

áÚÁ› 1 Psnß öuõÈÀ öuõh[Q¯x 50,000

5 öμõUPzvØS öPõÒ•uÀ ö\´ux 30,000

7 öμõUPzvØS ÂØ£øÚ ö\´ux 25,000

10 Pø»©v°hª¸¢x ö£õ¸mPÒ Áõ[Q¯x 20,000

12 μÂUS ö£õ¸mPÒ ÂØÓx 10,000

15 \®£Í® öPõkzux 1,000

18 £[Põuõ¯® ö£ØÓx 5,000

25 ÁõhøP ö\¾zv¯x 2,000
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17. From the following information, prepare a bank 
reconciliation statement as on 31.3.2002. 

  Rs. 

(a) Balance as per cash book 12,500

(b) Cheques issued but not presented  
for payment 

9,000

(c) Cheques deposited in bank but not collected 12,000

(d) Bank paid insurance premium 5,000

(e) Interest on investment collected to bank 2,000

 RÌÁ¸® Â£μ® öPõsk AßÖ J¸ Á[Qa \›UPmk 
£mi¯ø» u¯õº ö\´P. 

  ¹. 

(A) öμõUP Hmiß C¸¨¦ 12,500

(B) AÎzu Põ÷\õø»PÒ ö\¾zxøPUS 
ÁμõuøÁ 

9,000

(C) Á[Q°À ö\¾zv¯ Põ÷\õø» 
Á`»õPõuøÁ 

12,000

(D) Á[Q ö\¾zv¯ Põ¨¥k •øÚ©® 5,000

(E) Á[Q Á`¼zu •u½kPÒ «x Ámi 2,000

18. ABC manufacturing company purchased on 1 April, 2010, 
Machinery for Rs. 4,50,000 and spent Rs. 50,000 on its 
installation. After having used it for three years it was 
sold for Rs. 3,85,000. Depreciation is to be provided every 
year at the rate of 15% per annum on the fixed 
installment method. Prepare machinery account and 
depreciation account for three years ends on 31st March 
every year. 
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 ABC u¯õ›¨¦ {ÖÁÚ® 1.4.2010 AßÖ ¹. 4,50,000 
©v¨¦ÒÍ C¯¢vμzøu Áõ[Q¯x. Aøu {ÖÄÁuØPõÚ 
ö\»Ä ¹. 50,000. ‰ßÖ BskPÒ £¯ß£kzu¨£mh 
¤ÓS AÆÂ¯¢vμ® ¹. 3,85,000US ÂØP¨£mhx. 
Bsk÷uõÖ® 15% Ãu® ÷u´©õÚ® {ø»z 
uÁøn•øÓ°À }UP¨£h ÷Ásk®. PnUPõsk ©õºa  
31 B® |õ÷Íõk •iÁuõPU P¸u C¯¢vμ PnUøP²®, 
÷u´©õÚ PnUøP²® u¯õº ö\´P. 

19. Explain the balance sheet differs from a Trial Balance. 
 J¸ C¸¨¦ {ø» SÔ¨¦ G[VÚ® C¸¨£õ´Â¼¸¢x 

÷ÁÖ£kQÓx. 

20. A fire occurred on the premises of a merchant on  
18th September, 2016 and a considerable part of the stock 
was destroyed. The value of the stock saved was  
Rs. 8,200. The books disclosed that on 1st April 2016 the 
stock was valued at Rs. 66,850, the purchases to the line 
of fire amounted to Rs. 1,85,000 and the sales to Rs. 
2,82,500. Goods costing Rs. 500 were taken for personal 
use and goods sold for Rs. 2,500 were returned to the 
merchant. On investigation it is found that during the 
past five years the average gross profit on the cost was 
25%. 

 You are required to prepare statement showing the 
amount the merchant should claim from the insurance 
company in respect of stock destroyed by fire. 

 18.9.2016 À w Â£zx HØ£mk ö£õ¸Ò ÷\u©øh¢ux ¹. 
8,200 ©v¨¦ ö£õ¸Ò «mP¨£mhÚ. 1.4.2016 \μUS ©v¨¦ 
¹. 66,850 Â£zx HØ£mh |õÒ Áøμ öPõÒ•uÀ ¹. 
1,85,000 ©ØÖ® ÂØ£øÚ ¹. 2,82,500 ö\õ¢u 
E£÷¯õPzvØS Gkzx ö\À»¨£mh ö£õ¸Ò ¹. 500 ©ØÖ® 
Â¯õ£õ›US v¸¨£¨£mh ö£õ¸Ò ¹. 2,500 Ph¢u 5 
BskPÎÀ \μõ\› ö©õzu »õ£ ÂQu® AhUP Âø»°À 
25%. 

 w°ÚõÀ HØ£mh Dk Põ¨¥k {ÖÁÚzvh® C¸¢x ö£Ó 
÷Ási¯ öuõøPø¯ PnUQkP.   

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is PDA? 
 øP¯hUPU PoÛ GßÓõÀ GßÚ? 

2. Expand ENIAC and EDVAC. 
 GÛ¯õU ©ØÖ® GmÁõU Â›ÁõUP® u¸P. 

3. What is MODEM? 
 CnUQ GßÓõÀ GßÚ? 

4. Give any two names of Architecture in computer network. 
 PoÛ Áø»¨¤ßÚÀ Pmhø©¨¤ß H÷uÝ® Cμsiß 

ö£¯ºPøÍU öPõk. 

5. What is Batch Processing? 
 £Sv ö\¯»õUP® GßÓõÀ GßÚ? 

6. Define – UNIX File System. 
 ²ÛUì ÷Põ¨¦ •øÓ – ÁøμÂ»UPn® u¸P. 
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7. What is File Security? 
 ÷Põ¨¦ £õxPõ¨¦ GßÓõÀ GßÚ? 

8. What is the function of move icon in Windows? 
 Âß÷hõì–ß |P¸® E¸ÁPzvß £o GßÚ? 

9. Define – Windows NT. 
 Âß÷hõì Gß.i– ÁøμÂ»UPn® u¸P. 

10. What is XP? 
 GUì.¤ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions,choosing either (a) or (b). 

11. (a)  How the computers are classified? 
  Po¨ö£õÔø¯ GÆÁõÖ ÁøP¨£kzu»õ®? 

Or 

 (b) Write any five storage devices of media. 
  uPÁÀ öuõhº¤ß H÷uÝ® I¢x ÷\ªUS® 

\õuÚ[PøÍ GÊxP. 

12. (a) What are the different types of Communication? 
  uPÁÀ öuõhº¤ß £À÷ÁÖ ÁøPPÒ ¯õøÁ? 

Or 

 (b) Give any five popular protocols in Network. 
  Áø»¨¤ßÚ¼ß H÷uÝ® I¢x ^ºªS 

ö|Ô•øÓPøÍ öPõk.  

13. (a) Write short notes on “Real Time Operating System”. 
  Esø©UPõ» C¯UP •øÓ £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) State the functions of an Operating System. 
  C¯UP•øÓ°ß £oPøÍU SÔ¨¤kP. 
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14. (a) Write a brief note on “Unix Operating Systems”. 

  ²ÛUì C¯UP•øÓ £ØÔ ]Ö SÔ¨¦ GÊxP. 

Or 

 (b) Briefly explain the need for file security. 

  ÷Põ¨¦ £õxPõ¨¤ß ÷uøÁø¯ _¸UQ GÊxP. 

15.  (a) Write short notes on “GUI”. 

  â.².I £ØÔ ]Ö SÔ¨¦ ÁøμP. 

Or 

 (b) List down the features of Windows 95. 

  Âs÷hõì 95 ß £s¦PøÍ Á›ø\¨£kzxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the components of a Modern Computer. 

 J¸ |ÃÚ Po¨ö£õÔ°ß Ai¨£øhU TÖPøÍ ÂÁõvUP. 

17. Describe the various types of Networks. 

 Áø»¨¤ßÚ¼ß £À÷ÁÖ ÁøPPøÍ ÂÍUSP. 

18. Explain the classification of operating system. 

 ö\¯Àußø© •øÓ°ß ÁøP¨£õkPøÍ ÂÍUSP. 

19. Explain in detail UNIX file system. 

 ²ÛUì ÷Põ¨¦ •øÓ°ß Â›ÁõP ÂÍUSP. 

20. Describe the salient features of XP. 

 GUì.¤ °ß ]Ó¨¦z ußø©PøÍ ÂÍUSP. 
 

—————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What do you mean by non-profit organization? 

 C»õ£ ÷|õUP©ØÓ {ÖÁÚ® GßÓõÀ GßÚ? 

2. Write short note on Legacy? 

 ©μ¦ £ØÔ¯ ]Ö SÔ¨ø£ GÊx[PÒ. 

3. What is average due date? 

 \μõ\› ö\¾zu ÷Ási¯ ÷uv GßÚ? 

4. What are the practical use of account current? 

 PnUS |h¨¤ß |øh•øÓ £¯ß£õk GßÚ? 

5. What is consignment? 

 \μUS GßÓõÀ GßÚ? 

6. How do you value abnormal loss of goods? 

 ö£õ¸mPÎß A\õuõμn CÇ¨ø£ GÆÁõÖ 
©v¨¤kQÕºPÒ? 

Sub. Code 
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7. What’s a joint bank account? 

 Tmk Á[QU PnUS GßÓõÀ GßÚ? 

8. Write short note on co-ventures. 

 Tmk •¯Ø]PÒ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®. 

9. What is single entry systems? 

 JØøÓ ~øÇÄ •øÓ GßÓõÀ GßÚ? 

10. What do you mean by conversion method? 

 ©õØÖ® •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions. choosing either (a) or (b) 

11. (a) From the following details : ascertain the amount of 
subscriptions to be credited to income and 
expenditure account for the year 1999. Subscription 
received in 1999 – Rs. 48,000 which include 
Rs.4,000 for 1998 and Rs. 8,000 for 2,000. 
Subscriptions due but not received at the end of the 
year 1999 were Rs. 20,000. Subscriptions received in 
1998 in advance for 1999 were Rs. 12,000 

  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x, 1999 B® BskUPõÚ 
Á¸©õÚ® ©ØÖ® ö\»ÂÚU PnUQÀ ÁμÄ 
øÁUP¨£h ÷Ási¯ \¢uõUPÎß AÍøÁU 
PshÔ¯Ä®. 1999 CÀ ö£Ó¨£mh \¢uõ ¹. 48,000. 
CvÀ 1998 B® BskUPõÚ ¹. 4,000 ©ØÖ® 
2000&UPõÚ ¹. 8,000 BQ¯øÁ Ah[S®. 1999 B® 
Bsiß CÖv°À ö£Ó¨£hÂÀø» ¹. 20,000. 1999 
B® BsiØPõÚ •ß£n©õP 1998 CÀ ö£Ó¨£mh 
\¢uõUPÒ ¹. 12,000 BS®. 

Or 
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 (b) Find out the amount of salaries to be debited to 
income and expenditure account for 1999 from the 
details given below? 

  Payments made for salaries during 1999 –  
Rs. 48,000 

  Outstanding salary as on 31-12-1998 – Rs. 2,000 

  Outstanding salary as on 31-12-1999 – Rs. 3,200 

  Prepaid salary as on 31.12.1998 – Rs. 1,200 

  Prepaid salary as on 31.12.1999 – Rs. 1,600 

  1999 B® BskUPõÚ Á¸©õÚ® ©ØÖ® ö\»ÄU 
PnUQÀ £ØÖ øÁUP¨£h ÷Ási¯ \®£Íz 
öuõøPø¯ R÷Ç öPõkUP¨£mkÒÍ ÂÁμ[PÎ¼¸¢x 
PshÔ¯Ä®. 

  1999 CÀ \®£ÍzvØPõP ö\´¯¨£mh £n®  
¹. 48,000 

  31-12-1998 AßÖ {¾øÁ°À EÒÍ \®£Í®  
¹. 2,000 

  31-12-1999 AßÖ {¾øÁ°À EÒÍ \®£Í®  
¹. 3,200 

  31-12-1998 AßÖ ¨Ÿö£´k \®£Í® ¹. 1,200 

  31-12-1999 AßÖ ¨Ÿö£´k \®£Í® ¹. 1,600 

12. (a) R owes S the following sums of money due from him 
on the dates stated 

  Rs. 300 due on March 9, 1993 

  Rs. 1,000 due on April 2, 1993 

  Rs. 4,000 due on April 30, 1993 

  Rs. 100 due on June 1, 1993 

  He wants to make the complete payment on  
30-6-93. Calculate interest at 5% p.a. with the help 
of Average due date method. 
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  SÔ¨¤mh ÷uvPÎÀ SUS AÁ›hª¸¢x 

Áμ÷Ási¯ ¤ßÁ¸® öuõøPPÒ R Phß£mkÒÍÚ. 

  ©õºa 9. 1993 AßÖ ö\¾zu ÷Ási¯ ¹. 300 

  H¨μÀ 2. 1993 AßÖ ö\¾zu ÷Ási¯ ¹. 1,000 

  H¨μÀ 30. 1993 AßÖ ö\¾zu ÷Ási¯ ¹. 4,000 

  áüß 1. 1993 AßÖ ö\¾zu ÷Ási¯ ¹. 100 

  AÁº 30&6&93 AßÖ •Ê¨ £nzøu²® ö\¾zu 

Â¸®¦QÓõº. Ámiø¯ 5% p.a. CÀ PnUQk[PÒ. 
\μõ\› {¾øÁz ÷uv •øÓ°ß EuÂ²hß. 

Or 

 (b) On 2.1.92. Gopal opened an account with Canara 
Bank depositing Rs. 5,000. His further deposits 
were : 20th Jan. Rs. 2,500; 20th March Rs. 3,000; 20th 
Maay Rs. 3,500; His withdrawasl were Rs. 6,000 on 
20th February; Rs. 5,000 on 20th April and Rs. 2,500 
on 20th June. Prepare the account current to be 
rendered by the bank for the period 30th June 1992 
charging interest at 5% p.a. on customer’s debit 
balance and 2% p.a. on customer’s credit balance. 

  2&1&92 AßÓ ÷Põ£õÀ PÚμõ Á[Q°À ¹. 5,000 
öh£õ]m ö\´x PnUS öuõh[QÚõº. AÁμx ÷©¾® 

øÁ¨¦zöuõøP : 20 áÚÁ› ¹. 2,500; ©õºa 20  

¹. 3,000; ÷© 20B® ÷uv ¹. 3,500; AÁº Gkzu 

£n® : ¹. ¤¨μÁ› 20 AßÖ 6,000; ¹. 5,000 H¨μÀ 
20 AßÖ ¹. áüß 20 AßÖ 2,500, 1992 B® 

Bsk áüß 30 B® ÷uv Áøμ 5% p.a.US Ámi 
Á`¼¨£uØS Á[Q¯õÀ ÁÇ[P¨£h ÷Ási¯ 
PnUøuz u¯õº ö\´¯Ä®. ÁõiUøP¯õÍ›ß £ØÖ 

C¸¨¦ ©ØÖ® 2% p.a. ÁõiUøP¯õÍ›ß Phß 
\©{ø»°À. 



S–7384 

  

  5

13. (a) Prem consigned 200 boxes of medicines Rs.100 per 
Box to Ram, He incurred the following expenses : 

  Insurance Rs. 1,000 

  Loading charges Rs.1,600 

  Freight Rs. 1,400 

  An account sales was received from Ram which 
showed that 160 boxes were sold @ Rs.200 per box. 
Ram incurred the following expenses: 

  Clearing charges Rs. 1000 

  Godown rent Rs. 400 

  Advertisement Rs, 600 

  Other selling expenses Rs. 1,000 

  Ascertain the value of stock on consignment and 
show also the relevant entry. 

  ¤÷μ® 200 ©¸¢x¨ ö£miPøÍ J¸ ö£miUS ¹. 
100 Ãuz μõªh® J¨£øhzuõº. AÁº ¤ßÁ¸® 
ö\»ÄPøÍa ö\´uõº : 

  Põ¨¥k ¹. 1,000 

  HØÖuÀ Pmhn® ¹. 1,600 

  \μUS ¹. 1,400 

  J¸ ö£miUS 200 ¹£õ´US 160 ö£miPÒ 
ÂØP¨£mhuõP μõªh® C¸¢x PnUS ÂØ£øÚ 
ö£Ó¨£mhx. μõ® ¤ßÁ¸® ö\»ÄPøÍa ö\´uõº. 

  wºÄ Pmhn® ¹. 1,000 

  S÷hõß ÁõhøP ¹. 400 

  ÂÍ®£μ® ¹. 600 

  ©ØÓ ÂØ£øÚ ö\»ÄPÒ ¹. 1,000 

  \μUSPÎÀ EÒÍ £[Qß ©v¨ø£U PshÔ¢x, 
öuõhº¦øh¯ EÒÏmøh²® PõmhÄ®. 

Or 
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 (b) Balan consigned 100 packets of cosmetics each 
costing Rs. 300 to his agent at Mumbai He paid  
Rs. 500 towards freight and insurance. 15 packets 
were destroyed by fire on the way. Consignee took 
delivery of the remaining and spent Rs. 700 as 
godown rent Rs. 1,000 import duty and Rs. 300 as 
carriage outwards. Calculate the value of abnormal 
loss.  

  £õ»ß 100 AÇS\õuÚ¨ ö£õmh»[PÒ JÆöÁõßÖ® 
¹. 300 Âø»°À •®ø£°À EÒÍ uÚx 
Höásih® J¨£øhzuõº. AÁº \μUS ©ØÓ® 
Põ¨¥mkUPõP ¹. 500 ö\¾zvÚõº. ÁÈ°À 15 
£õUöPmkPÒ w°À G›¢x |õ\©õÚx. \μUSuõμº 
«u•ÒÍÁØøÓ öh¼Á› ö\´x, ¹. 700 S÷hõß 
ÁõhøP¯õPÄ®. ¹. 1,000 CÓUS©v Á›¯õPÄ®. ¹. 
300 öÁÎ÷¯ Ási¯õP ö\»ÁÈzuõº. A\õuμõn 
CÇ¨¤ß ©v¨ø£U PnUQk[PÒ.  

14. (a) K and J were partners in a joint venture sharing 
profits and losses in the proportion of 3/5 and 2/5 
respectively ‘K’ supplied goods to the value of  
Rs. 10,000 and paid Rs. 500 as freight. ‘J’ also 
supplied goods to the value of Rs. 8.000 and 
incurred Rs. 400 towards freight. ‘J’ sells the entire 
stock of goods for Rs,25,000. J is also entitled to a 
commission of 5 % on Sales. J settles his accounts by 
a cheque. Write necessary journal entries and edger 
accounts. using memorandum method. 

  ‘K’ ©ØÖ® ‘Y’ BQ÷¯õº •øÓ÷¯ 3/5 ©ØÖ® 2/5 
GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ¨ £Qº¢x 
öPõÒÐ® Tmk •¯Ø]°À £[SuõμºPÍõP 

C¸¢uÚº. ‘K’ ¹. 10,000 ©v¨¤»õÚ ö£õ¸mPøÍ 

\¨øÍ ö\´x ¹. 500 \μUS ö\¾zv¯x. ‘J’ 
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{ÖÁÚ•® ¹. 8,000 ©v¨¤»õÚ ö£õ¸mPøÍ 

\¨øÍ ö\´x ¹. \μUSUS 400, ‘J’ ö©õzu¨ 

ö£õ¸mPøÍ²® ¹. 25,000US ÂØQÓx. J 

ÂØ£øÚ°À 5% PªåÝUS® E›ø© Esk. J uÚx 
PnUSPøÍ J¸ Põ÷\õø» ‰»® wºUQÓõº. 
ö©÷©õμõsh® •øÓø¯¨ £¯ß£kzv¨ £¯ß£kzv, 
÷uøÁ¯õÚ áºÚÀ EÒÏkPÒ ©ØÖ® ö»máº 
PnUSPøÍ GÊuÄ®.  

Or 

 (b) B, V and S entered into a joint venture of a contract 
Rs. 1,00,000 is the contract price Rs, 40.000.  
Rs. 20,000 and  Rs. 20,000 were invested by B.V and 
S respectively and a Joint Bank a/c was opened. 
They purchased materials for Rs.60,000, Architect 
fees of Rs. 1,000 was paid by B and V paid for 
sundry expenses Rs. 2,000 and S paid Rs. 4,000 for 
Cement. The contract was duly carried out. All the 
transactions were done through Joint Bank A/c. 
Give necessary ledger accounts. 

  B, V ©ØÖ® S  J¸ J¨£¢uzvß Tmk •¯Ø]°À 
~øÇ¢ux. ¹. 1,00,000 Gß£x J¨£¢u Âø»  

¹. 40,000, ¹. 20,000 ©ØÖ® ¹. 20,000 •øÓ÷¯ B, 

V ©ØÖ® S ‰»® •u½k ö\´¯¨£mhx ©ØÖ® J¸ 

Tmk Á[Q a/c vÓUP¨£mhx. AÁºPÒ ¹. 60,000US 
ö£õ¸mPøÍ Áõ[QÚõºPÒ. PmihU 

Pø»bºPÐUPõÚ Pmhn® ¹. 1,000 B ©ØÖ® V  
£À÷ÁÖ ö\»ÄPÐUS ¹. 2,000 ©ØÖ® Gì 
]ö©siØS ¹. 4,000 ö\¾zvÚõº. J¨£¢u® 
•øÓ¯õP {øÓ÷ÁØÓ¨£mhx. AøÚzx 

£›ÁºzuøÚPÐ® Tmk Á[Q A/C ‰»® 
ö\´¯¨£mhÚ. ÷uøÁ¯õÚ ö»máº PnUSPøÍ 
öPõk[PÒ. 
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15.  (a) From the following particulars find out net credit 
Purchases. 

  Opening balance of sundry creditors Rs. 40,000 

  Payment by cheques Rs. 2,35,000 

  Payment by bills payable Rs. 25,000  

  Payment in cash Rs. 5,000 

  Discount received Rs 2,500 

  Purchase returns Rs 5,000 

  Closing balance of sundry creditors 47,500 
  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x {Pμ Phß öPõÒ•uÀ 

PshÔ¯Ä®. 

  £À÷ÁÖ PhÚõÎPÎß öuõhUP C¸¨¦ ¹, 40,000 

  Põ÷\õø»PÒ ‰»® £n® ¹, 2,5,000 

  ¹, 25,000 ö\¾zu ÷Ási¯ ¤ÀPÒ ‰»® 
ö\¾zxuÀ 

  ¹, 5,000 öμõUP©õP ö\¾zxuÀ 

  ¹, 2,500 uÒÐ£i Qøhzux 

  öPõÒ•uÀ v¸¨£® ¹, 5,000 

  £À÷ÁÖ Phß ÁÇ[S£ÁºPÎß CÖv C¸¨¦  
¹, 47,500 

Or 

 (b) From the following details, find out the net credit 
sales for the year: 

  Opening balance of sundry debtors (Dr.) Rs. 20,000 
  Cheque collection during the year Rs. 1,80.000 
  Cash collection during the year Rs, 25,000 
  B / R received during the year Rs.5,000 
  Closing balance of’ sundry debtors (Dr.) Rs. 24,000 
  Bad debts written off Rs.2,500 
  Discount allowed Rs. 1,000 
  Goods returned by customers Rs. 2,500 
  Cheque dishonoured Rs.500 
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  ¤ßÁ¸® ÂÁμ[PÎ¼¸¢x BsiØPõÚ {Pμ Phß 
ÂØ£øÚø¯U PshÔ¯Ä®. 

  £À÷ÁÖ PhÚõÎPÎß öuõhUP C¸¨¦ (£)  
¹, 20,000 

  Põ÷\õø» ÷\P›¨¦ BsiÀ ¹. 1,80,000 

  BsiÀ ¹. 25,000 £n Á`À 

  B/R BsiÀ ö£Ó¨£mh ¹. 5,000 

  £À÷ÁÖ PhÚõÎPÎß CÖv C¸¨¦ (hõUhº)  
¹. 24,000 

  ÁõμõU PhßPÒ ¹. 2,500 uÒÐ£i 

  uÒÐ£i AÝ©vUP¨£mh ¹. 1,000 

  ÁõiUøP¯õÍºPÒ v¸®¤¯ ö£õ¸mPÒ ¹. 2,500 

  Põ÷\õø» ©v¨¤Ç¢u ¹. 500 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Discuss the difference between Receipts and Payments 
account and income and expenditure account. 

 μ^x ©ØÖ® £n® ö\¾zxuÀ a/c ©ØÖ® Á¸©õÚ® ©ØÖ® 
ö\»Ä a/c BQ¯ÁØÖUS Cøh÷¯ EÒÍ Âzv¯õ\zøu¨ 
£ØÔ ÂÁõvUPÄ®. 

17. The following amounts are due to Ezhil by Sathya. 
Sathya wants to pay off. Interest rate of 8% per annum is 
taken into consideration. Find the amount to be paid on 
14-7.97. 

Due Date Rs. 

10-01-97 1,000

26-01-97 (Republic day) 2,000

23-03-97 6,000

18-08-97 (Sunday) 8,000
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 ¤ßÁ¸® öuõøPPÒ \z¯õÂß GÈÀ ö\¾zuu ÷Ásk®. 
\z¯õ £n® ö\¾zu Â¸®¦QÓõº. BskUS 8% Ámi 
ÂQu® P¸zvÀ öPõÒÍ¨£kQÓx. 14.07.97 AßÖ ö\¾zu 
÷Ási¯ öuõøPø¯U PshÔ¯Ä®. 

ö\¾zu ÷Ási¯ ¹, 

10-01-97 1,000 

26-01-97 (Si¯μ_ vÚ®) 2,000 

23-03-97 6,000 

18-08-97 (bõ°Ö) 8,000 

18. Sankar sends 20,000 units @ Rs, 50 to Sunil on 1-1-99 to 
be sold at a commission of 7.5%. 5% goods were lost in 
transit and it is considered normal. The consignor spent 
the following expenses: 

 Packing expenses @ Rs. 2 per case (Cash) 

 Freight Rs. 1,000 (due) 

 Insurance Rs. 6,000 (Bank) 

 The consignee received the balance consignment and sent 
a cheque of Rs. 2,00,000 as advance. He incurred  
Rs. 8,000 as loading charges and Rs, 36,000 as selling and 
distribution expenses. He submitted an account sales on 
31-3-99 disclosing that 14,000 units were sold @  
Rs. 80 per unit, Assuming the consignee sent draft for 
balance you are required to prepare, the necessary ledger 
accounts in the books of both the parties.  

 \[Pº 20,000 ³ÛmPÒ @ ¹. 50US 1.1.99 AßÖ 7.5% 

PªåÛÀ ÂØP¨£k®. ÷£õUSÁμzvÀ 5% ö£õ¸mPÒ 
öuõø»¢xÂmhÚ. Ax \õuõμn©õP P¸u¨£kQÓx. 
AÝ¨¦|º ¤ßÁ¸® ö\»ÄPøÍa ö\»Âmhõº. 

 ÷£UQ[ ö\»ÄPÒ @ ¹. 2 J¸ ÁÇUSUS (£n®) 

 \μUS ¹. 10,000 (Pmhn®) 

 Põ¨¥k ¹. 6,000 (Á[Q 
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 \μUSuõμº «u•ÒÍ \μUSPøÍ ö£ØÖUöPõshõº. ¹. 50 
Põ÷\õø»ø¯ AÝ¨¤Úõº. •ß£n©õP ¹. 2,00,000 AÁº 
¹. 8,000 CÓUS® Pmhn® ©ØÖ® ¹. 36,000 ÂØ£øÚ 
©ØÖ® Â{÷¯õP ö\»ÄPÒ AÁº 31.3.99 AßÓ J¸ 
PnUS  ÂØ£øÚø¯ \©º¨¤zuõº. 14,000 ³ÛmkPÒ @ 
¹. 80 J¸ ³Ûm C¸¨¦z öuõøPUPõÚ \μUSuõμº 
AÝ¨¤¯ Áøμ÷Áõø» øÁzx, C¸ uμ¨¦ ¦zuP[PÎ¾® 
÷uøÁ¯õÚ ö»máº PnUSPøÍz u¯õº ö\´¯ ÷Ásk®. 

19. Vaani and Raani entered into a joint venture of a contract 
and their share of profit or loss 3:2. The contract price is 
Rs.80,000, Vaani and Raani were contributed amount of 
Rs,45,000 and Rs, 40,000 respecively. They purchased 
materials for Rs. 74,000 and wages paid Rs. 52,000. The 
materials were sold for Rs.70,000. Raani took over the 
unused materials at Rs. 2,000. The contract was 
completed. Give necessary accounts. 

 Áõo & μõo J¸ J¨£¢uzvß Tmk •¯Ø]°À 
~øÇ¢uÚº ©ØÖ® AÁºPÎß »õ£® AÀ»x |èhzvß 
£[S 3:2 J¨£¢u Âø» ¹. 80,000, Áõo ©ØÖ® μõoUS 
•øÓ÷¯ ¹. 45,000 ©ØÖ® ¹. 40,000 ÁÇ[P¨£mhx. ¹. 
74,000US ö£õ¸mPÒ Áõ[QÚõºPÒ. T¼ ¹. 52,000 
öPõkzuÚº. ö£õ¸mPÒ ¹. 70,000US ÂØP¨£mhÚ. 
£¯ß£kzuõu ö£õ¸mPøÍ ¹. 2,000US μõo 
øP¯P¨£kzvÚõº. J¨£¢u® •i¢ux ÷uøÁ¯õÚ 
PnUSPøÍ öPõk[PÒ.  

20. Prepare Bills payable a/c and Total creditors a/c 

 Opening Balance or B.P. Rs. 5,000 

 Opening Balance of Creditors Rs. 6,000 

 Closing Balance of B,P. Rs. 7,000 

 Closing Balance of Creditors Rs.4,000 

 Cash paid to Creditors Rs. 30,200 

 B.P. paid Rs. 8,900 

 Returns outwards Rs. 1,200  
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 ö\¾zu ÷Ási¯ a/c ©ØÖ® ö©õzu PhÜ¢÷uõº a/c 

 B, P Cß öuõhUP C¸¨¦ ¹. 5,000 

 PhÚõÎPÎß öuõhUP C¸¨¦ ¹. 6,000 

 B, P Cß CÖv C¸¨¦ ¹. 7,000 

 PhÚõÎPÎß CÖv C¸¨¦ ¹. 4,000 

 PhÚõÎPÐUS ÁÇ[P¨£k® öμõUP® ¹. 30,200 

 ¤.ö\. ¹. 8,900 ö\¾zvÚõº 

 ¹. 1,200 öÁÎ°À v¸®¦®.  

———————— 



  

S–7385   

B.Com. (CA) DEGREE EXAMINATION, APRIL 2025 

Second Semester 

Commerce with Computer Applications 

OFFICE AUTOMATION 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is a computer? 

 PoÛ GßÓõÀ GßÚ? 

2. What is meant by ALU? 

 ALU GßÓõÀ GßÚ? 

3. What are the uses of Microsoft Word? 

 ø©U÷μõ\õL¨m ÷Áºiß £¯ßPÒ GßÚ? 

4. What are the methods to open an existing document? 

 HØPÚ÷Á EÒÍ BÁnzøuz vÓ¨£uØPõÚ ÁÈ•øÓPÒ 
GßÚ? 

5. What is Microsoft Excel? 

 ø©Uμõ\õL¨m GUö\À GßÓõÀ GßÚ? 

6. What is cell address in Ms Excel? 

 Ms Excel CÀ ö\À •PÁ› GßÓõÀ GßÚ? 
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7. How many types of databases are there in MS Access? 

 MS AqP¼À GzuøÚ ÁøP¯õÚ uμÄz uÍ[PÒ EÒÍÚ? 

8. What are the major components of MS Access? 

 MS AqP¼ß •UQ¯ TÖPÒ ¯õøÁ? 

9. What is PowerPoint? Why is it used? 

 PowerPoint GßÓõÀ GßÚ? Ax Hß 
£¯ß£kzu¨£kQÓx? 

10. Which shortcut key is used to start and exit from the 
slideshow? 

 G¢u åõºPm Rø¯ ìø»k÷åõÂÀ C¸¢x öuõh[PÄ® 
öÁÎ÷¯ÓÄ® £¯ß£kQÓx? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) Explain the components of computers. 

  PoÛPÎß TÖPøÍ ÂÍUS[PÒ. 

Or 

 (b) State the difference between computers and human 
beings. 

  PoÛPÐUS® ©ÛuºPÐUS® EÒÍ ÷ÁÖ£õmøhU 
SÔ¨¤hÄ®. 

12. (a) Write the steps to be followed to print a document in 
MS Word. 

  MS Word CÀ J¸ BÁnzøu Aa]h ¤ß£ØÓ 
÷Ási¯ £iPøÍ GÊuÄ®. 

Or 
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 (b) Write the keyboard shortcuts for the following 
actions in MS Word. 

S.No. Action 

1 Cut 

2 Copy 

3 Paste 

4 Undo 

5 Redo 

  ¤ßÁ¸® MS Word ö\¯ÀPÐUPõÚ Âø\¨£»øP 
SÖUS ÁÈPøÍ GÊuÄ®. 

S.No. ö\¯À 

1 öÁmk 

2 JmhÄ® (Copy) 

3 JmhÄ® (Paste) 

4 ö\¯ÀuÂº 

5 «sk® ö\´ 

13. (a) Explain the benefits of using MS Excel. 

  MS Excel I¨ £¯ß£kzxÁuß |ßø©PøÍ 
ÂÍUS[PÒ. 

Or 

 (b) Write short note on Excel formula. 

  GUö\À `zvμzvÀ ]Ö SÔ¨ø£ GÊuÄ®. 

14. (a) What are the uses of MS Access? 

  MS AqP¼ß £¯ßPÒ GßÚ? 

Or 

 (b) State the disadvantages of MS Access. 

  MS AqP¼ß wø©PøÍU SÔ¨¤hÄ®. 
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15.  (a) Write note on adding symbols in MS PowerPoint. 

  MS PowerPoint CÀ SÔ±kPøÍa ÷\º¨£x £ØÔ¯ 
SÔ¨ø£ GÊuÄ®. 

Or 

 (b) How to use PowerPoint to create a presentation? 

  ÂÍUPUPõm]ø¯ E¸ÁõUP PowerPoint I GÆÁõÖ 
£¯ß£kzxÁx? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Describe the advantages and disadvantages of computers. 

 PoÛPÎß |ßø©PÒ ©ØÖ® wø©PøÍ ÂÁ›UPÄ®. 

17. Explain the methods of insert a table in a word document. 

 ÷Áºm BÁnzvÀ AmhÁønø¯a ö\¸SÁuØPõÚ 
•øÓPøÍ ÂÍUS[PÒ. 

18. Explain the different types of charts in MS Excel. 

 MS Excel CÀ EÒÍ £À÷ÁÖ ÁøP¯õÚ ÂÍUP¨£h[PøÍ 
ÂÍUPÄ®. 

19. Explain the components of MS Access. 

 MS AqP¼ß TÖPøÍ ÂÍUSP. 

20. Highlight the key benefits of PowerPoint. 

 PowerPoint Cß •UQ¯ |ßø©PøÍ 
•ßÛø»¨£kzuÄ®. 

–––––––––– 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define the term Management. 

 ÷©»õsø© GßÓ ö\õÀø» Áøμ¯ÖUPÄ®. 

2. Write a note on “Management is Art as well as Science”. 

 “{ºÁõP® Gß£x Pø»²® AÔÂ¯¾®” GßÓ uø»¨¤À 
SÔ¨ø£ GÊuÄ®. 

3. Define Decision-making. 

 •iöÁkzuÀ – Áøμ¯ÖUPÄ®. 

4. What is planning? 

 vmhªhÀ GßÓõÀ GßÚ? 

5. Write short note on formal organisation. 

 •øÓ¯õÚ Aø©¨¦ £ØÔ¯ ]Ö SÔ¨ø£ GÊuÄ®. 

6. What is Departmentation? 

 xøÓ GßÓõÀ GßÚ? 
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7. List out any four motivation tools that a business 
enterprise can adopt to motivate its Employees. 

 ÁoP {ÖÁÚ® uÚx FÈ¯ºPøÍ FUSÂUP 
£¯ß£kzx® |õßS FUP‰mk® P¸ÂPøÍ £mi¯¼kP. 

8. What is meant by motivation? State it’s importance. 

 FUP¨£kzxÁx GßÓõÀ GßÚ? Auß •UQ¯zxÁzøu 
TÖP. 

9. What does PERT and CPM stands for? 

 PERT ©ØÖ® CPM I Â›ÁõUSP. 

10. What is the need for budgetary control? 

 £möám Pmk¨£õmiß AÁ]¯® GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all the questions, choosing either (a) or (b). 

11. (a) Distinguish between Administration and 
Management. 

  {ºÁõP® ©ØÖ® ÷©»õsø© ÷ÁÖ£kzxP. 

Or 

 (b) Write the functions of management. 

  ÷©»õsø©°ß ö\¯À£õkPøÍ GÊxP. 

12. (a) Explain the characteristics of good decision. 

  ]Ó¢u •iöÁkzuÀ¼ß ußø©ø¯ ÂÍUSP. 

Or 

 (b) What are the characteristics of planning? 

  vmhªh¼ß A®\[PÒ GßÚ? 
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13. (a) How to measure the effectiveness of delegation? 

  ¤μv{vzxÁzvß ö\¯ÀvÓøÚ GÆÁõÖ AÍÂkÁx? 

Or 

 (b) Write the stages involved in selection procedure. 

  ÷uºÄ ö\¯À•øÓ°À EÒÍ {ø»PøÍ £ØÔ GÊxP. 

14. (a) Describe  the Herzberg’s Two Factor theory of 
motivation.  

  E¢xuÀ £ØÔ¯ öíºìö£ºUQß Cμsk PõμoU 
÷Põm£õmøh ÂÁ›UPÄ®. 

Or 

 (b) List out the elements of communication. 

  uPÁÀ öuõhº¦ TÖPøÍ £mi¯¼kP. 

15.  (a) Write down the steps in control process. 

  Pmk¨£õmk ö\¯À•øÓ°ß £iPøÍ GÊxP. 

Or 

 (b) What are the types of managerial control? 

  ÷©»õsø© Pmk¨£õkPÎß ÁøPPÒ GßÚ? 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Explain the “Henry Fayol” principles of management. 

 “öíßÔ L£÷¯õÀ” {ºÁõPzvß öPõÒøPPøÍ ÂÍUSP. 

17. Discuss the steps involved in managerial planning. 

 {ºÁõPz vmhªh¼À EÒÍ £iÛø»PÒ £ØÔ Â›ÁõP 
GÊxP. 
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18. Write the various types of departmentation. 

 £À÷ÁÖ xøÓ©¯©õUPÀ/¤›ÄPÍõUPÀ ÁøPPøÍ GÊxP. 

19. Explain Maslow’s theory. 

 ©õì÷»õÂß ÷Põm£õmøh £ØÔ ÂÁ›. 

20. Briefly explain the importance of control. 

 Pmk¨£õmiß •UQ¯zxÁzøu _¸UP©õP ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define partnership. 

 Tmhõsø©ø¯ Áøμ¯ÖUÄ®. 

2. Write a note on capital ratio. 

 ‰»uÚ ÂQuzvÀ J¸ SÔ¨ø£ GÊx[PÒ. 

3. What is Hidden goodwill? 

 ©øÓ•P |Øö£¯º GßÓõÀ GßÚ? 

4. What is adjustment of capitals? 

 \› Pmh¨£mh •uÀ GßÓõÀ GßÚ? 

5. What is gaining ratio? 

 Buõ¯ ÂQu® GßÓõÀ GßÚ? 

6. What is surrender value? 

 J¨£øh¨¦ ©v¨¦ GßÓõÀ GßÚ? 
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7. What is Garner Vs Murray Rule? 

 PõºÚº Vs •º÷μ Âv GßÓõÀ GßÚ? 

8. What is dissolution of partnership? 

 Tmhõsø© Pø»¨¦ GßÓõÀ GßÚ? 

9. What is piecemeal distribution? 

 £Sv Â{÷¯õP® GßÓõÀ GßÚ? 

10. What is proportionate capital method? 

 ÂQuõ\õμ ‰»uÚ •øÓ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) A, B and C were partners in a firm. The Net profit of 
the firm for the year ended 31-3-2022 was Rs. 
30,000 which has been fully distributed among the 
partners in agreed ratio of 3 : 1 : 1 respectively. It is 
discovered on 10-4-22 that the following 
transactions were not passed through the books of 
account of the firm for the year ended 31-3-2022.  

  (i)  Interest on Capital at 6%. The capital of  
A, B and C being Rs. 50,000. Rs. 40,000 and 
Rs. 30,000 respectively.  

  (ii)  Interest on drawings: A – Rs. 350; B – Rs. 250;  
C – Rs. 150. 

  (iii) Partners Salary A – Rs. 5,000, B – Rs. 7,500.  

  (iv)  Commission due to A – Rs. 3,000. You are 
required to give a Single Journal entry to be 
made or: 10-4-22 which will not affect the 
Profit and Loss Account of the firm. 



S–7387 

  

  3

  A, B ©ØÖ® C J¸ {ÖÁÚzvÀ £[SuõμºPÍõP 
C¸¢uÚº. 31-3-2022 CÀ •iÁøh¢u BsiÀ 
{ÖÁÚzvß {Pμ »õ£® ¹. 30,000 •øÓ÷¯ 3 : 1 : 1 
GßÓ J¨¦UöPõÒÍ¨£mh ÂQuzvÀ 
£[SuõμºPÎøh÷¯ •Êø©¯õP 
Â{÷¯õQUP¨£mhx. 31-3-2022 B® Bsk 
•iÁøh¢u BsiØPõÚ {ÖÁÚzvß PnUQß 
‰»® ¤ßÁ¸® £›ÁºzuøÚPÒ AÝ¨£¨£hÂÀø» 
Gß£x 10-4-22 AßÖ PshÔ¯¨£mhx.  

  (i)  ‰»uÚzvß «uõÚ Ámi 6%. A, B ©ØÖ® C 
BQ¯ÁØÔß ‰»uÚ® ¹. 50,000. ¹. 40,000 
©ØÖ® ¹.  30,000.  

  (ii)  Gk¨¦PÒ «uõÚ Ámi : A – ¹. 350; B – ¹. 250;  
C – ¹. 150. 

  (iii) £[SuõμºPÎß \®£Í® A – ¹. 5,000,  
B – ¹.  7,500.  

  (iv)  A – ¹. 3,000. 10-4-22 ÷uvUS }[PÒ J¸ 
JØøÓ SÔ¨÷£k £vÄ ö\´¯ ÷Ásk®, Cx 
{ÖÁÚzvß »õ£® ©ØÖ® |mh PnUøP¨ 
£õvUPõx. 

Or 

 (b) X and Y are partners sharing profits in the ratio of  
3 : 2. From 1st January 2022, they admit Z into 
partnership giving his 1/5th share of the profits with 
a guarantee of Rs. 12,000 minimum. X and Y as 
between themselves continued to share profits as 
before. Profits of the firm for 2022 were Rs. 48,000. 
Determine the profits of X, Y and Z. 

  X ©ØÖ® Y BQ¯øÁ 3 : 2 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÒ. áÚÁ› 
1, 2022 •uÀ SøÓ¢u£m\® ¹. 12,000 
EzuμÁõuzxhß »õ£zvÀ 1/5 £[øPU öPõkUS® 
TmkUS Z I J¨¦UöPõÒQÓõºPÒ. X ©ØÖ® Y 
u[PÐUS Cøh÷¯ C¸¢u£i÷¯ »õ£zøu¨ £Qº¢x 
öPõshÚº.  
2022 CÀ {ÖÁÚzvß »õ£® ¹. 48,000. X, Y ©ØÖ® 
Z Cß »õ£zøu wº©õÛUP. 



S–7387 

  

  4

12. (a) Raj and Raghu are partners in a firm sharing 
profits and losses in the ratio of 3 : 2. They admit 
Khaja into the firm for 1/5th share. Khaja acquires 
his share from Raj and Raghu in the ratio of 2 : 3. 
The goodwill of the firm has been valued at  
Rs. 50,000, Khaja brings in Rs. 1,20,000 through 
cheque, as his share of capital but is unable to bring 
in the necessary amount for his share of firm’s 
goodwill. Pass journal entries. 

  μõä ©ØÖ® μS 3 : 2  GßÓ ÂQuzvÀ C»õ£ 
|èh[PøÍ¨ £Qº¢x öPõÒÐ® {ÖÁÚzvÀ 

£[SuõμºPÍõP EÒÍÚº. AÁºPÒ 1/5 £[SUS 
PõáõøÁ {ÖÁÚzvÀ ÷\ºUQÓõºPÒ. Põáõ uÚx 

£[øP μõä ©ØÖ® μSÂh® C¸¢x 2 : 3 GßÓ 
ÂQuzvÀ Áõ[SQÓõº. {ÖÁÚzvß |ß©v¨¦  

¹.  50,000 GÚ ©v¨¤h¨£mkÒÍx, Põáõ uÚx 

‰»uÚ¨ £[PõP ¹. 1,20,000 Põ÷\õø» ‰»® 
öPõsk Á¸QÓõº, BÚõÀ {ÖÁÚzvß |Øö£¯º 
£[QØSz ÷uøÁ¯õÚ öuõøPø¯U öPõskÁμ 
•i¯ÂÀø». SÔ¨÷£k £vøÁ u¸P. 

Or 

 (b) Mani and Nandan were partners sharing profit and 
loss in the ratio of 3 : 2. They decided to admit 
Palani into the partnership and revalue their assets 
and liabilities as indicated here under: 

  (i) To depreciate stock, furniture and machinery 
by Rs. 3,000; Rs. 1,000 and Rs. 5,000. 

  (ii) To provide for workmen’s compensation of  
Rs. 4,000 

  (iii) To bring into record investment of Rs. 3,000 
which had not so far been recorded in the 
books of firm. 

   They agreed to share profits in future in the 
ratio of 2 : 2 : 1 respectively. Pass journal. 
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  ©o²® |¢uÝ® 3 : 2 GßÓ ÂQuzvÀ »õ£ 
|èhzøu¨ £Qº¢x öPõÒÐ® £[SuõμºPÍõP 
C¸¢uÚº. AÁºPÒ £ÇÛø¯ Tmhõsø©°À 
÷\ºzxUöPõÒÍÄ®, R÷Ç SÔ¨¤h¨£mkÒÍ£i 
AÁºPÍx ö\õzxUPÒ ©ØÖ® ö£õÖ¨¦PøÍ 
©Ö©v¨¥k ö\´¯Ä® •iÄ ö\´uÚº : 

  (i) \μUQ¸¨¦, uÍ£õh[PÒ ©ØÖ® C¯¢vμ[PÎß 
©v¨ø£ ¹. 3,000 SøÓUP; ¹. 1,000 ©ØÖ®  
¹.  5,000. 

  (ii) öuõÈ»õÍºPÐUS CÇ¨¥hõP ¹. 4,000 ÁÇ[P 
÷Ásk®. 

  (iii) CxÁøμ {ÖÁÚzvß ¦zuP[PÎÀ £vÄ 
ö\´¯¨£hõu ¹.  3,000 •u½møh £vÄ ö\´¯ 
÷Ásk®. 

   GvºPõ»zvÀ »õ£zøu •øÓ÷¯ 2 : 2 : 1 GßÓ 
ÂQuzvÀ £Qº¢x öPõÒÍ J¨¦UöPõshÚº. 
SÔ¨÷£k £vøÁ u¸P. 

13. (a) R, M and J were partners in a firm. J died on  
28th Feb. 2022. His share of profit from the closure 
of the last accounting year till date of death was to 
be calculated on the basis of the average of profit of 
three completed years before death. Profits for 2019, 
2020, 2021 were Rs. 7,000, Rs. 8,000 and Rs. 9,000 
respectively. 

  Calculate J’s Share of profit till his death and pass 
the necessary journal entry for the same. 

  R, M ©ØÖ® J J¸ {ÖÁÚzvÀ £[SuõμºPÍõP 
C¸¢uÚº. J ¤¨μÁ› 28, 2022 AßÖ CÓ¢uõº. Ph¢u 
PnUS Bsk •iÁøh¢uvÀ C¸¢x CÓUS® ÷uv 
Áøμ°»õÚ AÁμx »õ£zvß £[S CÓ¨£uØS •ß 
•i¢u ‰ßÖ BskPÎß \μõ\› »õ£zvß 
Ai¨£øh°À PnUQh¨£h ÷Ásk®. 2019, 2020, 
2021UPõÚ »õ£[PÒ •øÓ÷¯ ¹. 7,000, ¹. 8,000  
©ØÖ® ¹. 9,000. 

  AÁº CÓUS® Áøμ J&Âß »õ£¨ £[øPU 
PnUQmk, AuØSz ÷uøÁ¯õÚ SÔ¨÷£k £vøÁ 
u¸P. 

Or 
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 (b) What are the steps involved in closing the books of 
selling firm in case of amalgamation of firms? 

  {ÖÁÚ[PÒ JßÔøn¢uõÀ, ÂØ£øÚ {ÖÁÚ 
¦zuP[PøÍ ‰kÁuØS GßÚ |hÁiUøPPÒ 
GkUP¨£kQßÓÚ? 

14. (a) P, Q and R share profits in proportion of 1/2, 1/4 and 
1/4. On the date of dissolution their Balance Sheet 
was as follows:  

Liabilities Rs. Assets Rs. 

Creditors 14,000 Sundry assets 40,000

P’s capital 10,000  

Q’s capital 10,000  

R’s capital 6,000  

 40,000  40,000

  The assets realized Rs. 35,500. Creditors were paid 
in full. Realisation expenses amounted to Rs. 1,500. 
Close the book of the firm.   

  P, Q ©ØÖ® R 1/2, 1/4 ©ØÖ® 1/4 GßÓ ÂQuzvÀ 
»õ£zøu¨ £Qº¢x öPõÒQßÓÚ. Pø»UP¨£mh 
÷uv°À AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ  ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 14,000 £À÷ÁÖ ö\õzxUPÒ 40,000

P Cß ‰»uÚ® 10,000  

Q Cß ‰»uÚ® 10,000  

R Cß ‰»uÚ® 6,000  

 40,000  40,000

  ö\õzx ©v¨¦ ¹. 35,500. PhÚõÎPÐUS 
•Êø©¯õP £n® ÁÇ[P¨£mhx. ©Ö©v¨¦ 
ö\»ÄPÒ ¹. 1,500. {ÖÁÚzvß ¦zuP[PøÍ ‰k.  

Or 
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 (b) Distinguish between dissolution of partnership and 
dissolution of firm. 

  Tmhõsø© Pø»¨¦ ©ØÖ® {ÖÁÚzvß Pø»¨¦ 
BQ¯ÁØøÓ ÷ÁÖ£kzx[PÒ. 

15.  (a) K, M and N were sharing profits in the ratio of  
3 : 2 : 1. They decided to dissolve the firm on 30th 
June 2023. Their balance sheet 

Liabilities  Rs. Assets Rs. 

Sundry creditors 35,000 Fixed assets 60,000

Capital Current asset 40,000

K 25,000  

M 25,000  

N 15,000 65,000  

 1,00,000  1,00,000

  All the assets were realized at Rs. 85,000; The 
amount realized in first installment Rs. 35,000; in 
second installment — Rs. 25,000; and in third 
instalment — Rs. 25,000; prepare statement 
showing the piece meal distribution of cash. 

  K, M ©ØÖ® N  3 : 2 : 1 GßÓ ÂQuzvÀ »õ£zøu¨ 
£Qº¢x öPõÒQßÓÚ. AÁºPÒ 30 áüß 2023 AßÖ 
{ÖÁÚzøu Pø»UP •iÄ ö\´uÚº. AÁºPÎß 
C¸¨¦{ø». 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

PhÜ¢÷uõº 35,000 Aø\¯õ ö\õzx 60,000

‰»uÚ® Aø\²® ö\õzxUPÒ 40,000

K 25,000  

M 25,000  

N 15,000 65,000  

 1,00,000  1,00,000
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  AøÚzx ö\õzxUPÐ® ¹. 85,000 BP C¸¢ux; 
•uÀ uÁøn°À ö£Ó¨£mh öuõøP ¹. 35,000; 
CμshõÁx uÁøn°À — Bº.Gì. ¹. 25,000; 
©ØÖ® ‰ßÓõÁx uÁøn — ¹. 25,000; £Sv 
Â{÷¯õPzøuU Põmk® AÔUøPø¯z u¯õ›UPÄ®. 

Or 

 (b) Briefly Explain the procedure for selling the 
business of a partnership to a limited company. 

  Tmhõsø© ÁoPzøu Áøμ¯ÖUP¨£mh 
{ÖÁÚzvØS ÂØ£uØPõÚ |øh•øÓø¯ _¸UP©õP 
ÂÍUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. X and Y are partners with capitals of Rs. 15,00,000 and 
Rs. 10,00,000 respectively. They agreed to share profits in 
the ratio of 3 : 2. Show how the following transactions will 
be recorded in the capital accounts of the partners in 
case:  

 (a)  the capitals are fixed, and  

 (b)  the capitals are fluctuating. The books are closed on 
March 31st every year 

Particular X Y 

Additional capital contributed on October 2022 3,00,000 2,00,000

Interest on capital 5% 5%

Drawing during the year (2022-23) 30,000 20,000

Interest on drawing 1,800 1,200

Salary 20,000 -

Commission 10,000 7,000

Share in the profit for the year 2022-23 60,000 40,000
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 X ©ØÖ® Y £[SuõμºPÒ ¹. 15,00,000 ©ØÖ® ¹. •øÓ÷¯ 

10,00,000. »õ£zøu 3 : 2 GßÓ ÂQuzvÀ £Qº¢x öPõÒÍ 
J¨¦UöPõshÚº. £[SuõμºPÎß ‰»uÚU PnUSPÎÀ 
¤ßÁ¸® £›ÁºzuøÚPÒ GÆÁõÖ £vÄ ö\´¯¨£k® 
Gß£øuU Põmk[PÒ : 

 (A) ©õÖ£k® ‰»uÚ[PÒ, ©ØÖ® 

 (B) ©õÖ£hõ ‰»uÚ[PÒ C¸¢uõÀ. JÆöÁõ¸ Bsk® 

©õºa 31 AßÖ ¦zuP[PÒ ‰h¨£k®. 
ÂÁμ[PÒ X Y 

AU÷hõ£º 2022 AßÖ TkuÀ ‰»uÚ® ÁÇ[P¨£mhx 3,00,000 2,00,000

‰»uÚzvß «uõÚ Ámi 5% 5%

Gk¨¦PÒ (2022-23) BsiÀ 30,000 20,000

Gk¨¦PÒ «uõÚ Ámi 1,800 1,200

\®£Í® 20,000 -

uμS 10,000 7,000

2022-23 BsiØPõÚ »õ£zvÀ £[S 60,000 40,000

17. Given below is the Balance Sheet of A and B, who are 
carrying on Partnership business as on March 31, 2023.  
A and B are share profits in the ratio of 2 : 1. Balance 
sheet was as follows: 

Liabilities  Rs. Assets Rs. 

Bills payable 10,000 Cash in hand 10,000

Creditors 58,000 Cash at bank 40,000

Outstanding Expenses 2,000 Sundry debtors 60,000

Capital: Stock 40,000

A – 1,80,000 Plant 1,00,000

B – 1,50,000 3,30,000 Buildings 1,50,000

 4,00,000  4,00,000
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 C is admitted as a partner on the date of the balance 
sheet on the following terms:  

 (a) C will bring in Rs. 1,00,000 as his capital and  
Rs. 60,000 as his share of goodwill for 1/4 share in 
profits.  

 (b) Plant is to be appreciated to Rs. 1,20,000 and the 
value of buildings is to be appreciated by 10%.  

 (c)  Stock is found overvalued by Rs. 4,000.  

 (d)  A provision for doubtful debts is to be created at 5% 
of debtors.  

 (e)  Creditors were unrecorded to the extend of  
Rs. 1,000. Record revaluation Account, partners’ 
capital accounts, and the Balance Sheet of the 
constituted firm after admission of the new partner. 

 ©õºa 31, 2023 AßÖ Tmhõsø©ø¯ ÷©ØöPõsk Á¸® 
A ©ØÖ® B Cß C¸¨¦{ø»U SÔ¨¦ R÷Ç 
öPõkUP¨£mkÒÍx. A ©ØÖ® B Gß£x 2 : 1 GßÓ 
ÂQuzvÀ £[S »õ£®. C¸¨¦{ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

ö\¾zxÁuØS›¯ ©õØÖ^mk 10,000 öμõUP® 10,000

PhÜ¢÷uõº 58,000 Á[Q 40,000

{¾øÁ°À EÒÍ ö\»ÄPÒ 2,000 £À÷ÁÖ PhÚõÎPÒ 60,000

‰»uÚ®: \μUQ¸¨¦ 40,000

A – 1,80,000 Bø» 1,00,000

B – 1,50,000 3,30,000 Pmih[PÒ 1,50,000

 4,00,000  4,00,000

 ¤ßÁ¸® Âv•øÓPÎß C¸¨¦{ø»U SÔ¨¤ß ÷uv°À 
C £[SuõμõP AÝ©vUP¨£kQÓõº :  

 (A) C uÚx ‰»uÚ©õP ¹. 1,00,000 ©ØÖ® »õ£zvÀ  
1/4 £[QØS ¹.    60,000 |Øö£¯º £[PõPU öPõsk 
Á¸®. 

 (B) Bø» ¹. 1,20,000 BPÄ®, Pmih[PÎß ©v¨¦ 10% 
BPÄ® ©v¨¤h¨£h EÒÍx. 
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 (C)  £[S ¹. 4,000 AvP©õP ©v¨¤h¨£mkÒÍx. 

 (D)  Áõμõ I¯UPhßPÐUPõÚ HØ£õk 5% PhÚõÎPÎÀ 
E¸ÁõUP¨£h ÷Ásk®. 

 (E) Phß öPõkzuÁºPÒ ¹. 1,000 Áøμ £vÄ 
ö\´¯¨£hÂÀø». ©Ö©v¨¥mkU PnUS, 
TmhõÎPÎß ‰»uÚU PnUSPÒ ©ØÖ® ¦v¯ 
£[Suõμ›ß ÷\ºUøPUS¨ ¤ÓS Aø©UP¨£mh 
{ÖÁÚzvß C¸¨¦{øU PnUS BQ¯ÁØøÓ¨ £vÄ 
ö\´¯Ä®. 

18. X, Y and Z were partners in a firm sharing profits and 
losses in the proportion of 3 : 2 : 1. To provide for the 
deceased or a retiring partner, a joint life policy for  
Rs. 1,00,000 at an annual premium of Rs. 5,000 was 
taken. First premium was paid on 15th May 1988. The 
surrender value of the policy was as under: 2019 – Nil : 
2020 – Rs. 1,000; 2021 – Rs. 2,200; 2022 – Rs. 4,000. 

 Z died on 15th April 2023, and L.I.C. paid the amount of 
policy on 10th May 2023. The accounts are closed on  
31st  December every year Prepare the necessary accounts 
under the following methods:  

 (a)  Premium is charged to Profit and Loss A/c.  

 (b)  Joint life policy is maintained at its surrender value. 

 X, Y ©ØÖ® Z 3 : 2 : 1 GßÓ ÂQuzvÀ C»õ£ |mh[PøÍ¨ 
£Qº¢x öPõÒÐ® {ÖÁÚzvÀ £[SuõμºPÍõP C¸¢uÚº. 
CÓ¢uÁº AÀ»x K´Äö£Ö® TmhõÎUS ÁÇ[P, Tmk 
ÁõÌUøPU Põ¨¥k ¹. 1,00,000 Bsk •øÚ©® ¹. 5,000 
GkUP¨£mhx. •uÀ •øÚ©® 15 ÷© 1988 AßÖ 
ö\¾zu¨£mhx. £õ¼]°ß \μshº ©v¨¦ RÌUPshÁõÖ 
C¸¢ux : 2019 – CÀø» : 2020 – ¹. 1,000; 2021 –  
¹. 2,200; 2022 – ¹. 4,000. 

 Z  H¨μÀ 15, 2023 AßÖ CÓ¢uõº. ÷©¾® L.I.C. Põ¨¥k 
öuõøPø¯ 10 ÷© 2023 AßÖ ö\¾zv¯x. JÆöÁõ¸ 
Bsk® i\®£º 31 AßÖ PnUSPÒ ‰h¨£k® :  

 (A)  C»õ£ |mh PnUQ¼¸¢x ¤Ÿª¯® Põmh¨£mkÒÍx 

 (B)  Tmk ÁõÌUøPU Põ¨¥k Auß \μshº ©v¨¤À 
£μõ©›UP¨£kQÓx. 
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19. S and M are partners, who share profit in the ratio of  
3 : 2. Following is the balance sheet as on March 31, 2023. 

Liabilities  Rs. Assets Rs. 

S capital  32,500 Cash and Bank 40,500

M capital 11,500 Stock 7,500

Sundry creditors 48,000 Fixed assets 36,500

General reserve 13,500 Sundry debtors 21,500

 Less : Provision 500 21,000

 1,05,500  1,05,500

 The firm was dissolved on March 31, 2023. Close the 
books of the firm with the following information:  

 (a)  Debtors realised at a discount of 5%,  

 (b)  Stock realised at Rs. 7,000,  

 (c)  Fixed assets realised at Rs. 42,000,  

 (d)  Realisation expenses of Rs. 1,500,  

 (e)  Creditors are paid in full. Prepare necessary Ledger 
accounts. 

 S ©ØÖ® M £[SuõμºPÒ, AÁºPÒ »õ£zøu 3 : 2 GßÓ 

ÂQuzvÀ £Qº¢x öPõÒQÓõºPÒ. ©õºa 31, 2023 
{»Áμ¨£i C¸¨¦{ø»U SÔ¨¦ ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

S ‰»uÚ® 32,500 Á[Q 40,500

M ‰»uÚ® 11,500 \μUQ¸¨¦ 7,500

PhÜ¢÷uõº 48,000 {ø»¯õÚ ö\õzxUPÒ 36,500

ö£õx C¸¨¦ 13,500 PhÚõÎPÒ 21,500

 (–): JxURk 500 21,000

 1,05,500  1,05,500
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 {ÖÁÚ® ©õºa 31, 2023 AßÖ Pø»UP¨£mhx. ¤ßÁ¸® 

uPÁÀPÐhß {ÖÁÚzvß ¦zuP[PøÍ ‰hÄ® :  

 (A) PhÚõÎPÒ 5% uÒÐ£i°À, 

 (B) ¹. 7,000&À ö£Ó¨£mh £[S, 

 (C) {ø»¯õÚ ö\õzxUPÒ ¹. 42,000,  

 (D) ¹. 1,500 ö£ÖuÀ ö\»ÄPÒ,  

 (E) PhÚõÎPÐUS •Êø©¯õP ÁÇ[P¨£k®. 

÷uøÁ¯õÚ ÷£÷μk PnUSPøÍ u¯õº ö\´¯Ä®. 

20. J and K were in partnership. Their Balance Sheet as on 

31.3.2023 was as under : 

Liabilities  Rs. Assets Rs. 

J capital  1,00,000 Stock 1,60,000

K capital 1,00,000 Other assets 2,40,000

Loan from bank  

(Secured by stock) 1,00,000  

Creditors 1,00,000  

 4,00,000  4,00,000

 The assets realized as follows : 

 30-4-2023 — other assets — Rs. 1,00,000; 31-5-2023 — 

Stock — Rs. 40,000; 30-6-2023 — Other assets —  

Rs. 30,000; 31-7-2023 — other assets — Rs. 1,20,000; You 

are required to prepare a statement showing piecemeal 

distribution of cash under Maximum Loss Method. 



S–7387 

  

  14

 J ©ØÖ® K Tmhõsø©ø¯ C¸¢uÚº. 31.3.2023 AßÖ 
AÁºPÎß C¸¨¦{ø» ¤ßÁ¸©õÖ : 

ö£õÖ¨¦PÒ ¹. ö\õzxUPÒ ¹. 

J ‰»uÚ® 1,00,000 \μUQ¸¨¦ 1,60,000

K ‰»uÚ® 1,00,000 ¤Ó 
ö\õzxUPÒ  

2,40,000

Á[Q°À C¸¢x Phß    

(\μUQ¸¨¦ ‰»® 
£õxPõUP¨£mhx) 

 
1,00,000 

 

PhÜ¢÷uõº 1,00,000  

 4,00,000  4,00,000

 ö£Ó¨£mh ö\õzxUPÒ ¤ßÁ¸©õÖ : 

 30-4-2023 — ©ØÓ ö\õzxUPÒ — ¹. 1,00,000;  
31-5-2023 — \μUQ¸¨¦ — ¹. 40,000; 30-6-2023 — ©ØÓ 
ö\õzxUPÒ — ¹. 30,000; 31-7-2023 — ©ØÓ ö\õzxUPÒ — 
¹. 1,20,000; AvP£m\ CÇ¨¦ •øÓ°ß RÌ öμõUPzøu 
£Sv Â{÷¯õPzøuU Põmk® AÔUøP°ß }[PÒ u¯õ›UP 
÷Ásk®. 

  
———————— 
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BUSINESS STATISTICS 
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Time : 3 Hours Maximum : 75 Marks 

 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define Data. 

 uμøÁ Áøμ¯ÖUPÄ®. 

2. What is Survey? 

 ©v¨£õ´Ä GßÓõÀ GßÚ? 

3. What is Geometric Mean? 

 ÁiÂ¯À \μõ\› Aºzu® GßÚ? 

4. What is Standard Deviation? 

 {ø»¯õÚ Â»PÀ GßÓõÀ GßÚ? 

5. What is Concurrent Deviation? 

 J÷μ ÷|μzvÀ Â»PÀ GßÓõÀ GßÚ? 
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6. What is Regression Lines? 

 ¤ßÚøhÄ ÷PõkPÒ GßÓõÀ GßÚ? 

7. What is Consumer Price Index? 

 ~Pº÷Áõº Âø»U SÔ±k GßÓõÀ GßÚ? 

8. What is Chain Base Conversion? 

 \[Q¼ Ai¨£øh ©õØÓ® GßÓõÀ GßÚ? 

9. What is Least Squares? 

 SøÓ¢u \xμ[PÒ GßÓõÀ GßÚ? 

10. What do you mean by seasonal variations? 

 £¸ÁPõ» ©õÖ£õkPÒ GßÓõÀ GßÚ? 

 Part B  (5 × 5 = 25) 
Answer all questions. choosing either (a) or (b) 

11. (a) Difference between questionnaire and Interview 
Schedules. 

  ÷PÒÂzuõÒ ©ØÖ® ÷|ºPõnÀ AmhÁønPÐUS 
Cøh÷¯ EÒÍ ÷ÁÖ£õk. 

Or 

 (b) Explain the merits and demerits of Secondary Data. 

  Cμshõ® {ø» uμÂß uSvPÒ ©ØÖ® wø©PøÍ 
ÂÍUS[PÒ. 

12. (a) Find out the median of the following items  
X 10 15 9 25 19

  ¤Á¸® E¸¨£iPÎß \μõ\›ø¯U PshÔ¯Ä®. 

X 10 15 9 25 19

Or 
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 (b) Calculate Geometric means of the following:  
X 50 72 54 82 93

  ¤ßÁ¸ÁÚÁØÔß ÁiÂ¯À \μõ\›ø¯U 
PnUQhÄ®. 

X 50 72 54 82 93

13. (a) Calculate Co-efficient of correlation from the 
following data.  

X 12 9 8 10 11 13 7

Y 14 8 6 9 11 12 3

  ¤ßÁ¸® uμÄPÎ¼¸¢x öuõhº¦PÎß Cøn–
vÓøÚU PnUQhÄ®.   

X 12 9 8 10 11 13 7

Y 14 8 6 9 11 12 3

 Or  

 (b) Following are the rank obtained by 10 students in 
two subjects in two subjects. Statistics and 
Mathematics. To what extent the knowledge of the 
students in the two subjects in related?  

Statistics 1 2 3 4 5 6 7 8 9 10

Mathematics 2 4 1 5 3 9 7 10 6 8 

  Cμsk £õh[PÎÀ Cμsk £õh[PÒ 10 ©õnÁºPÒ 
ö£ØÓ ÷μ[U ¤ßÁ¸©õÖ, ¦ÒÎ°¯À ©ØÖ® Pou®, 
Cμsk £õh[PÎ¾® ©õnÁºPÎß AÔÄ G¢u 
AÍÂØS öuõhº¦øh¯x? 
  

¦ÒÎ ÂÁμ[PÒ 1 2 3 4 5 6 7 8 9 10

Pou® 2 4 1 5 3 9 7 10 6 8 
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14. (a) Compute a price index for the following by a  
(i) Simple Aggregate (ii) Average of Price relative 
method by using both arithmetic Mean and 
Geometric Mean :  

Commodity A H C D E F 

Price in  
2005 (Rs.) 

20 30 10 25 50 50

Price in  
2006 (Rs.) 

25 30 15 35 45 55

  ¤ßÁ¸ÁÚÁØÔØPõÚ Âø»U SÔ±møhU 

PnUQhÄ® (i) GÎ¯ ö©õzu (ii) GsPou \μõ\› 
©ØÖ® ÁiÂ¯À \μõ\› Cμsøh²® £¯ß£kzv 
Âø» J¨¥mk •øÓ°ß \μõ\› 

Â¯õ£õμ \μUS A H C D E F 

2005 CÀ Âø» (¹.) 20 30 10 25 50 50

2006 CÀ Âø» (¹.) 25 30 15 35 45 55

Or 

 (b) Convert the following fixed base index numbers into 
chain base index numbers :  

Year 2002 2003 2004 2005 2006 2007

Fixed 
Base 
Index 

376 392 408 380 392 400 

  ¤ßÁ¸® {ø»¯õÚ Ai¨£øh SÔ±mk GsPøÍ 

\[Q¼ Ai¨£øh SÔ±mk GsPÍõP ©õØÓÄ® : 
Bsk 2002 2003 2004 2005 2006 2007

{ø»¯õÚ 
Ai¨£øhU 

SÔ±k 

376 392 408 380 392 400 
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15.  (a) Calculate the 3 yearly moving averages of the 
productions figures (in tonnes) given below :  

Year 1973 1974 1975 1976 1977 1978 1979 1980

Production 15 21 30 36 42 46 50 56 

   

Year 1981 1982 1983 1984 1985 1986 1987

Production 63 70 74 82 90 05 102

 R÷Ç öPõkUP¨£mkÒÍ EØ£zv ¦ÒÎÂÁμ[PÎß 
(hßPÎÀ)  Bsk |P¸® \μõ\›PøÍU PnUQhÄ®. 

Bsk 1973 1974 1975 1976 1977 1978 1979 1980

EØ£zv 15 21 30 36 42 46 50 56 

  

Bsk 1981 1982 1983 1984 1985 1986 1987

EØ£zv 63 70 74 82 90 05 102

Or 

 (b) Explain the Methods of Least Squares on Time 
Series. 

  ÷|μz öuõh›À SøÓ¢u \xμ[PÎß •øÓPøÍ 
ÂÍUSP.  

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Briefly explain about the methods of sampling. 

 ©õv› GkUS® •øÓPÒ £ØÔ _¸UP©õ ÂÍUPÄ®. 
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17. The frequency distribution of weight in grams of mangoes 
of a given variety is given below; Calculate the 
Arithmetic, Mean, Median and Mode. 

Weight  
(in gms.) 

No. of  
Mangoes

Weight
(in gms)

No. of Mangoes
(in gms) 

410-419 14 450–459 45 

420-429 20 460–469 18 

430-439 42 470-479 7 

444-449 54   

 J¸ SÔ¨¤mh ÁøP ©õ®£Çzvß Qμõ® Gøh°ß 
AvºöÁs Â{÷¯õP® R÷Ç öPõkUP¨£mkÒÍx. 
GsPou \μõ\›, Cøh{ø» ©ØÖ® £¯ß•øÓø¯U 
PnUQk[PÒ. 

Gøh 
(QμõªÀ) 

©õ®£Ç[PÎß 
GsoUøP 

Gøh 
(QμõªÀ) 

©õ®£Ç[PÎß 
GsoUøP 

410-419 14 450–459 45 

420-429 20 460–469 18 

430-439 42 470-479 7 

444-449 54   

18. Calculate the co-efficient of concurrent deviations from 
the data given below : 

Month January February March April May

Supply 160 164 172 182 166 

Price 292 280 260 234 266 

  

Month June July August September

Supply 170 178 192 186 

Price 254 230 190 120 



S–7388 

  

  7

 R÷Ç öPõkUP¨£mkÒÍ uμÄPÎ¼¸¢x J÷μ ÷|μzvÀ 
Â»PÀPÎß Cøn vÓøÚU PnUQhÄ®.  

©õu® áÚÁ› ¤¨μÁ› ©õºa H¨μÀ ÷©

Â{÷¯õQ 160 164 172 182 166

Âø» 292 280 260 234 266

 
©õu® áüß áüø» BPìk ö\¨h®£º

Â{÷¯õQ 170 178 192 186 

Âø» 254 230 190 120 

19. Compute Index Number, using fishers ideal formula and 
show that it satisfies time-reversal test and factor 
reversal test. 
 Quantity Base 

year
Price

Quantity Current 
Year 
Price 

A 12 10 15 12 

B 15 7 20 5 

C 24 5 20 9 

D 5 16 5 14 

 L¤åºì Ii¯À L£õº•»õøÁ¨ £¯ß£kzv SÔ±mk 
GsønU PnUQk[PÒ ©ØÖ® Ax ÷|μ&uø» RÌ 
÷\õuøÚ ©ØÖ® Põμo uø»RÌ ÷\õuøÚø¯ 
v¸¨v¨£kzxQÓx Gß£øuU PõmkQÓx. 

 AÍÄ Ai¨£øh
Bsk 
Âø» 

AÍÄ uØ÷£õøu¯ 
Bsk 
Âø» 

A 12 10 15 12 

B 15 7 20 5 

C 24 5 20 9 

D 5 16 5 14 
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20. Calculate the seasonal indices by the method of average 
for the following data : 

Year I 
Quarter

II  
Quarter

III 
Quarter

IV 
Quarter

1985 65 60 61 63 

1986 68 55 66 61 

1987 68 60 63 67 

 ¤ßÁ¸® uμÄPÐUPõÚ \μõ\› •øÓ°ß ‰»® £¸ÁPõ» 

SÔ±kPøÍU PnUQhÄ® : 
Bsk I 

Põ»õsk
II  

Põ»õsk
III 

Põ»õsk
IV 

Põ»õsk

1985 65 60 61 63 

1986 68 55 66 61 

1987 68 60 63 67 

  

———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is Trade and Commerce? 

 ÁºzuP® ©ØÖ® ÁoP® GßÓõÀ GßÚ? 

2. What do you mean by Business concept? 

 ÁoPU P¸zx GßÓõÀ GßÚ? 

3. State any four characteristics of Sole- proprietorship. 

 uÛ²›ø©°ß H÷uÝ® |õßS £s¦PøÍU TÖP. 

4. What is a joint stock company? 

 Tmk £[S {ÖÁÚ® GßÓõÀ GßÚ? 

5. What is meant by the size of a business firm? 

 J¸ ÁoP {ÓÁÚzvß AÍÄ GßÓõÀ GßÚ? 

6. What are two common criteria for measuring the size of a 
business? 

 J¸ ÁoPzvß AÍøÁ AÍÂkÁuØPõÚ Cμsk 
ö£õxÁõÚ AÍÄ÷PõÀPÒ ¯õøÁ? 

7. What is Articles of Association? 

 \[P ÂvPÒ GßÓõÀ GßÚ? 
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8. State the meaning of the term ‘Company’ as per the 
Companies Act 1956. 

 1956 B® Bsk {ÖÁÚ[PÒ \mhzvß£i ‘{ÖÁÚ®’ 
GßÓ ö\õÀ¼ß ö£õ¸øÍU TÖP. 

9. What is a public enterprise? 

 ö£õx {ÖÁÚ® GßÓõÀ GßÚ? 

10. Mention two criticisms of public enterprises. 

 ö£õx {ÖÁÚ[PÒ SÔzu Cμsk Â©º\Ú[PøÍU 
SÔ¨¤hÄ®. 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b).  

11. (a) What is business? Explain its essential 
characteristics. 

  ÁoP® GßÓõÀ GßÚ? Auß Azv¯õÁ]¯ 
£s¦PøÍ ÂÍUSP. 

Or 

 (b) Distinguish between business, professions and 
employment. 

ÁoP®, öuõÈÀ ©ØÖ® ÷Áø»Áõ´¨¦ BQ¯ÁØøÓ 
÷ÁÖ£kzxP. 

12. (a) Discuss the advantages and limitations of  
co-operative societies. 

  TmkÓÄ \[P[PÎß |ßø©PÒ ©ØÖ® Áμ®¦PøÍ 
ÂÁõv. 

Or 

 (b) What is meant by ‘partner by estoppel’? Explain. 

  ‘Gì÷hõ¨£À ‰»® TmhõÎ’ GßÓõÀ GßÚ? 
ÂÍUSP. 
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13. (a) Why is customer loyalty an advantage for small 
businesses? 

  ]Ö ÁoP[PÐUS ÁõiUøP¯õÍº Â_Áõ\® Hß 
J¸ |ßø©¯õP C¸UQÓx? 

Or 

 (b) What is a representative firm? Explain its 
significance. 

  ¤μv{zxÁ {ÖÁÚ® GßÓõÀ GßÚ? Auß 
•UQ¯zxÁzøu ÂÍUSP. 

14. (a) Explain briefly the different clauses of 
Memorandum of Association.  

  \[P¨ £vÄU SÔ¨£õøn°ß £À÷ÁÖ ¤›ÄPøÍa 
_¸UP©õP ÂÍUSP. 

Or 

 (b) State the difference between a public company and 
a private company as far as the commencement of 
business is concerned. 

  ÁoPzøuz öuõh[SÁøu¨ ö£õÖzuÁøμ, J¸ 
ö£õx {ÖÁÚzvØS® uÛ¯õº {ÖÁÚzvØS® EÒÍ 
÷ÁÖ£õmøhU TÖ. 

15.  (a) Explain the key features of the industrial Policy 
Resolution of 1956. 

  1956 B® Bsk öuõÈÀxøÓ öPõÒøP 
wº©õÚzvß •UQ¯ A®\[PøÍ ÂÍUSP. 

Or 

 (b) What are the financial challenges faced by public 
enterprises? 

  ö£õxzxøÓ {ÖÁÚ[PÒ GvºöPõÒÐ® {v 
\ÁõÀPÒ GßÚ? 
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 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Distinguish between internal and international trade. 

 EÒ|õmk ©ØÖ® \ºÁ÷u\ ÁºzuPzøu ÷ÁÖ£kzxP. 

17. Compare the status of a minor in a Joint Hindu family 
business with that in a partnership firm. 

 C¢x TmkU Sk®£z öuõÈ¼À J¸ ø©Ú›ß {ø»ø¯, 
Tmhõsø© {ÖÁÚzvÀ EÒÍ {ø»²hß J¨¤kP. 

18. Discuss the technological factors that influence the 
optimum size of a firm. 

 J¸ {ÖÁÚzvß EP¢u AÍøÁ¨ £õvUS® öuõÈÀ~m£U 
PõμoPøÍ¨ £ØÔ ÂÁõv. 

19. State important privileges available to a private 
company. 

 uÛ¯õº {ÖÁÚzvØSU QøhUS® •UQ¯ \¾øPPøÍU 
TÖ. 

20. Explain the role of environmental regulations in business 
activity. 

 ÁoP |hÁiUøPPÎÀ _ØÖa`ÇÀ Âv•øÓPÎß £[øP 
ÂÍUSP. 

 
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. What is an unary operator? Give example. 

 ³Ú› B£÷μmhº GßÓõÀ GßÚ? Euõμn® öPõk. 

2. What are the most important features of C? 

 C-Cß •UQ¯ A®\[PÒ ¯õøÁ? 

3. Give the syntax of if -else statement. 

 If- else AÔUøP°ß öuõhμø©¨ø£ öPõk. 

4. Write the syntax for switch ( ) statement. 

 switch ( ) AÔUøP°ß öuõh›¯À GÊxP. 

5. Define an array. 

 Array & Áøμ¯Ö. 

6. Write a note on scanf( ) function. 

 scanf( ) & SÔ¨¦ GÊxP. 
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7. How to declare pointer variable? 

 _miUPõmi ©õÔø¯ GÆÁõÖ AÔÂ¨£x? 

8. What is string constant? 

 \μ® ©õÔ¼ GßÓõÀ GßÚ? 

9. What are register variable? 

 £vÄ ©õÔ GßÓõÀ GßÚ? 

10. What is purpose of putchar( ) function? 

 putchar( ) ö\¯À£õmiß ÷|õUP® GßÚ? 

 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b) 

11. (a) Explain the structure of C program. 

  C {μ¼ß Pmhø©¨ø£ ÂÍUSP. 

Or 

 (b) Explain arthmetic operators with example. 

  Arthmetic operators & ÂÍUSP. 

12. (a) Differentiate while and do-while statements. 

  While ©ØÖ® Do-while ÷ÁÖ£kzxP. 

Or 

 (b) Describe the special assignment operators in C. 

  C&Cß ]Ó¨¦ Aø\ßö©ßm B£÷μmhøμ ÂÁ›. 

13. (a) What is function prototypes? Give example. 

  ö\¯À£õmk •ß©õv› GßÓõÀ GßÚ? Euõμn® 
öPõk. 

Or 

 (b) What is an array? Explain the declartion and 
initialization of an array. 

  A÷μ GßÓõÀ GßÚ? J¸ A÷μ°ß AÔÂ¨¦ ©ØÖ® 
xÁUPzøu GÊxP. 
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14. (a) Explain the concept of structures with example. 

  Pmhø©¨¦PÎß P¸zøu GkzxUPõmkhß ÂÍUSP. 

Or 

 (b) Explain the concept of passing a structure by 
reference. 

  SÔ¨¦ ‰»® J¸ Pmhø©¨ø£ Ph¢x ö\À¾® 
P¸zøu ÂÍUSP. 

15. (a) Describe the Register and external variable 
available in C. 

  C Cß £vÄ ©ØÖ® öÁÎ¨¦Ó ©õÔø¯ 
GkzxUPõmkhÚA ÂÍUSP. 

Or 

 (b) Write a C program to demonstrate formatted input 
and output functions. 

  ÁiÁø©UP¨£mh EÒÏk ©ØÖ® öÁÎ±mk 

ö\¯À£õmøh {¹¤UP J¸ C {μø» GÊxP. 

 Part C  (3 × 10 = 30) 

Answer any three questions.  

16. Explain the various dataypes available in C. 

 C Cß £À÷ÁÖ uμÄÁøPPøÍ ÂÍUSP. 

17. List and explain the looping statement with example. 

 _ÇÀ AÔUøPø¯ £mi¯¼mk GkzxUPõmkhß ÂÍUSP. 

18. Differentiate printf( ) and scan f( ) function with example. 

 printf( ) ©ØÖ® scan f( ) ö\¯À£õmøh GkzxUPõmkhß 
÷ÁÖ£kzxP. 
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19. Explain various string operations with an example string 
operations. 

 String operations & Euõμnzxhß ÂÍUSP. 

20. Explain formatted and unformatted input and output 
functions of C. 

 C Cß ÁiÁø©UP¨£mh ©ØÖ® ÁiÁø©UP¨£hõu 
EÒÏk ©ØÖ® öÁÎ±mk ö\¯À£õkPøÍ ÂÍUSP. 

———————— 
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 Part A  (10 × 2 = 20) 

Answer all the questions. 

1. What is the simple interest earned by Rs.50.000 at 12% 
p.a. in 5 years? 

 ¹. 50,000 US 12% Á¸hõ¢vμ Ámi ÂQuzvÀ 5 
BskPÎÀ GÆÁÍÄ uÛÁmi QøhUS®? 

2. Calculate the compound interest on Rs. 30,000 for 3 years 
at 10% pa. 

 ¹. 30,000 US 3 BskPÐUS 10% Á¸hõ¢vμ Ámi 
ÂQuzvÀ Tmk Ámi PnUQhÄ®. 

3. Write following exponential form into logarithmic form: 

(a) 62554 =  

 (b) 21663 =  

 R÷Ç EÒÍ AkUS ÁiÁzøu ©hUøP ÁiÁ©õP GÊxP. 

 (A) 62554 =  

 (B) 21663 =  
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4. Calculate the value of 34.162 × 6.892 using logarithms. 

 34.162 × 6.892 ß ©v¨ø£ ©hUøP £¯ß£kzv 
PnUQhÄ®. 

5. If { }zyxA ,,=  and { }6,5,4=B  the find ( )BA   and 

( )BA  . 

 { }zyxA ,,=  ©ØÖ® { }6,5,4=B  GßÓõÀ ( )BA   ©ØÖ® 

( )BA   I PshÔ¯Ä®. 

6. Write down the subsets of the set { }cba ,, . 

 { }cba ,,  GßÓ Pnzvß EmPn[PøÍ GÊxP. 

7. A bag contains 6 Green and 4 Red balls. What is the 
probability drawing 2 Green balls at random? 

 J¸ ø£°À 6 £aø\ ©ØÖ® 4 ]Á¨¦ £¢xPÒ EÒÍÚ. 2 
£aø\ £¢xPøÍ ^μØÓ •øÓ°À GkUS® {PÌuPÄ GßÚ? 

8. A binomial distribution has 20=n  and 3.0=p . Find the 

mean and variance of this distribution. 

 J¸ C¸Ö¨¦ Â{÷¯õ® 20=n  ©ØÖ® 3.0=p  öPõshx. 

C¢u Â{÷¯õPzvß \μõ\› ©ØÖ® ©õÖ£õmøh PshÔP. 

9. Find the coefficient of the middle term in the expansion of 

( ) 432 x+ . 

 ( ) 432 x+  ß Â›ÁõUPzvÀ |k¨£Sv öPÊUPøÍ PshÔP. 

10. If n  the positive integer, then 1723 −− nn  find the 
divisible. 

 n  J¸ ªøP •Ê Gs GßÓõÀ, 1723 −− nn  I 
PshÔ²[PÒ. 
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 Part B  (5 × 5 = 25) 

Answer all questions, choosing either (a) or (b). 

11. (a) The population of a city increased for 5% p.a., if the 
present population is 10,82,000 what will be the 
population after 4 years? 

  J¸ |Pμzvß ©UPÒ öuõøP Á¸hzvØS 5% p.a., 
AvP›zuõÀ uØ÷£õøu¯ ©UPÒ öuõøP 10,82,000 
GßÓõÀ 4 BskPÐUS¨ ¤ÓS ©UPÒöuõøP GßÚ 
C¸US®? 

Or 

 (b) A machine costing Rs. 30,000 has an estimated like 
of 15 years. If depreciation is written off at 20% on 
diminishing balance method, find its scrap value. 

  J¸ C¯¢vμzvß Âø» ¹. 30,000 BS®. Auß 
B²Ò 15 BskPÒ GÚ ©v¨¥k ö\´¯¨£mkÒÍx. 
SøÓÁõS® ©v¨¥miÀ 20 CÀ SøÓUP¨£mhõÀ, 
Auß GÔ©v¨¦ GßÚ? 

12. (a) Find the value of 
14.5200556.0

004679.0389.2
×

×
 using 

logarithm. 

  
14.5200556.0

004679.0389.2
×

×
 ß ©v¨ø£ ©hUøP £¯ß£kzv 

PshÔP. 

Or 

 (b) Prove that 2
log

1
log

1
log

1 =++
XYZXYZXYZ zxyzxy

. 

  2
log

1
log

1
log

1 =++
XYZXYZXYZ zxyzxy

 Gß£øu 

{¹¤. 
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13. (a) If { } { }6,5,4,3,4,3,2,1 == BA  and { }8,7,6,5=C  
then verify ( ) ( ) ( )CABACBA  = . 

  { } { }6,5,4,3,4,3,2,1 == BA  ©ØÖ® { }8,7,6,5=C  

GßÓõÀ ( ) ( ) ( )CABACBA  =  Gß£øu 
{¹¤. 

Or 

 (b) In a group of 65 students, 45 like Chess, 10 like both 
Chess and Carrom. How many like Carrom only and 
not Chess? How many like carrom? Show by Venn 
diagram. 

  65 ©õnÁºPÒ öPõsh J¸ SÊÂÀ, 45 ÷£º 
\xμ[Pzøu Â¸®¦QÓõºPÒ, 10 ÷£º \xμ[Pzøu²® 
_shõmh•® Â¸®¦QÓõºPÒ. \xμ[Pzøu Â¸®£õu 
_shõmh® ©mk® Â¸®¦£ÁºPÒ GzuøÚ? 
_shõmh® Â¸®¦£ÁºPÒ GzuøÚ? öÁßÁøμ£h® 
‰»® PõmhÄ®.  

14. (a) The probability that a man fishing at a tank will catch 
1, 2, 3, 4 fish are 0.4, 0.3,  0.2 and 0.1 respectively. 
What is the expected number of fish caught? 

  J¸ SÍzvÀ «ß¤iUS® J¸ |£º 1, 2, 3, 4 
«ßPøÍ¨ ¤iUS® {PÌuPÄ •øÓ÷¯ 0.4, 0.3, 0.2 
©ØÖ® 0.1 BS®. ¤iUP¨£mh «ßPÎß 
Gvº£õºUP¨£k® GsoUøPø¯ PshÔ²[PÒ. 

Or 

 (b) It is given that 2% of electric bulbs produced by a 
company are defective. There are 200 bulbs in a box. 
Using Poisson distributions find the probability that 
the box contains (i) no defective bulbs (ii) exactly 
two defective bulbs. 

  J¸ {ÖÁÚzuõÀ u¯õ›UP¨£k® ªßÂÍUSPÎÀ 2% 
¤øÇ¯õÚøÁ. J¸ ö£mi°À 200 ÂÍUSPÒ 
EÒÍÚ. £õ´\ß Â{÷¯õPzøu¨ £¯ß£kzv 
ö£mi°À (i) ¤øÇ¯ØÓ ÂÍUSPÒ CÀø»  
(ii) Cμsk ¤øÇ¯õÚ ÂÍUSPÒ EÒÍ 
{PÌuPÄPøÍ PshÔP. 
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15.  (a) Use the binomial theorem to expand 

( )
9
4

,94 <− xx , in ascending power of x , up to and 

including the term in 3x , simplifying each term. 

  C¸Ö¨¦ ÷uØÓzøu £¯ß£kzv ( )x94 −  I Cß 

E¯ºÁõÚ \UvPÎÀ Â›ÁõUS[PÒ. 
9
4<x , 3x  CÀ 

EÒÍ EÖ¨ø£ EÒÍhUQ¯x Áøμ JÆöÁõ¸ 
EÖ¨ø£²® GÎø©¨£kzx[PÒ. 

Or 

 (b) If ( ) ( )
2
3

,23 3 <+= − xxxf , Find the binomial 

expansion of ( )xf , in ascending powers of x , as far 

as the term in 3x . 

  ( ) ( )
2
3

,23 3 <+= − xxxf , ( )xf  Cß D¸Ö¨¦ 

Â›ÁõUPzøu x  Cß E¯ºÁõÚ \UvPÎÀ, 3x  CÀ 
EÒÍ EÖ¨ø£ EÒÍhUQ¯x Áøμ PshÔ²[PÒ. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. A bill for Rs. 45,000 was drawn on 10th February at 6 
months date and discounted the bill with a banker on 5th 
May at the rate of 9 interest pa. Find 

 (a) Banker’s Discount 

 (b) True Discount 

 (c) Amount received from the bank 

 (d) Banker’s Gain 
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 ¹. 45,000 US 10 ® ¤¨μÁ›°À 6 ©õuPõ»zvØS J¸ ¤À 
Áøμ¯¨£mhx ©ØÖ® 5 ® ÷© ©õuzvÀ 9 Á¸hõ¢vμ Ámi 
ÂQuzvÀ J¸ Á[Q¯õÍ¸hß ¤À uÒÐ£i 
ö\´¯¨£mhx.  

 (A) Á[Q°ß uÒÐ£i 

 (B) Esø©¯õÚ uÒÐ£i 

 (C) Á[Q°¼¸¢x ö£Ó¨£mh öuõøP 

 (D) Á[Q°ß »õ£® BQ¯ÁØøÓ PshÔ¯Ä®. 

17. Find the value of 
( ) ( )

( ) ( )4
1

2
1

3
2

5
3

002185.067.45

02878.0215.6

×

×
 using log table. 

 ©hUøP AmhÁønø¯¨ £¯ß£kzv 

( ) ( )
( ) ( )4

1
2
1

3
2

5
3

002185.067.45

02878.0215.6

×

×
 ß ©v¨ø£U PshÔP. 

18. In a survey of 100 students the number of students 
studying various languages are found to be as follows : 
Spanish – 28: German – 30; French – 42; Spanish and 
German – 8 ; Spanish and French – 10: German and 
French – 5; All three languages – 3. 

 (a)  How many were not studying any language?  

 (b)  How many had French as their only language? (Use 
Venn diagram) 

 100 ©õnÁºPÎß B´ÂÀ, £À÷ÁÖ ö©õÈPøÍ¨ 
£iUS® ©õnÁºPÎß GsoUøP ¤ßÁ¸©õÖ 
PshÔ¯¨£mhx : ì£õÛè – 28: öáº©ß – 30;  
¤öμg_ – 42; ì£õÛè ©ØÖ® öáº©ß – 8 ; ì£õÛè 
©ØÖ® ¤öμg_ – 10: öáº©ß ©ØÖ® ¤öμg_ – 5; ‰ßÖ 
ö©õÈPÐ® – 3. 

 (A)  G¢u ö©õÈø¯²® £iUPõuÁºPÒ GzuøÚ?  

 (B)  ¤öμg_ ö©õÈø¯ ©mk® £iUPõuÁºPÒ GzuøÚ? 
(öÁßÁøμ £hzøu¨ £¯ß£kzuÄ®) 
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19. A bag contains 8 Red and 12 Black balls. Two draws are 
made. Find the probability that the first draw will give  
4 Red and second draw gives 3 Black balls, when Balls 
are replaced after the first draw. 

 J¸ ø£°À 8 ]Á¨¦ ©ØÖ® 12 P¸¨¦ £¢xPÒ EÒÍÚ. 
Cμsk •øÓ GkUP¨£kQßÓÚ. •uÀ •øÓ°À 4 ]Á¨¦ 
£¢xPÒ ©ØÖ® CμshõÁx •øÓ°À 3 P¸¨¦ £¢xPÒ 
QøhUP (•uÀ•øÓ GkUP¨£mh £¢xPÒ «sk® ø£°À 
øÁUP¨£mhõÀ) {PÌuPÄ PshÔ²[PÒ. 

20. Use the binomial theorem to expand ( )
3
8

,38 3/1 <− xx , in 

ascending powers of x , up to and including the term in 
3x , giving each term as a simplified fraction. 

 D¸Ö¨¦ ÷uØÓzøu¨ £¯ß£kzv ( )
3
8

,38 3/1 <− xx , 3x  CÀ 

EÒÍ EÖ¨ø£ EÒÍhUQ¯x Áøμ x  Cß E¯ºÁõÚ 
\UvPÎÀ Â›ÁõUS[PÒ. JÆöÁõ¸ EÖ¨ø£²® 
GÎø©¨£kzu¨£mh £Sv¯õPU öPõkUPÄ®. 

 

  
———————— 
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 Part A  (10 × 2 = 20) 

Answer all questions. 

1. Define company. 

 {ÖÁÚzøu Áøμ¯ÖUPÄ®. 

2. What do you mean by Holding and Subsidiary company? 

 ÷íõÀi[ ©ØÖ® xøn {ÖÁÚ® GßÓõÀ GßÚ? 

3. Who is Promoter? 

 “FUSÂ¨£Áº” ¯õº? 

4. Differentiate preference share and equity share. 

 •ßÝ›ø©¨ £[SPÒ ©ØÖ® \õuõμn £[SPøÍ  
÷ÁÖ£kzxP. 

5. Define Meeting. 

 Tmhzøu Áøμ¯ÖUPÄ®. 

6. List out the various types of resolution. 

 £À÷ÁÖ ÁøP¯õÚ wº©õÚ[PøÍ £mi¯¼kP. 

Sub. Code 
22BCCA4 
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7. Write short notes on secretarial Audit. 

 ö\¯»P uoUøP £ØÔ¯ ]Ö SÔ¨¦PøÍ GÊuÄ®. 

8. How to appoint the Board of Directors? 

 C¯US|ºPÒ GÆÁõÖ {¯ª¨£x? 

9. What do you mean by winding up of the company? 

 {ÖÁÚzøu ‰kuÀ Gß£x ¯õx? 

10. Who is company Liquidator? 

 Pø»¨£õÍº Gß£Áº ¯õº? 

 Part B  (5 × 5 = 25) 

Answer all the questions choosing either (a) or (b). 

11. (a) Outline the Characteristics of company. 

  {ÖÁÚzvß ]Ó¨¤¯À¦PøÍ GÊxP. 

Or 

 (b) Differentiate public limited and private limited 
company. 

  ö£õx Áøμ¯ÖUP¨£mh ©ØÖ® uÛ¯õº 
Áøμ¯ÖUP¨£mh {ÖÁÚ[PøÍ ÷ÁÖ£kzxP. 

12. (a) Briefly explain the various clauses of Memorandum 
of Association. 

  ö©÷©õμõsh® BL¨ A÷\õ]÷¯Úæß £À÷ÁÖ 
¤›ÄPøÍ _¸UP©õP ÂÍUS[PÒ. 

Or 

 (b) Distinguish between share and debentures. 

  £[S ©ØÖ® Phß £zvμ[PøÍ ÷ÁÖ£kzx[PÒ. 
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13. (a) What are the qualifications needed for appointment 
of an auditor? List out the disqualification of an 
auditor. 

  uoUøP¯õÍøμ {¯ªUP GßÚ uSvPÒ ÷uøÁ? 
uoUøP¯õÍ›ß uSv°ßø©ø¯ £mi¯¼k[PÒ. 

Or 

 (b) Explain the various methods of voting. 
  ÁõUPÎ¨£uØPõÚ £À÷ÁÖ •øÓPøÍ ÂÍUSP. 

14. (a) Discuss the powers and duties of Board of Directors. 
  C¯US|ºPÒ SÊÂß AvPõμ[PÒ ©ØÖ® 

Phø©PøÍ¨ £ØÔ ÂÁõvUPÄ®. 

Or 

 (b) Briefly explain the NCLT. 

  NCLT £ØÔ _¸UP©õP ÂÍUPÄ®. 

15.  (a) Write down the consequences of winding up. 
  {ÖÁÚzøu ‰kÁvÀ HØ£k® ÂøÍÄPøÍ 

GÊx[PÒ. 

Or 

 (b) Discuss the Procedure for company liquidation. 
  {ÖÁÚzøu Pø»¨£uØPõÚ |øh•øÓø¯¨ £ØÔ 

ÂÁõvUPÄ®. 

 Part C  (3 × 10 = 30) 

Answer any three questions. 

16. Outline the classification of companies with examples. 
 GkzxUPõmkPÐhß {ÖÁÚ[PÎß ÁøP¨£õmøh 

GÊxP. 

17. Briefly explain the formation of a company. 
 J¸ {ÖÁÚzvß E¸ÁõUPzøu _¸UP©õP ÂÍUS[PÒ. 
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18. Discuss the various types of meeting with examples. 

 £À÷ÁÖ ÁøP¯õÚ Tmhzøu GkzxUPõmkPÐhß 
ÂÁõvUPÄ®. 

19. Explain the Legal position, appointment and removal of 
Board of Directors. 

 C¯US|ºPÒ SÊÂß \mh {ø», {¯©Ú® ©ØÖ® }UP® 
BQ¯ÁØøÓ ÂÍUPÄ®. 

20. Explain the modes of winding up. 

 J¸ {ÖÁÚzøu ‰kÁuØPõÚ •øÓPÒ ÂÍUPÄ®. 

———————— 


